DP

HIGH PERFORMANCE VANE PUMP VTXBB

Series

VIXBB 1- B09-B11-1 R 00 -

Mounting
1-SAEA
2-SAEB

Camring for "P1" & "P2"

Volumetric displacement cm’ /rev (in® /rev)

B02 = 5.8(0.35)
B03 = 9.8(0.59)
Bo4 = 12.8(0.78)
Bo5 = 15.9(0.97)
Boe = 19.8(1.21)
Bo7 = 225 (1.37)
B08 = 24.9(1.52)
B09 = 28.0(1.71)
B10 = 31.8(1.94)
B11 = 34.9(2.13)
B12 = 41.0(2.50)
B14 = 45.0(2.75)
Type of Shaft

1 - Keyed (Non SAE)

3 - Splined

Direction of rotation (view on shaft end)

R - clockwise
L - counter-clocl

kwise

VELJAN

D100 *
L Modifications
Port connections
CODE s P1&P2
as SAE 12 1 1/16"
2" SAE 4 bolt 12 UNF-2B
- (UNC) 3/4" SAE 4 bolt
(UNC)
Mo | 2 SAE4bolt | 3/4" SAE 4 bolt
(METRIC) (METRIC)
Seal class

1 - 81 (for mineral oil)

4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire
resistant fluids)

Design letter

Porting combination

00 - standard

00 01 02 03 04 05 06 07
P1-P2 P1-P2 S-P1-P2 P1-P2 P1 P1 P1 S-P1
—o —=— —o —3— —3— s —=— —5— —O—
© | @ | & & G O | @B
S S
08 09 10 1 12 13 14 15
S-P1 P1 P1 P1 S-P1 P1 P1 P1
=2 —3— —o —3— —3— —o —3— s 9
©> | © | @ @ @D =& @D D
P2 P2 S-P2 P2 S

S: Suction port

P1 & P2 : Pressure ports

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
Pr:isrl:re Series |Displacement Vp( p = 0 bar (0 psi) |p = 140 bar (2000 psi)|p = 210 bar (3000 psi)[p = 7 bar (100 psi)|p = 140 bar (2000 psi)|p = 210 bar (3000 psi)

in® /rev |cm’® /rev| 9pm Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw

B02 0.35 5.8 2.30 8.7 1.4 5.9 - - 0.53 0.4 2.81 2.1 - -

B03 0.59 9.8 3.88 14.7 2.9 11.9 - - 0.67 0.5 3.62 2.7 - -

B04 0.78 12.8 5.08 19.2 4.33 16.4 3.97 15.0 0.93 0.7 5.23 3.9 10.06 7.5

B05 0.97 159 6.31 23.8 5.55 21.0 5.18 19.6 1.00 0.75 6.64 4.9 11.2 8.3

P1 B06 1.21 19.8 7.85 29.7 712 26.9 6.66 25.2 1.07 0.8 8.05 6.0 12.34 9.2
B07 1.37 22.5 8.92 33.7 8.17 30.9 7.80 29.5 1.20 0.9 9.05 6.7 14.02 10.4
& B08 1.52 249 9.89 37.4 9.15 34.6 8.78 33.2 1.34 1.0 10.05 7.5 15.69 11.7
P2 B09 1.71 28.0 11.11 42.0 10.37 39.2 10.00 37.8 1.47 1.1 11.94 8.9 23.60 17.6
B10 1.94 31.8 12.61 47.7 11.87 449 11.51 43.5 1.6 1.2 13.0 9.7 26.0 19.6
B11 2.13 34.9 13.85 52.3 13.09 495 12.72 48.1 1.7 1.3 14.0 10.5 28.0 21.0

B12 2.50 41.0 16.27 61.5 15.53 58.7 * * 1.8 1.4 15.02 11.2 * *

B14 2.75 45.0 17.86 67.5 1712 64.7 ** il 2.1 1.6 15.42 115 il **

-- Not to use because internal leakage greater than 50 of theoretical flow.

*

B12= 210 bar(3000 psi) Max.Int

** B14= 175 bar(2500 psi) Max.Int

— CEER




HIGH PERFORMANCE VANE PUMP VTXBB

INTERNAL LEAKAGE (TYPICAL)

(1.6) 6
—24cst
135 —
—_ 10 cst
E_ P1-P2.."
)
(1) 4
£ .
2
£ P1-P2
® (0.8) 3 =
o 9
] -
g .
©
9@
S 082
c -
E™ R
]
- 0
c P
= (03 1
0 50 100 150 210 240
(725) (1500) (2000) (3000)  (3500)

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or viscosity
if internal leakage is more than 50 of theoretical flow.

Total leakage is the sum of each section loss at its operating
conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

5
....... — n = 2500 rpm

PR [— n=1800rpm (24 cSt)
_ n = 1200 rpm m
= K-}
g 2
n
o 8 2
" [
@ L
3 L
= 2
% 3
$ o
3 -l
o

1

0

0 35 70 105 140 175 210 240

(500) (1000)  (1500)  (2000) (2500)  (3000)  (3500)
Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section at its
operating conditions.

*¢ VELJAN

NOISE LEVEL ( TYPICAL)
VTXBB- B10-B09

70
N ‘
-
< Inlet pressure 0.9 barabs | | | .4
< Viscosity 32 cSt e
Q e n = 1200 RPM
L n = 1800 RPM
£ Lw=Lp + 8db (A)
-
-~ =
2 _______
< || e
- B — /
T
-
°
>
2
Q
@ 55
-]
=
-3
-1

50

0 10 50 100 140 175 210 240
(145) (725) (1500) (2000)  (2500) (3000)  (3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging
at the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

(350) 1540 p—

L = =

F
(300) 1335

Fa /
Shaft keyed N° 1
(250) 1100
(200) 900
(150) 660
(100) 440
(50) 222
600 1000 1200 1500 1800 2000 2500 2800

Speed n (rpm)

Maximum permissible axial load Fa = 800N (180 Ibs)

DP



gL | 990 - - |SS°'L0L/09'LOL| 66°E/00° Y 1€ cch | ve8 | 9g€ 6 | LEO0 | L2L | SO oYL | ¥L'S |Sv.LL| 289 |eaaxliA
Gce | 98'8
- - Z'LL | ¥¥°0 | 05°28/55°28 v2'e/Se'e jer4 860 | 668 | €5°€ 19 Y20 | CHL | ¥P°0 |290L]| 8FY | OEL | I'G | +EEXLIA
ww |sayour | wuw | sayoul ww sayoul ww [seyour | ww [seyour| ww |seyour| ww |seyour| ww |seyour| ww |seyour| wuw |sayoul
J3aon
(4[] M [ Xe[7] LY )4 SvY v €V (44 (44
SNOISN3Ia
(0°041)
‘bseey (3vs uou pakey)

I 8p0J yeys

¥28'0/5.8'00

(rS'v2)
"XeIN 996°0
(022 22/See ge)

2gaX1A 1o} 8jjold

) TEq Ly

N\
/R

as)
7

&

m ; I I
B S S b D |
i = IS
m 200 Bl¥ —— B = |
| “ i
o :
= _
(2'89) (9'88)
- 622 27 ov .
o v gv'e
w -
7
E ~ N
(&) 1 eIp Joley / _mi
a|Bue ‘ssa.id ,0e
= ueal g1 d'p zg/ok (.Gb%g1)
< agevr-L SseI0 (z0g) T svxe00
M 1eys paulds anjoau| 12 \ _
€ 9poD yeus |
m %N
_ &/
8 m i
¢ - (8'1€) / F
1] A : m D
(SPXS'L K
o TG00 T i3 (e'05) .
T (e62) e 0T
v N -
IT] D SE
— 1) LR
I o L

144

DP




HIGH PERFORMANCE VANE PUMP VTXBB

Port Connection : 00

SAE 12 {11

/1612 UNFx 0.6 (15) dp}

1.688

(42.9)

@77

(s

Q| O

*¢ VELJAN

SAE 12 {1 1/16"-12 UNFx 0.6 (15) dp}

2.0
(50.8)
1/2-13 UNCx0.94 (24) dp.
4 HOLES
Port Connection : 01
0.87 0.75 1.688 00.75 0.87
(22.2) (19.05) (42.9) (19.05) (22.2)

Q| ©
Xle B~ @ NI
© [~ o N o~
g ) IS ==
3/8-16 UNCX0.74 (19) dp. 3/8-16 UNCx0.74 (19) dp.
4 HOLES 22.0 4 HOLES
(50.8)
1/2-13 UNCx0.94 (24) dp.
4 HOLES
Port Connection : MO
0.87 0.75 1.688 90.75 0.87
(22.2) (19.05) (42.9) (19.05) (22.2)
NI g|< @ N
2|5 =S 1
M10x19 dp. M10x19 dp.
4 HOLES

4 HOLES

22.0
(50.8)

M12x24 DEEP 4-HOLES

DP



DP

HIGH PERFORMANCE VANE PUMP VT6BB

VT6BB -B09-B11 - 1 R 00 -

VELJAN

. im ?m L Modifications
Series
Port connections
Cam ring for "P1" & "P2"
Volumetric displacement cm® /rev (in® /rev) CODE S P1 & P2
B02 = 58 (0.35) 00 SAE 12 1 1/16"
BO3 = 9.8(0.59) 2" SAE 4 bolt 12 UNF-28
B04 = 12 8 (0.78) (UNC) 3/4" SAE 4 bolt
BO5 = 15.9 (0.97) 01 (UNC)
BO6 = 19.8 (1.21)
B07 = 22.5(1.37) MO 2" SAE 4 bolt 3/4" SAE 4 bolt
B08 = 24.9(1.52) (METRIC) (METRIC)
BO9 = 28.0 (1.71)
B10 = 31.8 (1.94) Seal class
B11 = 34.9(2.13)
B12 = 41.0 (2.50) 1 - 81 (for mineral oil)
B14 = 45.0 (2.75) 4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire
resistant fluids)
Type of Shaft
1 - Keyed (Non SAE) Design letter
3 - Splined
Direction of rotation (view on shaft end)
R - clockwise
L - counter-clockwise
Porting combination
00 - standard
00 01 02 03 04 05 06 07
P1-P2 P1-P2 S-P1-P2 P1-P2 P1 P1 P1 S-P1
—2 =2 =2 —2 =2 =9 —E A
®s S©® 0o (O P2 P2 7
& & | & &b  Gw | © B
S S
08 09 10 11 12 13 14 15
S-P1 P1 P1 P1 S-P1 P1 P1 P1
=2 =0 =99 = —8— —O— —o s =9
[O)F] SO P2 P2 O
@ B @D @D nds &) | RED
P2 P2 S-P2 P2 S

S-

Suction port

P - Pressure port

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
P':ffr;"e Series |Displacement Vp| p = 0 bar (0 psi) |p = 140 bar (2000 psi)|p = 210 bar (3000 psi)|p = 7 bar (100 psi)| p = 140 bar (2000 psi)|p = 210 bar (3000 psi)

in® /rev [cm’ /rev| 9pm Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw

Bo2 | 035 | 58 | 230 | 87 14 59 - - 053 | 04 | 28 2.1 - -

B03 0.59 9.8 3.88 14.7 2.9 11.9 - - 0.67 0.5 3.62 2.7 - -

Bos4 | 078 | 128 | 508 | 192 | 433 | 164 | 397 | 150 | 093 | 07 | 523 | 39 | 1006 | 75

Bos | 097 | 159 | 631 | 238 | 556 | 210 | 518 | 196 | 100 | 075 | 664 | 49 | 112 | 83

P1 B06 1.21 19.8 7.85 29.7 712 26.9 6.66 25.2 1.07 0.8 8.05 6.0 12.34 9.2
Bo7 | 137 | 225 | 892 | 337 | 817 | 309 | 780 | 295 | 120 | 09 | 905 | 67 | 1402 | 104
& B08 1.52 24.9 9.89 37.4 9.15 34.6 8.78 33.2 1.34 1.0 10.05 75 15.69 11.7
P2 Bo9 | 171 | 280 | 1141 | 420 | 1037 | 392 | 1000 | 378 | 147 14 | 1194 | 89 | 2360 | 176
B10 | 194 | 318 | 1261 | 47.7 | 11.87 | 449 | 1151 | 435 | 16 12 | 130 | 97 | 260 | 196
B11 2.13 34.9 13.85 52.3 13.09 495 12.72 48.1 1.7 1.3 14.0 10.5 28.0 21.0

Bi2 | 250 | 410 | 1627 | 615 | 1553 | 587 * * 18 14 | 1502 | 112 * *

B14 2.75 45.0 17.86 67.5 17.12 64.7 ** i 21 1.6 15.42 115 i **

-- Not to use because internal leakage greater than 50 of theoretical flow.

*B12

= 210bar (3000psi) Max. Int

**B14 = 175bar (2500psi) Max. Int

— ECEER




HIGH PERFORMANCE VANE PUMP VT6BB

INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL ( TYPICAL)
(1.6)6 VT6BB- B10-B04
70
——24 cst
(135 — .. 10 cst - )
p1-p2” Inletpressure 0.9 barabs | | | .
x Viscosity 32 cSt e
= (114 65 n = 1200 RPM
€ J ] N e n = 1800 RPM
o3 3 Lw= Lp + 8db (A)
= T P1-P2 o
€ o 175 e
S (0.8)3 Tl . /
g - 60— e 2zol
o —~
3 (0.6)2 o 3
s ®
C g
5 5 s
kS 3
0.3)1 2
z
I
& =
50
0 50 100 150 210 240 0 10 50 100 140 175 210 240
(725) (1500) (2000) (3000)  (3500) (145) (725) (1500)  (2000) (2500) (3000) (3500)
. . Pressure in bar (psi)
Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or viscosity Double pump noise level is given with each section discharging
if internal leakage is more than 50  of theoretical flow. at the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
5
(350)1540 [ ==
—-—=n = 2500 rpm F
4 |- n = 1800 rpm (24 cSt) (300)1333
—— n = 1200 rpm Fa /
Shaft keyed N° 1
(250)110!
3 &
=
- S (2000900
£ £
2
& % (150)660
[}
3 3 e
5 (100)44
21
o
o
(50) 222
0
0 35 70 105 140 175 210 240
600 1000 1200 1500 1800 2000 2500 2800

(500) (1000)  (1500) (2000) (2500) (3000) (3500)
Pressure in bar (psi) Speed n (rpm)

Maximum permissible axial load Fa = 800N (180 Ibs,
Total hydromechanical power loss is the sum of each section at its Ximum permiss! X ( )

operating conditions.

DP



¢¢ VELJAN

HIGH PERFORMANCE VANE PUMP VT6BB

(20902) 9re8l £

: (ooert) 999zt L
(00K ) © H.E (ed+1d) xew dxd yeus
DS Eey 2v0 d+1d A
i (1eq x As4/jw)isd x A4/ ul sywi| anbioy yeys
e )
\w Q
= L —
\\ > mv m 5 -
?-&\ W m o
(er1) e\
(S310H 2) 9500 S| — > o
Oy NP Oy
I E glR | =2|®
(0'e2) (1'8e) (2'88) (2'88) _
(O9vl) 1) il 6r'e (sv2) eve
v.'G 29°t 59’6
(Sv21)289
(3vs ou pafey) ] ]
I ®po) yeys (ooret) 1} "eip Jofepy
oSXE .F ||||| o|bue 'ssaud .08 [
s oSPXS0'0 weal e} d'p 2g/ol
o oS agevr-1 SSel (|
= .% .% e yeys paulids ainjoAu|
Sz alS _ lewxe) Eopooueus
3 3 "Tesrxe00 VJ
M
\ y
| u\ (svxg1)
_(orvjsry) 18) SPGO0 |
S8 0/810 = (e'62)
_. ECO
wn | (6) |
620 8€'0
(221)
(£'89) G0
1ee

DP




HIGH PERFORMANCE VANE PUMP VT6BB

Port Connection : 00

1.688
(42.9)

SAE 12 {1 1/16"-12 UNFx 0.6 (15) dp}

SAE 12 {1 1/16"-12 UNFx 0.6 (15) dp}

. @
S
2.0
(50.8)
1/2-13 UNCX0.94 (24) dp.
4 HOLES
Port Connection : 01
0.87 20.75 1.688 20.75 0.87
(22.2) (19.05) (42.9) (19.05) (22.2)
Nk 8|S é N
© [~ QN o[~
<= S ==

3/8-16 UNCx0.74 (19) dp.

3/8-16 UNCx0.74 (19) dp.
4 HOLES 2.0 4 HOLES
(50.8)
1/2-13 UNCx0.94 (24) dp.
4 HOLES
Port Connection : MO
0.87 0.75 1.688 20.75 0.87
(22.2) (19.05) (42.9) (19.05) (22.2)

N S ﬁ NS
% 2N o~
== S 25
M10x19 dp. M10x19 dp.
4 HOLES 2.0 4 HOLES
(50.8)

M12x24 DEEP 4-HOLES

Bl-1-8




DP

HIGH PERFORMANCE VANE PUMP VT6CB

Series

VT6CB - 022 - B08-1 R

M oe

Camring for "P1"

Volumetric displacement cm® /rev (in® /rev)

*003/B03/Y03 = 10.8
005/B05/Y05 = 17.2
006/B06/Y06 = 21.3
008/B08/Y08 = 26.4
010/B10/Y10 = 34.1
012/B12/Y12 = 37.1
014/B14/Y14 = 46.0

*10' - Uni - directional

Camring for "P2"

(0.66)  015/B15/Y15 = 50.5 (3.08)
(1.05)  017/B17/Y17 = 58.3 (3.56)
(1.30)  020/B20/Y20 = 63.8 (3.89)
(1.61)  022/B22/Y22 = 70.3 (4.29)
(2.08)  025/B25/Y25 = 79.3 (4.84)
(2.26)  028/B28/Y28 = 88.8 (5.42)
(2.81)  031/B31/Y31 =100.0 (6.10)

'B' - Bi - directional

'Y' - Bi - directional for cold start

Volumetric displacement cm® /rev (in® /rev)

BO2 = 5.8 (0.35)
BO3 = 9.8 (0.59)
B04 = 12.8 (0.78)
BO5 = 15.9 (0.97)
BO6 = 19.8 (1.21)
BO7 = 22.5 (1.37)

Type of shaft
1- keyed (no SAE)
3- splined

(
BO8 = 24.9 (1.52)
B09 = 28.0 (1.71)
B10 = 31.8 (1.94)
Bi1 = 34.9 (2.13)

(2.50)

(2.75)

B12 = 41.0 (2.50)(cont. 175 bar, Max. int 210 bar)
B14 = 45.0 (2.75)(cont. 140 bar, Max. int 175 bar)

Porting combination

0- C

1.

02 *

VELJAN

1 Modifications

Mounting W/connection variables

S = 2." SAE 4-Bolt Pad.

CODE P1 P2
o1 1" SAE 4 bolt 3/4" SAE 4 bolt
Pad. (UNC) | Pad.  (UNC)
M 1" SAE 4 bolt 3/4" SAE 4 bolt
Pad. (Metric) | Pad. (Metric)
02 SAE 16,1 5/16" | SAE 12,1 1/16"
12 UNF-2B 12 UNF-2B
Seal class

1 - 81 (for mineral oil)

4 - S4 (for fire resistant fluids)

5 - S5 (for mineral oil and fire
resistant fluids)

Design letter

Porting combination
00 - standard

Direction of rotation
(view on shaft end)

R - clockwise

L - counter-clockwise

14

00 o1 02 03 04 05 06 07 08 09 10 11 12 13
ppFLS PSS PIS  PIS Pl poo P1 P1 Pl oy poata P1 AR P, P
=0 =) =9 =9 =29 =04 =9 =9 —9=§ =9 S =9 e S| 29 S
P2

15
P1

ey

—op2

OPERATING CHARACTERISTICS - TYPICAL (24 ¢ST) (Input power p (KW) for one cartridge only)

P Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
port Series | I?isplacement: Vp [ p = 0bar (0 psi)|p = 140 bar (2000 psi) | p = 240 bar (3500 psi) [p = 7 bar (100 psi)| p = 140 bar (2000 psi)| p = 240 bar (3500 psi)
in’/rev cmirev_| gpm Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
003 0.66 10.8 4.29 16.2 2.96 11.2 2.04 7.7 1.74 1.3 711 5.3 11.26 8.4
005 1.05 17.2 6.83 25.8 5.50 20.8 4.57 17.3 1.88 1.4 10.06 7.5 16.36 12.2
006 1.30 21.3 8.44 31.9 711 26.9 6.19 23.4 2.01 1.5 11.94 8.9 19.71 14.7
008 1.61 26.4 10.48 | 396 | 9.15 34.6 8.22 31.1 2.15 1.6 14.35 | 10.7 | 2293 | 17.7
010 2.08 34.1 13.52 51.1 12.19 46.1 11.26 42.6 2.28 1.7 18.64 13.4 29.90 22.3
012 2.26 37.1 14.71 55.6 13.36 50.6 12.46 47 1 2.28 1.7 19.31 14.4 32.32 241
P1 014 2.81 46.0 18.25 69.0 16.93 64.0 16.00 60.5 2.55 1.9 23.60 17.6 39.56 29.5
015 3.08 50.5 20.00 75.6 18.73 73.2 19.02 67.5 2.68 2.0 25.61 19.1 42.91 32.0
017 3.56 58.3 23.12 87.4 21.79 82.4 20.87 78.9 2.82 241 29.37 21.9 49.48 36.9
020 3.89 63.8 25.32 95.7 23.99 90.7 23.07 87.2 2.95 2.2 31.92 23.8 53.91 40.2
022 4.29 70.3 27.88 105.4 | 26.56 100.4 25.63 96.9 3.08 2.3 35.00 26.1 59.14 441
025" 4.84 79.3 31.46 | 1189 | 30.13 |1139 | 2921 | 1104 | 335 | 25 39.16 | 292 | 66.38 | 495
028"? 5.42 88.8 35.24 133.2 | 33.92 128.2 33.28 125.8 3.75 2.8 43.85 32.7 65.04 48.5
031"? 6.10 100.0 39.68 150.0 | 38.35 145.0 37.72 142.6 3.75 2.8 48.95 36.5 72.95 54.4
p = 0 bar (0 psi) |p = 140 bar (2000 psi)| p = 210 bar (3000 psi) |p = 7 bar (100 psi) |p = 140 bar (2000 psi)[p = 210 bar (3000 psi)
B02 0.35 5.8 2.30 8.7 1.4 5.9 - - 0.53 0.4 2.81 241 - -
B03 0.59 9.8 3.88 14.7 29 11.9 - - 0.67 0.5 3.62 2.7 - -
B04 0.78 12.8 5.08 19.2 4.33 16.4 3.97 15.0 0.93 0.7 5.23 3.9 10.06 7.5
B05 0.97 15.9 6.31 23.8 5.55 21.0 5.18 19.6 1.00 0.75 6.64 4.9 11.2 8.3
B06 1.21 19.8 7.85 29.7 712 26.9 6.66 25.2 1.07 0.8 8.05 6.0 12.34 9.2
P2 B0O7 1.37 225 8.92 33.7 8.17 30.9 7.80 29.5 1.20 0.9 9.05 6.7 14.02 10.4
B08 1.52 249 9.89 37.4 9.15 34.6 8.78 33.2 1.34 1.0 10.05 7.5 15.69 11.7
B09 1.71 28.0 11.11 42.0 10.37 39.2 10.00 37.8 1.47 1.1 11.94 8.9 23.60 17.6
B10 1.94 31.8 12.61 47.7 11.87 449 11.51 43.5 1.6 1.2 13.0 9.7 26.0 19.6
B11 2.13 34.9 13.85 52.3 13.09 49.5 12.72 48.1 1.7 1.3 14.0 10.5 28.0 21.0
B12 2.50 41.0 16.27 61.5 15.53 58.7 * * 1.8 1.4 15.02 11.2 * *
B14 2.75 45.0 17.86 67.5 17.12 64.7 *x ** 2.1 1.6 15.42 11.5 *x *x

1) 025-028-031 = 2500 RPM. max. 2) 028-031= 210 bar (3000 psi) max. int,

*B12 = 210 bar (3000 psi

— ACEER

i) max. int

**B14 = 175 bar (2500 psi) max. int.

- Not to use because internal leakage greater than 50 of theoretical flow.




Power loss Ps (kw)

HIGH PERFORMANCE VANE PUMP VT6CB

INTERNAL LEAKAGE ( TYPICAL)

Pressure in bar (psi)

o

-

A <+
g (6.5) 24 .
e —— 248t :

= 6320 — 10 cSt :

£ 63 20 v‘v‘ E
: e E

c :

o (4.2) 16 :

| o

0 )

0 -
o (32 12 3

: 3

QL 21) 8 | %
: ] S 60

5 (1) 4 o - :

0 l ‘," --------------- .

E - / --------------------- - :

- g / ------------------ = J
s S B 55

0
0 35 o 15 10 s a0 a0 s am
(500) (1000) (1500) (2000) (2500) (3000) (3500) (4000) (4350)

¢¢ VELJAN

NOISE LEVEL ( TYPICAL)
VT6CB- 014-B03

Inlet pressure 0.9 barabs | | | 4
Viscosity 32 cSt e
n = 1200 RPM e

---------- n = 1800 RPM /
w=lp+8do(A) | 7 ]

\
0 10 50 105 140 175 210 240
(145) (725) (1500) (2000) (2500)  (3000)  (3500)

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or viscosity pouble pump noise level is given with each section discharging
if internal leakage is more than 50 of theoretical flow.

Total leakage is the sum of each section loss at its operating

conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

at the pressure noted on the curve.

(350)1540
7
----- n = 2800 rpm (300)1335
6 | = n = 1800 rpm (24 cSt)
——n = 1200 rpm 7’?
Q2 (250
5 = (250)1100
=2
4
4 = (200) 900
. L
- Y ‘SN S S A S S ———rs s
« (150) 660
....... o
2 -l
(100) 440
1
0 (50) 222
0 35 70 105 140 175 210 240 275
(500) (1000) (1500) (2000) (2500) (3000)  (3500) (4000)
5
------- n = 2800 rpm
= 1800 rpm (24 cSt)
4 n = 1200 rpm
3
2
1
0
0 35 70 105 140 175 210 240 275 300
(500)  (1000) (1500) (2000) (2500) (3000) (3500) (4000) (4350)

Total hydromechanical power loss is the sum of each section

Pressure in bar (psi)

at its operating conditions.

PERMISSIBLE RADIAL LOAD

L = =
E
Fa /
Shaft keyed N° 1
600 1000 1200 1500 1800 2000 2500 2800

Speed n (rpm)

Maximum permissible axial load Fa = 800N (180 Ibs)

DP



¢¢ VELJAN

HIGH PERFORMANCE VANE PUMP VT6CB

(1'v8)
X3
(2'92)

(0e2)

182
(0°9v1)

(2K}
(SvL1)

(0z'ze/ee 2e)
¥28'0/5.8'00

(5've)
XYW ¥96°0

189

(672)
1£0

(pohoy)
L 8p0D Heus

(.G¥XS'1)

—

°GPX90°0

T/

(LL'P/SLY)

S81°0/281°0 AIM

DP

1 e1p Jolely

9|Bue ‘ssaid ,0¢
weel g} d'p 2e/9t
qagevr-| sselp

Yyeys paulidg amnjoau|

(WN 651

SAI'Y ZLE INOHOL ONILNNOW

(wNoEL)

SAI'Y 96 INOHOL ONILNNOW

€ 9poD yeys v
L 1 B
(:GPXG" 1)
2l T sveoo B ~
2 .m A / .
m m s ﬁ | v
i E ( / )
8|8 (062) i m
[
1N\
S )
(se'9) (1'8¢) (9'101) z88)
XVIN 620 D ov Tre
(Svp) (8'+52)
st 166
(62) .
— (v'520) (5'€90)
€0 I_H «wmvem e
..... -
© /O /)]
= A / A
! = M

(50'610)

(d33d 02X0+IN)
S3T0H ¥ 4330 S2°0Xge-ONN 91-8/€

(SSO€ ONIH.O 2} 3VS)
ANN 294/ L

..... (2'92)
— €0'} (8°08)
(e -
8c0 (221 oe (d33a vexzLin)
S0 (d330 0°61X0LN) ST1OH ¥ 4330 v6'0Xg2-ONN €4-2/k

S3T0H ¥ d33Q S2°0Xg2-ONN 91-8/€




HIGH PERFORMANCE VANE PUMP VT6CC

VI6CC W - 022 - 008 -1 R

Series m m
Use for severe duty shaft only
Cam ring for "P1" & "P2"

Volumetric displacement cm3/rev (in3/rev)

*003/B03/Y03 = 10.8 (0.66)  015/B15/Y15 = 50.5 (3.08)
005/B05/Y05 = 17.2(1.05)  017/B17/Y17 = 58.3 (3.56)
006/B06/Y06 = 21.3 (1.30)  020/B20/Y20 = 63.8 (3.89)
008/B08/Y08 = 26.4 (1.61)  022/B22/Y22 = 70.3 (4.29)
010/B10/Y10 = 34.1 (2.08)  025/B25/Y25 = 79.3 (4.84)
012/B12/Y12 = 37.1 (2.26)  028/B28/Y28 = 88.8 (5.42)
014/B14/Y14 = 46.0 (2.81)  031/B31/Y31 = 100.0 (6.10)

- Bi - directional  'Y'- Bi - directional

for cold start

Uni - directional 'B'-

Type of shaft
1 - keyed (no SAE)
3 - splined (SAE BB)
5 - splined (SAE B)
W version

2 - keyed (SAE BB)

VELJA

0-C 1-00 *

L

Modifications

Mounting W/connection variables

P1=1"-S=3" [P1=1"-8§=2%""
P2 1| 84 1 | 34
coqe Unc | 00 | ot 10 | 11
Imetrid om | wo [ im | w1

1) for 46 ml/rev max.

2) for 126 ml/rev max.

The large cartridge must be always
mounted in the front.

Seal cl
1 - 81 (for mineral oil)
4 - 84 (for fire resistant fluids)

5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Porting combination (see page BM-1-5)
00 - standard

Direction of rotation

S - splined (DIN 5462)

INTERNAL LEAKAGE (TYPICAL)

(65) 24
24 cst
£ (655 21 | — — 10¢St
Q. b
S o) 18 ~ -
£
8 4o 15 4 E
£ e
& 6o 12
o P12 |
[~} - —1
g (20) 9 —
P
3 (15 6 - il
= -
] 1 P1-P2_—"]
£ e _—]
8 (10) 4
1S b /
£ , _
0 35 70 105 140 160 175 190 210 240 275
(500)  (1000)  (1500) (2000) (2500) (3000) (3500)  (4000)
(2175) (2700

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating
conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

n = 2800 rpm
- —— n=1500rpm (24 cSt)
n = 1000 rpm

4
—
o
£
=
o 3 —
o —_
» P1-P2 |+
7] _—
2 - = - —
P 2
H p—
s P12 | —|— T
o p— | — —
o = PiP2 | ——T |

1

P —
0
0 35 70 105 140 160 175 190 210 240 275
(500) (1000)  (1500)  (2000) (2500) (3000) (3500) (4000)
(2175) (2700)

Pressure in bar (psi)
Total hydromechanical power loss is the sum of each section at its
operating conditions.

Load F in N (Lbs)

(view on shaft end)
R - clockwise
L - counter-clockwise

NOISE LEVEL (TYPICAL)

VT6CC - 022 - 022
75

Inlet pressure 0.9 bar abs
‘(! Viscosity 32 cSt
3 n = 1000 RPM
< - — n = 1500 RPM —
o -
70 1t Lw =Lp + 8db (A) —
2 —=
L~
E _ - /
S -~
5 65 —
8 —
>
K}
5 /
2
o 60
k]
2 \
2
5
55
10 50 100 140 175 210 240
(100) (725) (1500) (2000) (2500) (3000)  (3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

(318) 1400 [~
(272) 1200 — Fa

Shaft keyed N° 1
(227) 1000
(182) 800
(136) 600 /
(90) 400
(45) 200

600 1000 1200 1500 1800 2000 2500 2800

Speed n (rpm)
Maximum axial load permissable Fa = 800 N (180 Lbs)

[ Bl-1-12

DP



HIGH PERFORMANCE VANE PUMP VT6CC

3/8-16 UNCx0.75 DEEP -4 HOLES

(M10x19.0 DEEP) .81
0.50 (71.4)
(12.7) 031 VT6CCW
E-4 HOLES E-4 HOLES 1.031 (7.9)
262) [
/r: KEY 0.250/0.248
I = (6.35/6.30)
N (;55?) M8x0.63 DEEP
m : (16.0)
<71 — - =
ol u
2 3 3
B Sle S|
:E g8 I
tE == 0.06x45° glg =g
u v THEoamoy ST .
(1.5x45°) b PR 1N
21.00 y ald
ac @5.4) Shaft code 2
ac (Keyed SAE BB)
10.46 2.29
(265.6) (58.2)
3.47 4.00 1.50
(©82) (101.6) (38.1) 0.38
9.7)
0.31
(7.9)
0.25MAX. KEY 0.1875/0.1855
] (6.35) (4.762/4.712)
aly 1.25
o2 e (31.7) &
/ gl
Sa o
- = g g3
<f. -
g — | — | — 32
83 0.06x45° | | =
RS P YO <|8
= (1.5x45°) 5 § E =
58 gl@
0.05x45° 58 3|8
MOUNTING TORQUE 45 ft.Ibs (1.3x45°%) 8ls
(61 Nm) N
Shaft torque limits in/rev x psi(ml/rev x bar) S}t\af?j cog'tsE 1
Shaft Vp x p max. (P1+P2) (Keyed no SAE)
1 12666 (14300)
2 18972 (21420)
3 28937 (32670)
5 18246 (20600)
PORT| A B c D E
S | 419(1064) | 244(619) | 8.00(76.2) 5/8-11UNCx1.12 DEEP
(M16x28.4 DEEP)
s 1/2-13UNCx0.94 DEEP
3.50 (88.9) 2,00 (50.8) | 2.50 (63.5) VH2x24.0 DEEP
P2 | {874 (47.6) 0.874 (22.2) 0.75 (19.0) 3.00 (76.2) 3/8-16UNCx0.75 DEEP
P2 | 2.06 (52.4) 1.03 (26.2) 1.00 (25.4) | 2.94(74.7) (M10x19.0 DEEP)

¢¢ VELJAN

2.875

N

1.79 1.60
(45.5) (40.7)
0.31 0.31
(7.9) (7.9)
0.965
(24.5)
0.06x45° 0.06x45°
(1.5x45°) (1.5x45°)
Shaft code 3 Shaft code 5
SAE BB splined shaft SAE B splined shaft
Class 1-J498b Class 1-J498b
16/32 dp. 15 teeth 16/32 dp. 13 teeth
30° pressure angle 30° pressure angle
Flat root side fit Flat root side fit
6.87
(174.5)
5.75
(146.0)

©0.56

MOUNTING TORQUE 117 ft.lbs

3.00
(76.2)

(159 Nm)
3.63
(92.2)
2.16
55.0) 0.234/0.233
(5.96/5.93)
@
;s
— 01.255/1.254
_ (31.89/31.87)
NS
5|2
$|&  Shaftcode S
2|S DIN 5462
c8 B8x 32x36

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
Series|Displacement Vp|p = 0 bar (0 psi)[p = 140 bar (2000 psi)[p = 240 bar (3500 psi)|p = 7 bar (100 psi)| p = 140 bar (2000 psi)| p = 240 bar (3500 psi)
port In3/rev cmdrev | gpm Ipm [ gpm Ipm | gpm Ipm hp kw hp kw hp kw
003 0.66 10.8 4.29] 162 | 296 11.2 2.04 7.7 1.74 1.3 7.11 5.3 11.22 8.4
005 1.05 17.2 6.83| 258 | 550 20.8 4.57 17.3 1.88 1.4 10.06 7.5 16.36 | 12.2
006 1.30 21.3 8.44| 319 | 7.1 26.9 6.19 23.4 2.01 1.5 11.94 8.9 19.71 | 147
008 1.61 26.4 | 10.48| 39.6 | 9.15 34.6 8.22 31.1 2.15 1.6 14.35 10.7 2293 | 177
010 2.08 341 | 1352 51.1[ 12.19 461 | 11.26 42.6 2.28 1.7 18.64 13.4 29.90 | 223
012 2.26 371 | 14.71| 55.6 | 13.36 50.6 | 12.46 471 2.28 1.7 19.31 14.4 3232 | 24.1
P1 014 2.81 46.0 | 18.25| 69.0 | 16.93 64.0 | 16.00 60.5 2.55 1.9 23.60 17.6 39.56 | 29.5
& 015 3.08 50.5 | 20.00| 75.6 | 18.73 732 | 19.02 67.5 2.68 2.0 25.61 19.1 4291 | 32.0
P2 017 3.56 58.3 | 23.12| 87.4 | 21.79 82.4 | 20.87 78.9 2.82 2.1 29.37 21.9 49.48 | 36.9
020 3.89 63.8 | 25.32| 95.7 | 23.99 90.7 | 23.07 87.2 2.95 2.2 31.92 23.8 53.91 | 402
022 4.29 70.3 | 27.88|105.4 | 26.56 100.4 | 25.63 96.9 | 3.08 2.3 35.00 26.1 59.14 | 44.1
025" | 4.84 79.3 | 31.46/118.9 | 30.13 113.9 | 2901 1104 | 3.35 25 39.16 29.2 66.38 | 49.5
028" 542 88.8 | 35.24[133.2 | 33.92 128.2 | 33.28 125.8 | 375 2.8 43.85 32.7 65.04 | 485
031" 6.10 100.0 | 39.68[150.0 | 38.35 1450 | 37.72 142.6 3.75 2.8 48.95 36.5 72.95 | 54.4

— EEEER

1) 025-028-031 = 2500 RPM. max.

2) 028-031= 210 bar (3000 psi) max. int.




Internal leakage Qs in Ipm (Gpm)

HIGH PERFORMANCE VANE PUMP VT6CCSH

VT6CCSH * W - 022 - 008-1 R

Series m

P2

One letter can be added to

specify special parts in series

Use for severe duty shaft only

Cam ring for "P1" & "P2"

Volumetric displacement cm3/rev (in3/rev)

*003/B03/Y03 = 10.8 (0.66)  015/B15/Y15 = 50.5 (3.08)
005/B05/Y05 = 17.2 (1.05) 017/B17/Y17 = 58.3 (3.56)
006/B06/Y06 = 21.3 (1.30) 020/B20/Y20 = 63.8 (3.89)
008/B08/Y08 = 26.4 (1.61) 022/B22/Y22 = 70.3 (4.29)
010/B10/Y10 = 34.1 (2.08)  025/B25/Y25 = 79.3 (4.84)
012/B12/Y12 = 37.1 (2.26) 028/B28/Y28 = 88.8 (5.42)
014/B14/Y14 = 46.0 (2.81)  031/B31/Y31 = 100.0 (6.10)

*'0'-  Uni - directional '‘B'- Bi - directional 'Y'-  Bi- directional

for cold start

Type of shaft - -

1-keyed (no SAE) MW version P version

3-splined (SAEBB) 2~ keyed (SAEBB) 3 - splined (no SAE)

5-splined (SAEB) R -keyed special 4 - splined (SAE BB)

X - keyed special 6 - splined (no SAE)
W version W- keyed spec!al (See Page No. BM-1-3)
2- keyed (SAE BB) V - keyed special

T - splined (SAE J718c)

S-splined (DIN 5462) )
Q - splined (SAE C)

INTERNAL LEAKAGE (TYPICAL)

(6.5) 24
24 ¢St
(55) 21| = — 10cSt
7
(5.0) 18 -
7
@0) 15 4
P
e
3.0) 12 >
P1-P2
P
@0) 9 =
- _ A //
- -
“ P1-P2_t—"
e ]
(1.0 4 P
0 ~
o 35 70 105 140 160 175 190 210 240 275
(500)  (1000)  (1500)  (2000) (2500) (3000) (3500)  (4000)
@175)  (2700)

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating
conditions.

HYDROMECHANICAL POER LOSS (TYPICAL)

n = 2800 rpm
- —— n=1500rpm (24 cSt)
n = 1000 rpm

4
_
o
<
=
K 3 =
@ P1P2 | |7
7] —_—
- - — - _
= —
g P1-P2 |__ —|— —
o - |~ — ]
o = PlP2 | T |

1

P —
0
0 35 70 105 140 160 175 190 210 240 275
(500) (1000)  (1500)  (2000) (2500) (3000) (3500) (4000)
(2175) (2700)

Pressure in bar (psi)
Total hydromechanical power loss is the sum of each section at its
operating conditions.

Load F in N (Lbs)

00-C 1-00 *
L Modifications
Mounting W/connection variables
P1=1"-S=3|P1=1"-§ = 2%"?
P2 1" 3/4"| 1" 3/4""
qd Unc [ 00 [o1 | 10 11
Imetrid oM [wo | 1m W1
1) for 46 ml/rev max.
2) for 126 ml/rev max.
The large cartridge must be always
mounted in the front.
Seal class
1-81 (for mineral oil)
4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)
Design letter
Porting combination (see page BM-1-5)
00 - standard
Direction of rotation
(view on shaft end)
R - clockwise
L - counter-clockwise
NOISE LEVEL (TYPICAL)
VT6CCSH - 022-022
70
Inlet pressure 0.9 bar abs
ﬁ Viscosity 32 cSt
< n = 1000 RPM
< - — n = 1500 RPM 4
8 Lw = Lp + 8db (A) L~
= 6 e
- -
= ~
< 7
o
§ ~ 1 /
° ~
3 60
g |
°
3 //
- —
-
55
10 50 100 140 175 210 240
(100) (725) (1500) (2000) (2500)  (3000)  (3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

(318) 1400 —

(272) 1200

T

Shaft keyed N° 1

(227) 1000

(182) 800

(136) 600

(90) 400

@4s5) 200

600 1000 1200 1500 1800 2000 2500 2800
Speed n (rpm)
Maximum permissible axial load Fa = 800 N (180 Lbs)

[ Bl-1-14 T

DP



HIGH PERFORMANCE VANE PUMP VT6CCSH

3/8-16 UNCx0.75 DEEP-4 HOLES

¢¢ VELJAN

2.29
(M10x19.0 DEEP) 0.50 58.2)
(12.7) 160
E-4HOLES 0.31 1.79 .
E-4HOLES 12'2321 79 @5.5) (40.7)
(26.2) | | 0.31 031 _
i 7.9 (7.9)
’E ) 125 KEY 0.1875/0.1855
K n | e (4.762/4.712)
| 0.965
o O /] @4.5)
< - [+ 4 |1 - — —
o éy <[5 % 0.06x45° 0.06x45°
| Bl (1.5x45% (1.5x45%)
i S 3%
¥ : . ge g3
I 2 — N ol=
s 5 o100 3 8l Shaft code 3 Shaft code 5
— (25.4) 0.06x45° || SAE BB splined shaft SAE B splined shaft
oC (1.5x45°) Class 1-J498b Class 1-J498b
oc Shaft code 1 16/32 dp. 15 teeth 16/32 dp. 13 teeth
(evedinonioZt) 30° pressure angle 30° pressure angle
Flat root side fit Flat root side fit
10.59 2.81
(269.0) (71.4) 6.87
‘ 3.85 4.05 1.5 (174.5)
(98.0) (103.0) (38.1) 038 5.75
) 146.0)
9.7) (
(07‘_‘;1) KEY 0.250/0.248 27-2705
0.25 MAX (6.35/6.30) (73.0)
(6.35)
I J ‘ L 1.50 M8x0.63 DEEP 0 l
- | (38.1) /  (16.0) —@ @— _
ol ol
3 o i : / _ ‘ ‘ a1
~ © n 1 ~
} / - e B e ' A
e S@ o2 _ :
SN B e (S RN N | S SR >
[} ) ) -; S g é g '6- 8= \ ! /
I ()] k4 ~ <
g 1 g =g EH \/
S rCls ;
ooexas® | S|I T|& *@ ‘ @*
(1.5x45%) a8 ‘ | :
\ Shaft code 2 \ MOUNTING TORQUE 138 ft.lbs
MOUNTING TORQUE 57 ft.Ibs 0.05x45° (Keyed SAE BB) (187 Nm)
(80 Nm) (1.3x45°)
PORT A B c D E
S |419(106.4) | 2.44(61.9) | 3.00(76.2) 5/8'”U“:|“C"1'12 ';'é'é';
(M16x28.4 ) Shaft torque limits in3/revxpsi(ml/revxbar)
1/2-13UNCx0.94 DEEP Shaft Vp x p max. (P1+P2)
s .
3.50(88.9) | 2.00 (50.8) 250 (63.5) (M12x24.0 DEEP) - 12666 (14300)
P2 | 43874(47.6) | 0.874 (22.2) 0.75 (19.0) | 3.00 (76.2) 3/8-16UNCx0.75 DEEP 2 18972 221420;
3 28937 (32670
P2 | 2.06(52.4) | 1.03(26.2) 1.00 (25.4) | 2.94 (74.7) (M10x19.0 DEEP) E 18246 (20600)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
Series|Displacement Vp|p = o bar (0 psi)[p = 140 bar (2000 psi)[p = 240 bar (3500 psi)|p = 7 bar (100 psi)| p = 140 bar (2000 psi)| p = 240 bar (3500 psi)
et ins/rev__| cmjrev | 9pm | Ipm | gpm ipm gpm ipm hp | kw hp kw hp kw
003 0.66 10.8 4.29| 16.2| 2.96 11.2 2.04 7.7 1.74 | 1.3 7.11 5.3 11.22 8.4
005 1.05 17.2 6.83| 25.8| 5.50 20.8 4.57 17.3 1.88 | 1.4 10.06 7.5 16.36 12.2
006 1.30 21.3 8.44| 31.9| 7.11 26.9 6.19 23.4 2.01 | 15 11.94 8.9 19.71 14.7
008 1.61 26.4 | 10.48| 39.6| 9.15 34.6 8.22 3141 215 | 1.6 14.35 | 10.7 22.93 17.7
010 2.08 341 | 1352| 51.1| 12.19 461 | 11.26 42.6 228 | 1.7 18.64 | 13.4 29.90 22.3
P1 012 2.26 37.1 14.71| 55.6| 13.36 50.6 12.46 47 1 2.28 1.7 19.31 14.4 32.32 241
& 014 2.81 46.0 | 18.25| 69.0| 16.93 64.0 | 16.00 60.5 255 | 1.9 23.60 | 17.6 39.56 29.5
015 3.08 50.5 | 20.00| 75.6| 18.73 732 | 19.02 67.5 2.68 | 2.0 25.61 19.1 42.91 32.0
P2 017 3.56 583 | 23.12| 87.4| 21.79 824 | 20.87 78.9 2.82 | 2.1 29.37 | 219 49.48 36.9
020 3.89 63.8 | 25.32| 95.7| 23.99 90.7 | 23.07 87.2 295 | 22 31.92 | 238 53.91 40.2
022 4.29 70.3 | 27.88| 105.4| 26.56 1004 | 25.63 96.9 3.08 | 23 35.00 | 26.1 59.14 44.1
025" | 4.84 79.3 | 31.46| 118.9| 30.13 113.9 29.21 110.4 335 | 25 39.16 | 29.2 66.38 49.5
028"%| 542 88.8 | 35.24| 133.2| 33.92 128.2 | 33.28 125.8 375 | 28 4385 | 327 65.04 48.5
031"?| 6.10 100.0 39.68| 150.0| 38.35 145.0 37.72 142.6 375 | 28 48.95 | 36.5 72.95 54.4

1) 025-028-031 = 2500 RPM. max.

N Bl-1.15 ]

2) 028-031= 210 bar (3000 psi) max. int.




HIGH PERFORMANCE VANE PUMP VT6DC

VELJA

VIDC W - 038 -022 1 R 00 - B 1 00 *
Series = Modifications
severe duty shaft only P1 P2 Mounting W/connection variables
UNC METRIC
Cam ring for "P1 00 | 01 | Mo M1
Volumetric displacement cm3/rev (in3/rev) P2 | 1" [3/4" [ 1" [3/a"
* = —
umsoses e
020/B20 = 66.0 (4.03)  042/B42 = 136.0 (8.30) 1-81 (for mineral oif) -
024/B24 = 79.5 (4.85) 045/B45 = 145.7 (8.89) 4 - 84 (for fire resistant fluids)
028/B28 = 89.7 (5.47) 050/B50 = 158.0 (9.64) 5 - S5 (for mineral oil and fire resistant fluids)
031/B31 = 98.3 (6.00) 061/B61 = 190.5 (11.62) Design letter
*0'-  Uni - directional '‘B'- Bi - directional Porting combination (see page BM-1-5)
Cam ring for "P2" 00 - standard
Volumetric displacement cm3/rev (in3/rev) Di_rection of rotation
*003/B03/Y03 = 10.8 (0.66)  015/B15/Y15 = 50.5 (3.08) (view on shaft end)
005/B05/Y05 = 17.2 (1.05) 017/B17/Y17 = 58.3 (3.56) R - clockwise
006/B06/Y06 = 21.3 (1.30) 020/B20/Y20 = 63.8 (3.89) L - counter-clockwise
008/B08/Y08 = 26.4 (1.61)  022/B22/Y22 = 70.3 (4.29) Type of shaft
010/B10/Y10 = 34.1 (2.08) 025/B25/Y25 = 79.3 (4.84) 1 - keyed (SAE C)
012/B12/Y12 = 37.1 (2.26) 028/:28/Y28 = 88.8(5.42) 2 - keyed (no SAE)
014/B14/Y14 = 46.0 (2.81) 031/B31/Y31 = 100.0 (6.10) 3 - splined (SAE C)
*Q'- Uni-directional 'B'- Bi-directional 'Y'- Bi- directional 4 - splined (no SAE)
for cold start Sever duty (VT6DCW only)
5 - keyed (no SAE)
INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
VT6DC- 038-022
8.0) 32 80
— — 10cSt Inlet pressure 0.9 bar abs
N Viscosity 32 cSt
(0 28 24 oSt 2 s n = 1000 RPM
s < - — n = 1500 RPM
7 o -
g ©6.0) 24 ® 75 Lw =Lp + 8db (A)
€ 7 £
=3 -
= (5.0) 20 - —
£ Ve 4 =~ P
» ~ P2~ < -
O (40 16 — % 70 —
(] 1 -
g - ~ - /p1/ = - /
£ (30 12 C — o |- /
3 7 T 2 I
% 20 8 — P — T | P2 o — g
c // -
£ (10 4 » — ry /
- L = —
0 60
0 35 70 105 140 160 175 190 210 240 275 10 50 100 140 175 210 240
(500) (1000) (1500) (2000) (2500) (3000) (3500)  (4000) (145) (725) (1500) (2000) (2500) (3000) (3500)
(2175) (2700) . .
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or Double pump noise level is given with each section discharging at
viscosity if internal leakage is more than 50% of theoretical flow. the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECAHNICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
6 n = 2400 rpm |
- —— n=1500rpm (24 cSt)
5 n = 1000 rpm (454) 2000 [—
P el el S . S P1
T (409) 1800 (—
3 |-
= 1 (363) 1600 — Shaft keyed N° 1
£ === —
| 1 1 )
g . — P 8 (318) 1400
T 0 35 70 105 140 160 175 190 210 240 £ (72 1200
g (500)  (1000)  (1500)  (2000)(2175)2500)2700)(3000)  (3500) w
5 ‘[ - —n-ae00mm | ® (e27) 1000
o 4| ——— m=1500rpm (2acSY) S
n = 1000 rpm 1 1 _pg_____ p— (181) 800
2 = —_— = L P2 —
A== T e . — (136) 600
1 —
0 (91) 400
0 35 70 105 140 160 175 190 210 240 275
(500)  (1000) (1500)  (2000)(2175) (250042700Y3000)  (3500) ~ (4000) 600 1000 1200 1500 1800 2000 2500

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section at its
operating conditions.

Speed n (rpm)
Maximum permissible axial load Fa = 1200 N (270 Lbs)

[ Bl-1-16 T

DP



HIGH PERFORMANCE VANE PUMP VT6DC

5/8-11 UNCx1.12 DEEP4 HOLES

7/16-14 UNCx0.88 DEEP- 4 HOLES

(M12x22.3 DEEP)

¢¢ VELJAN

(M16x28.4 DEEP) 288 VT6DCW
0.62 (73.2) 3.28
: 2.17 3.06 833)
2441 1.188 (e 0.31 031 | (65.2) 77.7) i
(62.0 (30.2) = IE) 79 0.31 (07-39‘)
150 | KEY03126 KEYO9126
I (38.1) 0.3106 236
é (7.94/7.89) 59 y (7.94/7.89)
- = 7: *: - — - e \*7
o= ¢ 0 0 —_ .
(2 0.09x45 ] 0.09x45 olB
% 8= g — (2.3x45°) (2.3x45°) NP 3
0.09x45° Sle g|s 25 a8
IR VIR ®|w FI8 =3
23.00/ o125/ | | @3 g s -2 5 § blg
(76.2) @18 Shaft code 3 Shaft code 4 Ms"ggz)DEEP kS
3/8-16 UNCx0.75 DEEP-4 HOLES Shaft code 2 SAE C splined shaft no SAE splined shaft ’
(M10x19.0 DEEP) (keyed no SAE) Class 1-J498b Class 1-J498b
12/24 Dp. 14 Teeth Shaft code 5

12/24 Dp. 14 Teeth
30° Pressure angle

11.26 3.29 Flat root side fit Flat root side fit
83.6
4.31 (286.0) 450 1.50 63.6) 6.365
(109.5) {143) (381 0.50 22
(12.7) :
7.125
0.31 ({181.0)
) KEY 0.3126/0.3106 8.563
(7.94/7.89)
‘ N\ u
- & M10x0.79 DEEP &
/S | A 32 wl@
33 |8 28 (20.0) o2 Sa
D0
v =T _ | | - 3@ g2
- 82 8 g
—_ n —
53 A 000x5° | gl o f—1  §E g
DISIIANE (2.3x45%) SR g giE
-z 2 i
H S| 2o
/ 0osxse &R &
(1.3x45°) gl T
MOUNTING TORQUE 50 ft.Ibs ® Shaft torque limits in3/revxpsi(ml/revxbar)
(68 Nm)
Shaft code 1 e Shaft Vp x p max. (P1+P2)
MOUNTING TORQUE 138 ft.lbs (Keyed SAEC)  [Aiernate isbles 1 38299 (43240)
(187 Nm) . 10003? M2°6 — 2;4& "’:2 i 2 30638 (34590)
031 (26.2) 0.674 (22.2) 3 54207 (61200)
B|2.06 (52.4) [1.874 (47.6) 4 54207 (61200)
c|1.00 (25.4) | 0.75 (19.05) 5 49247 (55600)

30° Pressure angle

(keyed no SAE)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure _Volumetric Flow g & n = 1500 rpm [ Input power p & n = 1500 rpm

Series| Dlsplacement Vp p = 0 bar (0 psi)|p = 140 bar (2000 psi)|p = 240 bar (3500 psi)| p = 7 bar (100 psi)jp = 140 bar (2000 psi)|p = 240 bar (3500 psi)

port in3/rev cm3/rev gpm | Ipm [ gpm Ipm gpm Ipm hp kw hp kw hp kw

014 2.90 47.6 18.88| 71.4| 16.42 62.1 14.78 559 | 3.08 2.3 24.81 18.5 41.03 30.6

017 3.55 58.2 23.1| 87.3| 20.6 78.0 18.99 71.8 | 3.35 25 29.77 22.2 49.62 37.0

020 4.00 66.0 | 26.19] 99.0| 23.73 89.7 22.08 835 | 3.75 2.8 33.39 24.9 55.92 41.7

024 4.80 79.5 | 31.56] 119.3| 29.10 110.0 27.46 | 1038 | 4.02 3.0 39.69 29.6 66.78 49.8

028 5.50 89.7 | 35.58| 134.5| 33.12 125.2 31.48 | 119.0 | 4.29 3.2 4452 33.2 74.96 55.9

P1 031 6.00 98.3 39.00| 147.5 | 36.53 138.1 34.89 131.9 4.42 3.3 48.54 36.2 81.80 61.0

035 6.80 111.0 | 44.04| 166.5| 41.58 157.2 39.94 | 151.0 | 4.69 3.5 54.58 40.7 92.13 68.7

038 7.30 120.3 | 47.72|180.4 | 45.26 1711 43.62 | 164.9 | 4.96 3.7 58.87 43.9 99.64 74.3

042" | 830 136.0 | 53.96|204.0 | 51.50 194.7 49.86 | 1885 | 5.36 4.0 66.25 49.4 [112.24 83.7

045" | 8.89 145.7 | 57.80| 218.5| 55.34 209.2 53.70 | 203.0 | 5.50 4.1 70.81 52.8 |120.02 89.5

050"?| 9.64 158.0 62.69| 237.0 | 60.23 227.7 59.25 | 224.0 5.90 4.4 76.44 57.0 [113.98 85.0

061"%| 11.62 190.5 | 76.25| 285.7 | 73.54 278.0 -- -- 6.16 4.6 81.26 60.6 - -

003 0.66 10.8 4.29| 16.2| 2.96 11.2 2.04 7.7 1.74 1.3 7.11 5.3 11.22 8.4

005 1.05 17.2 6.83| 25.8| 5.50 20.8 4.57 17.3 1.88 1.4 10.06 7.5 16.36 12.2

006 1.30 21.3 8.44| 31.9| 7.11 26.9 6.19 23.4 2.01 1.5 11.94 8.9 19.71 14.7

008 1.61 26.4 10.48| 39.6| 9.15 34.6 8.22 31.1 2.15 1.6 14.35 10.7 22.93 17.7

010 2.08 34.1 13.52| 51.1| 12.19 46.1 11.26 426 | 2.28 1.7 18.64 13.4 29.90 22.3

012 2.26 37.1 14.71| 55.6 | 13.36 50.6 12.46 471 | 2.28 1.7 19.31 14.4 32.32 24.1

014 2.81 46.0 18.25| 69.0 | 16.93 64.0 16.00 60.5 | 2.55 1.9 23.60 17.6 39.56 29.5

P2 015 3.08 50.5 | 20.00] 75.6| 18.73 73.2 19.02 67.5 | 2.68 2.0 25.61 19.1 42.91 32.0

017 3.56 58.3 | 23.12| 87.4| 21.79 824 20.87 789 | 2.82 2.1 29.37 21.9 49.48 36.9

020 3.89 63.8 | 25.32| 95.7| 23.99 90.7 23.07 87.2 | 295 2.2 31.92 23.8 53.91 40.2

022 4.29 70.3 | 27.88|105.4 | 26.56 100.4 25.63 96.9 | 3.08 2.3 35.00 26.1 59.14 441

025 4.84 79.3 | 31.46/118.9| 30.13 113.9 2921 | 1104 | 3.35 2.5 39.16 29.2 66.38 49.5

028" | 5.2 88.8 | 35.24| 133.2| 33.92 128.2 33.28 | 1258 | 3.75 2.8 43.85 32.7 65.04 48.5

031 | 6.10 100.0 | 39.68| 150.0 | 38.35 145.0 37.72 | 1426 | 3.75 2.8 48.95 36.5 72.95 54.4

1) 042-045-050-061=2200 RPM max.

— EEEYA

2) 028-031- 050=210 bar (3000 psi) max. int,

3) 061 = 120 bar (1740 psi) max. int,

061 = 80 bar (1160 psi) cont.




HIGH PERFORMANCE VANE PUMP VT6DDS

Series - SAE G 6 holts
Mounting flange J744c

Cam ring for "P1" & "P2"

VT6DDS

Volumetric displacement cm3/rev (in3/rev)

*014/B14 = 47.6 (2.90)
017/B17 = 58.2 (3.55

035/B35 = 111.0 (6.77
038/B38 = 120.3 (7.34

(3.55)
020/B20 = 66.0 (4.03)
024/B24 = 79.5 (4.85)
028/B28 = 89.7 (5.47)
031/B31 = 98.3 (6.00)
*lol -

Type of Shaft

(6.77)

(7.34)
042/B42 = 136.0 (8.30)
045/B45 = 145.7 (8.89)
050/B50 = 158.0 (9.64)
061/B61 = 190.5 (11.62)

Uni - directional '‘B'- Bi - directional

1 - Keyed (SAE C)

2 - Keyed (SAE CC)

3 - Splined (SAE C)

4 - Splined (SAE BB)
5 - Keyed (non SAE)

Internal leakage Qs in Ipm (Gpm)

INTERNAL LEAKAGE (TYPICAL)

©.0) 32
- — 10cSt

24 cSt

(7.0) 28

6.0) 24 —

(5.0) 20

P1-P2_~
40) 16 — 4

L~ P1-Pg//
7~ /

(3.00 12

20 8

(1.0 4

35 70 105 140 175 210
(500) (1000) (1500) (2000) (2500) (3000)
Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating
conditions.

HYDROMECHANICAL POER LOSS (TYPICAL)

n=2400 RPM
— — n=1500 RPM (24 cSt)
n=1000 RPM
5
—_ - . _ P1-P2
a — L _
g 4 e
£
»
a
0
@ 3
o
=
@ p—
g 2 P1-P2 p———
o EE——l [ —
— plp2_ |
e
1 //
0
35 70 105 140 170 210

(500) (1000) (1500) (2000) (2500) (3000)

Pressure in bar (psi)

Total hydromechnical power loss is the sum of each section at its
operating conditions.

Load Fin N (Lbs)

-038-028 -1R00- A

VELJA

-00 *
L Modifications

Mounting W/connection variables
SAE 4 bolt flange (J518c)
P1&P2=1-1/4" S=4"

UNC |METRIC|
VT6DDS 00 Mo

Seal class

1-S81 (for mineral oil)
4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Porting combination (see page BM-1-5)
(00 = Standard)

Direction of rotation
(view on shaft end)
R - Clockwise

L - Counter - clockwise

NOISE LEVEL (TYPICAL)

VT6DDS - 038 - 038

Inlet pressure 0.9 bar abs
Viscosity 32 cSt

n = 1000 RPM ‘

80

— — n = 1500 RPM

& Lw = Lp + 8 db (A) —

70

—_— - /
\/

65

60

Lp. Noise level {db(A)} 1m ISO 4412

0 40 70 105 140 210 240
(600) (1000) (1500) (2000) (3000) (3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

(454) 2000

(409) 1800

Fa

Shaft keyed N° 1

(363) 1600

(318) 1400

1200

(272)

(227) 1000

(181) 800

(136) 600

(1) 400

600 1000 1400 1800 2200
Speed n (rpm)

Maximum permissible axial load Fa = 1200 N (270 Lbs)

Bl-1-18

DP



HIGH PERFORMANCE VANE PUMP VT6DDS

5/8-11UNCx1.18 DEEP 4-HOLES

(M16x30.0 DEEP)

7/16-14 UNCx0.94 DEEP-4 HOLES
(M12x24.0 DEEP)

2.20

¢¢ VELJAN

(56.0)
7/16-14UNCx0.94 DEEP 4 HOLES
(M12x24.0 DEEP) 0.25 MAX.
3.30
1.19
[Go.2)| (84.0)
: 0.31 KEY 0.394/0.315
79 (7.94/7.89)
+ J_ - 2.36
- m | ©-0 M8x0.62 DEEP.
{ (16.0)
o | [~ =
3 &l ) |2 i8] _—
~| | V|2 6|2 ; =
@ - °
~ o o \€ .|| 0.09x45° —
@ O (2.3x459) e %
i pes s
Shaft code 3 . 52 o9
+ T SAE C splined shaft = %— G2 og
\ ‘ 11 Class 1-J498b : 8| ghaft code 5
/ o125/ = 12/24 dp. 14 teeth aN ‘S::\’E e
01.16 24.00 (31.8) I 30° pressure angle (No )
(29.5) (101.6) 8) _075 | fiat root side fit
(19.0) at root siae i
13.69 3.31
(348.0) (84.0)
) 5.28 5.84 _1.50
(134.2) (148.5) (38.1) 050
12.7) KEY 0.3126/0.3106
| . —\ 0.31 (7.94/7.89)
(R — ; (7.9 M10x0.79 DEEP
|8 T (20.0) /7
@ + 4z ] 794
o™ pany . y
(=10 sy —
<2 — | Q2 D (49.3) /
z JRE— oS -
/ 8|
~ |- - ale (& o|@
-t = - ey 53 85 T e
~s |7 1 Qe 2 g =
Sla
ol -
o] 0.09x45° ||, ool
e ; | || @3xa59 SR g
ﬂ{i ] Sle olf
L o8 8w
0.051x45° N 2s
(1.3x45°) Qs
MOUNTING TORQUE 140 ft.Ibs MOUNTING TORQUE 140 ftlb
.IDS
(190 Nm) 190N Shaft code 1
( m)
(Keyed SAE C)
1.81
0.31 46.0) 3'158
7.9 0.31 1.0 KEY 0.375/0.373
(@ )_ (7.9) 2.00 (9.52/9.47) Shaft torque limits in3/rev x psi (ml/rev x bar)
M (50.8) Shaft Vp x p max. (P1+P2)
097 M10xgb73 DEEP. 1 38299 (43240)
(24.5 (200) 3 54152 (61200)
} % 4 31780 (35880)
1 il — - —ee 5 40035 (55600)
0.06x45°
(1.5%45°) 3|3 g
E o
0.09x45° ||, 3|2 B
L I~ Shaft code 4 Teaxas) T B2 @y
SAE BB splined shaft 58 T
Class 1-J498b Shaft code 2
16/32 dp. 15 teeth (Keyed SAE CC)

30° pressure angle
flat root side fit

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow g & n = 1500 rpm [ Input power p & n = 1500 rpm
port Series|Displacement Vp|p = 0 bar (0 psi)[p = 140 bar (2000 psi)[p = 240 bar (3500 psi)|p = 7 bar (100 psi)[p = 140 bar (2000 psi)[ p = 240 bar (3500 psi)
indrev_| cm¥rev | gpm | lpm | gpm | Ipm | gpm Ipm hp kw hp kw hp kw
014 2.90 47.6 | 18.88| 71.4 | 16.42 62.1 | 14.78 55.9 308 | 23 24.81 18.5 41.03 30.6
017 3.55 582 [231 | 87.3| 206 78.0 | 18.99 71.8 335 | 25 | 2977 | 222 49.62 37.0
020 4.00 66.0 [26.19] 99.0 [ 23.73 89.7 [ 22.08 83.5 375 | 2.8 | 3339 | 249 55.92 41.7
024 4.80 79.5 [31.56(119.3 | 29.10 110.0 | 27.46 | 103.8 402 | 3.0 | 3969 | 29.6 66.78 49.8
P1 028 5.50 89.7 | 3558|1345 | 33.12 1252 | 31.48 | 119.0 429 | 32 | 4452 | 332 74.96 55.9
031 6.00 98.3 [39.00|147.5 | 36.53 138.1 | 34.89 | 131.9 442 | 33 | 4854 | 36.2 81.80 61.0
& 035 6.80 111.0 | 44.04|166.5 | 41.58 157.2 | 39.94 | 151.0 469 | 35 | 5458 | 407 92.13 68.7
P2 038 7.30 120.3 | 47.72[180.4 | 45.26 1711 | 43.62 | 164.9 496 | 3.7 | 5887 | 43.9 99.64 74.3
042" | 830 136.0 | 53.96 [204.0 | 51.50 1947 | 4986 | 1885 | 536 | 4.0 | 6625 | 49.4 |112.24 83.7
045" 8.89 145.7 | 57.80|218.5 | 55.34 209.2 | 53.70 | 203.0 5.50 4.1 70.81 52.8 120.02 89.5
050 "?| 9.64 158.0 | 62.69|237.0 | 60.23 227.7 | 59.25 224.0 5.90 4.4 76.44 57.0 113.98 85.0
061 "% 11.62 190.5 | 76.25|285.7 | 73.54 278.0 - - 6.16 4.6 81.26 60.6 -- -

1) 042-045-050-061=2200 RPM max.

S B-1.19 ]

2) 050=210 bar (3000 psi) max.

3) 061 = 120 bar (1740 psi) max. int, 061 = 80 bar (1160 psi) cont.




HIGH PERFORMANCE VANE PUMP VTG6EC

VELJA

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section at its
operating conditions.

VT6EC * - 066 - 022 1 R 00 -B 1 -
Series J P2 L Modifications
Y- Metric port connection, Omit for UNC Seal cl
Cam ring for "P1" 1-81 (for mineral oil)
Volumetric displacement cm3/rev (in3/rev) 4 - S4 (for fire resistant fluids)
042 = 132.3 (8.07) 062 = 196.7 (12.00) 5 - S5 (for mineral oil and fire resistant fluids)
045 = 142.4 (8.69) 066 = 213.3 (13.02) Design letter
050 = 158.5 (9.67) 072 = 227.1 (13.86)
052 = 164.8 (10.06) 085 = 269.8 (16.46) Porting combination (see page BM-1-5)
057 = 180.7 (11.02) 00 - standard
Cam ring for "P2" Di . P .
Volumetric displacement cm3/rev (in3/rev) |-rect|on c;‘ rf(:tatl:’)n
*003/BO3/YO3 = 10.8 (0.66)  015/B15/Y15 = 50.5 (3.08) (view on shaft end)
005/B05/Y05 = 17.2 (1.05) 017/B17/Y17 = 58.3 (3.56) R - clockwise
006/B06/Y06 = 21.3 (1.30) 020/B20/Y20 = 63.8 (3.89) L - counter-clockwise
008/B08/Y08 = 26.4 (1.61) 022/B22/Y22 = 70.3 (4.29) Type of shaft
= 025/B25/Y25 = 79.3 (4.84
010/B10/Y10 = 34.1 (2.08) /B25/Y. (4.84) 1- keyed (SAE CC)
012/B12/Y12 = 37.1 (2.26) 028/B28/Y28 = 88.8 (5.42) 2 - keyed (no SAE)
= 46.0 (2. 031/B31/Y31 = 100.0 (6.10
014/B14/Y14 = 46.0 (2.81) /B31/Y; (6.10) 3- splined (SAE C)
*0'-  Uni-directional 'B'- Bi-directional 'Y'- Bi- directional 4 - splined (SAE CC)
for cold start
INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
00 36 VT6EC- 050-022
X 80
= — 10cst Inlet pressure 0.9 bar abs
— (80 32 24 cSt P1 ﬁ Viscosity 32 cSt
€ g n = 1000 RPM
o - — n =1500 RPM
) (7.0) 28 L 8 75 Lw = Lp + 8db (A) — —
5_(6.0)24 ~ E ’////
£ - -
é o= - 4 P2~ < 5 -
= o
8 @0 16 < /(F. 3 _ — /
% L P /’ E L~ /
(3.0) 12 e
) = o
3 i == ol P2 — © 65 /
S (20 8 = — — 2
g (10) id // T 2 |
c (1.0 4 .
£ P g
0 60
0 35 70 105 140 160 175 190 210 240 275 10 50 100 140 175 210 240
(500)  (1000) (1500) (2000)(2175)(2500)2700)(3000) ~ (3500)  (4000) (145) (725) (1500) (2000) (2500) (3000) (3500)
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or Double pump noise level is given with each section discharging at
viscosity if internal leakage is more than 50% of theoretical flow. the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
6 n = 2200 rpm T T T
— — n=1500 rpm (24 cSt)
5 n = 1000 rpm g I g (454) 2000 |—
4 - (409) 1800 |—
Bl 1 | [—
3 - 1 Shaft keyed N° 1
p1 | (363) 1600 (—
g 2 M
= o
;‘ 1 = (818) 1400
% z
8 0 0 35 70 105 140 160 175 190 210 240 £ (e72) 1200
b (500)  (1000) (1500) (2000) (2500) (3000)  (3500) w
§ @175)  (2700) T (27 1000
o n = 2200 rpm 3
o - — n=1500 rpm (24 cSt)
3 n = 1000 rpm (181) 800
Lo leel -/
L S p————— T e —— (136) 600
T P2l L —
, L 1
— (91) 400
0
0 35 70 105 140 160 175 190 210 240 275 600 1000 1200 1500 1800 2000 2200
(500)  (1000)  (1500)  (2000)(2175)(2500(2700)(3000) ~ (3500)  (4000)

Speed n (rpm)
Maximum permissible axial load Fa = 2000 N (449 Lbs)

[ Bl-1-20 T

DP



HIGH PERFORMANCE VANE PUMP VTG6EC

1/2-13 UNCx0.92 DEEP-4 HOLES

(M12x23.4 DEEP) 2.44
3/8-16 UNCx0.75 DEEP 4 HOLES (61.9) 2.20 245
(M10x19.0 DEEP) 2.75 01 (55.9) . (62.2)
1.081 (©9:8) 79 &)
(26.2) | —
. { T
(111 1.50
. . @‘ | @ (38.1) | KEY 0.313/0.311 (:1;'12;)
| / (7.94/7.89) :
olo\| | )
NG © o) B ‘
[ N el - - - ==
olo = 4
A\ —_ .
i e % 0.09x45° J 0.09x45°
. o= S~ (2.3x45°) (2.3x45°)
s R Q 22 28
i | 0.09x45° || &N &lw
L - | (@axa5) e ¢
21.00 ©3.50 |21.46 j= — Shaft code 3 — Shaft code 4
(25.4) (88.9) (37.1) Shaft code 2 SAE C splined shaft SAE CC splined shaft
5/8-11 UNCx1.16 DEEP-4 HOLES (KeyedlnonISAE) Cllrs T dkikdD Class 1-J498b
(M16x29.5 DEEP) 12/24 dp. 14 teeth 12/24 dp. 17 teeth
: 30° pressure angle 30° pressure angle
Flat root side fit Flat root side fit
13.06 3.58
5.38 (331.6) 4665 2.06 (90.9) (2'13382)
‘ (136.7) ’|‘ (118.5) (52.3) ((1) _253) 7125
) (181.0)
‘ 0.31 KEY 0.375/0.373 3.563
. .25 MAX. : : ~90.5)
! o (7.9) ?6_:‘;’5) (9.52/9.47) (90.5)
\ 2.00 M10x0.79 DEEP
| _ j— (50.8) /T (200) @
] ol N
<[ Iz 38 8s | 4 /
| ¢ 4 Yz L) =
RIS | / 2|2
= o| 2
£ >| ©
- — gl ¢
F— - —-"1F-—-"+-— -4 r e | C=r =8 9|a —|-
- ol 8|
o|l§ g & ale
S|e ol - z o2
A o8 3 % g=
\ — e Els t
AN | @ ™
S| i
| 23S 8 g
0.09x45° el =l
MOUNTING TORQUE 50 ft.lb: (2-3x45%) Se
.IDS
_0.05x45° | MOUNTING TORQUE 138 ft.Ibs
(68 Nm) (1.3x450) Shaft code 1 (187 Nm)
(Keyed SAE CC) S =
Shaft torque limits in3/rev x psi (ml/rev x bar)
Shaft Vp x p max. (P1+P2)
1 64044 (72306)
2 30638 (34590)
3 54207 (61200)
4 67582 (76376)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressurel Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
Series|Displacement Vp|p = 0 bar (0 psi)[p = 140 bar (2000 psi)[ p = 240 bar (3500 psi)[p = 7 bar (100 psi)[ p = 140 bar (2000 psiJp = 240 bar (3500 psi

port in*/rev_| cmerev | gpm | Ipm | gpm ipm apm Ipm hp kw hp kw hp kw
042 8.07 132.3 | 52.50 | 198.5 | 49.87 188.5 | 47.96 181.3 | 6.97 5.2 66.25 49.4 | 110.77 | 826
045 8.70 1424 | 56.51|213.6 | 53.86 | 203.6 | 51.98 1965 | 7.24 5.4 70.94 529 | 118.95 | 887
050 9.67 158.5 | 62.88 | 237.7 | 60.24 227.7 | 58.36 2206 | 7.64 5.7 78.45 585 | 131.82 | 98.3
052 10.00 164.8 | 65.40 | 247.2 | 62.75 237.2 | 60.87 2301 | 7.78 5.8 81.53 60.8 | 136.92 | 102.1

= 057 11.02 180.7 | 71.71| 271.1| 69.07 2611 | 67.19 254.0 | 8.18 6.1 89.04 66.4 | 143.35 | 106.9
062 12.00 196.7 | 78.04 | 295.0 | 75.40 285.0 | 73.52 2779 | 858 6.4 96.42 71.9 | 162.67 | 121.3
066 13.00 213.3 | 84.63[319.9| 81.98 | 309.9 80.11 302.8 | 8.98 6.7 |104.20 777 | 175.94 | 131.2
072 13.86 2271 | 90.11|340.6 | 87.46 | 330.6 | 85.58 3235 | 9.25 6.9 |[110.77 82.6 | 187.07 | 139.5
085"2| 16.40 269.8 [107.00 | 404.7 | 105.21 | 397.7 - - 9.78 7.3 87.56 65.3 - -
003 0.66 10.8 429| 162| 296 11.2 2.04 7.7 1.74 1.3 7.1 5.3 11.22 8.4
005 1.05 17.2 6.83| 258 | 5.0 20.8 4.57 17.3 1.88 1.4 10.06 7.5 16.36 | 122
006 1.30 21.3 8.44| 319 7.11 26.9 6.19 23.4 2.01 1.5 11.94 8.9 19.71 | 147
008 1.61 264 | 1048 | 39.6 9.15 34.6 8.22 31.1 2.15 1.6 14.35 10.7 2293 | 177
010 2.08 341 | 1352| 511 1219 461 | 11.26 426 | 2.28 1.7 18.64 13.4 29.90 | 223
012 2.26 371 | 14.71| 55.6| 13.36 50.6 | 12.46 471 | 2.28 1.7 19.31 14.4 32.32 | 241
014 2.81 46.0 | 18.25| 69.0| 16.93 64.0 | 16.00 60.5 | 255 1.9 23.60 17.6 39.56 | 29.5

P2 015 3.08 50.5 | 20.00| 75.6| 18.73 732 | 19.02 67.5 | 2.68 2.0 25.61 19.1 4291 | 32.0
017 3.56 58.3 | 23.12| 87.4| 21.79 824 | 2087 789 | 282 2.1 29.37 21.9 49.48 | 369
020 3.89 63.8 | 25.32| 95.7| 23.99 90.7 | 23.07 87.2 | 295 2.2 31.92 23.8 53.91 | 402
022 4.29 70.3 | 27.88|105.4 | 26.56 1004 | 25.63 969 | 3.08 2.3 35.00 26.1 59.14 | 444
025 4.84 79.3 | 31.46|118.9| 30.13 113.9 29.21 1104 | 3.35 25 | 39.16 29.2 66.38 | 495
028" 5.42 88.8 | 35.24|1332| 33.92 128.2 | 33.28 1258 | 3.75 2.8 43.85 32.7 65.04 | 485
031 6.10 100.0 | 39.68 | 150.0 | 38.35 1450 | 37.72 1426 | 8.75 2.8 48.95 36.5 7295 | 544

1) 085 = 2000 RPM max. 2) 085 = 75 bar (1100 psi) cont. 085 = 90 bar (1300 psi) max. int. 3) 028-031= 210 bar (3000 psi) max.

S Bl-1.21 ]




HIGH PERFORMANCE VANE PUMP VTG6ED

VELJA

VI6ED * - 066 - 033 1 R 00 - B 1 *
Series P P2 L Modifications
Y -Metric port connection, Omit for UNC Seal class
1-81 (for mineral oil)
Cam ring for "P1 4 -S4 (for fire resistant fluids)
Volumetric displacement cm3/rev (in3/rev) 5 - S5 (for mineral oil and fire resistant fluids)
042 = 132.3 (8.07) 062 = 196.7 (12.00) .
045 = 142.4 (8.69) 066 = 213.3 (13.02) Design letter
050 = 158.5 (9.67) 072 = 227.1 (13.86) Porti binati
052 = 164.8 (10.06) 085 = 269.8 (16.46) orting combination (see page BM-1-5)
057 = 180.7 (11.02) 00 - standard
Cam ring for "P2" Direction of rotation
Volumetric displacement cm3/rev (in3/rev) (view on shaft end)
“014/B14 = 47.6 (2.90) 035/B35 = 111.0 (6.77) R - clockwise
017/B17 = 58.2(3.55) 038/B38 = 120.3 (7.34) L - counter-clockwise
020/B20 = 66.0 (4.03) 042/B42 = 136.0 (8.30)
024/B24 = 79.5 (4.85) 045/B45 = 145.7 (8.89) Type of shaft
028/B28 = 89.7 (5.47) 050/B50 = 158.0 (9.64) 1 - keyed (SAE CC)
031/B31 = 98.3 (6.00) 061/B61 = 190.5 (11.62) 2 - keyed (no SAE)
*10'- Uni - directional '‘B'- Bi - directional 3 - splined (SAE C)
4 - splined (SAE CC)
INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
VT6ED- 050-038
©.0) 36 80
— — 10cSt N Inlet pressure 0.9 bar abs
[~ 24 cSt o Viscosity 32 cSt
g_ ®0) 32 ¢ — 3 n = 1000 RPM g
53 p b7 o - — n =1500RPM -
~ (7.0) 28 (2 Lw = Lp + 8.db (A) —
g_ pard £ _
-_— . 24
T = -
& 69w e < — ]
1T 2 70 -
% wo Z - 3 L _|—
4.0) 16 P1 =
S = - // [ — E’ /
© 1 L5
o9 GO 12 — // P2 o /
T o s 2z~ — | & &
°©
g 27 == z
£ 0104 7 -}
Z -
o 60
0 35 70 105 140 160 175 190 210 240 10 50 100 140 170 210 240
(500) (1000) (1500) (2000)2175)2500)(2700)(3000) (3500) (145) (725) (1500) (2000) (2500) (3000) (3500)
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or Double pump noise level is given with each section discharging at
viscosity if internal leakage is more than 50% of theoretical flow. the pressure noted on the curve.
HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
6 n = 2200 rpm
- — n=1500rpm (24 cSt)
5 n = 1000 rpm [ I AN Ep—
4 B - T T
3 —_—t Bl = = — (863) 3800 [—
P1 —
2 (772) 3400 |—
|- |Fa
z :
5 _ (e81) 3000 Shaft keyed N° 1
0 0 3
[- % 0 35 70 105 140 160 175 190 210 240 |
e (500)  (1000) (1500) (20000  (2500)  (3000)  (3500) ; (590) 2600
° (2175) (2700 <
. 6 n = 2200 rpm = (500) 2200
g - — n=1500rpm (24 cSt) w
° 5 n = 1000 rpm -
o @ (409) 1800
-]
4 o T g = — - +— — A -
3 (318) 1400
2 p——— _— . — £2 — T (227) 1000
1
(136) 600
%o 3 7 105 140 160 175 190 210 240 600 1000 1200 1500 1800 2000 2200
(500) (1000) (1500) (2000)2175)2500) (2700§3000) (3500)

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section at its
operating conditions.

Speed n (rpm)

Maximum permissible axial load Fa = 2000 N (449 Lbs)

[ Bl-1-22

DP



HIGH PERFORMANCE VANE PUMP VTG6ED

¢¢ VELJAN

2.44
5/8-11 UNCx1.18 DEEP-4 HOLES ©1.9)
(M16x30.0 DEEP) 0.69 :
7/16-14 UNCx0.94 DEEP 4 HOLES (17.5) 220
(M12x24.0 DEEP) 0.31 5-5 9 2.45
1,19 3.06 L. 7.9) (55.9) 62.2)
(30.2) (77.8) (35.7) — ’ 0.09x45° 0.31 0.31
f } [ ] (2.3x45°) — (7.9) — | @9
1.50 -
- ﬂ‘ T O ‘ | M| (38.1) || KEY 0.3126/0.3106
' 94/7.89) 1.50 1.24
(7.94/7.89)
Q o e\ % (38.1) (31.5)
N olq ol \e f | ]
=S [ _ <2 _| N - el
8 518 SHE 1 = N ES—— 4+ - &=
g % J 0.09x45° | oosas
o f-—— . — 0T
o/ © ‘ =z Zlg (2.3x459) (2.3x45°)
! 3 =|n 5
[ P Ble 8lg
o118 @4.00 / 01.46 = §le
(29.5) - :
(101.6) @37.1) Shaft code 2 Shaft cpde 3 Shaft che 4
1/2-13 UNC x0.92 DEEP 4 HOLES (Keyed no SAE) SAE C splined shaft SAE CC splined shaft
(M12x23.5 DEEP) Class 1-J498b Class 1-J498b
12/24 dp. 14 teeth 12/24 dp. 17 teeth
30° pressure angle 30° pressure angle
14.21 3.58 Flat root side fit Flat root side fit
(361.0) (90.9)
X 5.84 ) 5.26 _ 2.06 8.386
(148.2) (1335) (52.3) 0.50 (213.0)
0.31 (12.7) (176112.3)
79 KEY 0.375/0.373 3.563
| | (g-zsz)MAX- (9.52/9.47) (90.5)
N | N m—NE
T 2.00 M10x0.79 DEEP
s | I - J j_ (50.8) (20.0) @ @
o|®@ r -
8lz g8 5l | /
z z °|1e / @
=] " "
g : 8le qn g
B - 4 ga =[8 \ ¥s)
-!--—--""r - — - — - - —FF — - — i B _— - L 5| © S — i S a1 -
- gt 83 & ) 6
n [ N
28 ole g8 Ny L/ ga
o& 38 Tl | 8=
i -8y — o=
N~ 0.09x45° 5|8 2lg ‘ )
(2.3x45°) gle gg ‘ ‘ ‘
0.05x45° =g ~<
MOUNTING TORQUE 138 ft.Ibs (1.3x45%) ST MOUNTING TORQUE 138 ft.Ibs
187 Ni 187 N
(187 Nm) Shaft code 1 (187 Nm)
(Keyed SAE CC) Shaft torque limits in3/rev x psi (ml/rev x bar)
Shaft Vp x p max. (P1+P2)
1 64044 (72306)
2 30638 (34590)
3 54207 (61200)
4 67582 (76376)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow q & n = 1500 rpm [ Input power p & n = 1500 rpm
Series|Displacement Vp/, — o bar (0 psi)]p = 140 bar (2000 psi)|p = 240 bar (3500 psi)|p = 7 bar (100 psi)| p = 140 bar (2000 psi)| P = 240 bar (3500 psi)

port in3/rev cm3rev | 9pm | Ipm gpm Ipm | gpm Ipm hp kw hp kw hp kw
042 8.07 132.3 | 52.50| 198.5| 49.87 | 188.5 | 47.96 | 181.3 697 | 52 | 66.25 49.4 | 110.77 82.6
045 8.70 142.4 | 56.51) 213.6| 53.86 | 203.6 | 51.98 | 196.5 724 | 54 | 7094 529 | 118.95 88.7
050 9.67 158.5 | 62.88| 237.7| 60.24 | 227.7 | 58.36 | 220.6 764 | 57 | 7845 585 | 131.82 98.3
052 10.00 164.8 | 65.40| 247.2| 62.75 | 237.2 | 60.87 230.1 778 | 58 | 8153 60.8 | 136.92 | 102.1
! 057 11.02 180.7 | 71.71| 271.1] 69.07 | 261.1 | 67.19 | 254.0 818 | 6.1 | 89.04 66.4 | 143.35 | 106.9
062 12.00 196.7 | 78.04| 295.0| 75.40 | 285.0 | 73.52 | 277.9 858 | 6.4 | 96.42 719 | 16267 | 121.3
066 13.00 2133 | 84.63| 319.9| 81.98 | 309.9 | 80.11 | 302.8 898 | 6.7 | 104.20 777 | 175.94 | 131.2
072 13.86 227.1 | 90.11| 340.6| 87.46 | 3306 | 8558 | 3235 925 | 69 |110.77 826 | 187.07 | 1395

085"?| 16.40 269.8 |107.00| 404.7| 105.21 | 397.7 - - 9.78 7.3 | 87.56 65.3 - -
014 2.90 476 | 18.88| 71.4| 16.42 62.1 | 14.78 55.9 308 | 23 | 2481 18.5 41.03 30.6
017 3.55 58.2 231 87.3| 206 78.0 | 18.99 71.8 335 | 25 | 2977 22.2 49.62 37.0
020 4.00 66.0 | 26.19] 99.0| 23.73 89.7 | 22.08 83.5 375 | 2.8 | 33.39 24.9 55.92 41.7
024 4.80 79.5 | 31.56| 119.3| 29.10 | 1100 | 27.46 | 103.8 402 | 30 | 39.69 29.6 66.78 49.8
028 5.50 89.7 | 35.58| 134.5| 33.12 | 1252 | 31.48 | 119.0 429 | 32 | 4452 33.2 74.96 55.9
P2 031 6.00 98.3 | 39.00| 147.5| 36,53 | 138.1 | 34.89 | 131.9 442 | 33 | 4854 36.2 81.80 61.0
035 6.80 111.0 | 44.04| 166.5| 4158 | 157.2 | 39.94 | 151.0 469 | 35 | 5458 40.7 92.13 68.7
038 7.30 120.3 | 47.72| 180.4| 4526 | 1711 | 43.62 | 164.9 496 | 3.7 | 5887 43.9 99.64 74.3
042 8.30 136.0 | 53.96| 204.0| 51.50 | 194.7 | 49.86 | 188.5 536 | 4.0 | 66.25 49.4 | 112.24 83.7
045 8.89 145.7 | 57.80| 218.5| 55.34 | 209.2 | 53.70 | 203.0 550 | 41 | 70.81 528 | 120.02 89.5
050" 9.64 158.0 | 62.69| 237.0| 60.23 | 227.7 | 59.25 | 224.0 590 | 4.4 | 76.44 57.0 | 113.98 85.0

061" | 11.62 1905 | 76.25| 285.7| 73.54 | 278.0 - - 616 | 46 | 81.26 60.6 - -

S B-1.23 ]

1) 085 = 2000 RPM max.
4) 061 = 120 bar (1740 psi) max. i

2) 085 = 75 bar (1100 psi) cont. & 085 = 90 bar (1300 psi) max. int.
nt, 061 = 80 bar (1160 psi) cont.

3) 050=210 bar (3000 psi) max. int,




HIGH PERFORMANCE VANE PUMP VTG6EE/ VT6EES

VT6EE / VT6EES

Series ‘

VT6EE Series - 250 B4HW m m
ISO 3019-2 mounting flange
VTEEES Series - SAE 4 bolts
Mounting flange J744c

Cam ring for "P1" & "P2"
Volumetric displacement cm3/rev (in3/rev)
042 = 132.3 (8.07)

- 066 - 045 -1

045 = 142.4 (8.69)

050 = 158.5 (9.67)

052 = 164.8 (10.06)

057 = 180.7 (11.02)

062 = 196.7 (12.00)

066 = 213.3 (13.02)

072 = 227.1 (13.86)

085 = 269.8 (16.46)
Type of Shaft VT6EE
2 - Keyed (G45N ISO 3019-2)
VT6EES

1 - Keyed (SAE CC)

3 - Splined (SAE CC)
4 - Splined (SAE D&E)
5 - Keyed (SAE D&E)

INTERNAL LEAKAGE (TYPICAL)

(9.0) 36
— — 10cst
- 32 24 ¢St Z
E. 8.0) —
S (o 28 -
£ e
Q.
2 60 24
£ P
N
(] 60 20 P1-P/2 4
|
S @o 16 —
g A //
3 o 12
= e P1-P2_L—"
g (20) 8 1
£ (.
2 e /
£ (o 4
P
0
0 35 70 105 140 160 175 190 210 240
(500) (1000 (1500)  (2000) (2175)(2500)(2700)(3000)  (3500)

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating
conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

n = 2200 rpm
— — n = 1500 rpm (24 cSt)
5 n = 1000 rpm
P1-P2 |- "
s _ - —F
£ —
n
o
@ P1-P2 B I B
g 3 S S — L 4
e
[ -_
% 5 P1-P2 l —
5 P —
1
0
0 35 70 105 140 160 175 190 210 240
(500) (1000) (1500) (2000) (2175) (2500)(2700) (3000) (3500)

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section at its
operating conditions.

Load F in N (Lbs)

VELJA

R00-B10-00 *

L Modifications

Port connection variables
SAE 4 bolt flange (J518c)

UNC|METRIC|
VT6EE Mo
VT6EES | 00 Mo

Coupling adaptor

0 - None
2 - SAEB
3 - SAEBB
Seal cl

1-81 (for mineral oil)

4 - 84 (for fire resistant fluids)

5 - S5 (for mineral oil and fire resistant fluids)
Design letter

Porting combination (see page BM-1-5)
00 = Standard

Direction of rotation
(View on shaft end)
R - Clockwise

L - Counter - clockwise

NOISE LEVEL (TYPICAL)

VT6EE - 050 - 050
920

~ Inlet pressure 0.9 bar abs
- Viscosity 32 cSt
3 n = 1000 RPM
o %|——n=1500RPM
D Lw =Lp + 8db (A)
E 80
-~ N
= | —
< -
2 75 =
T p—
- e /
- o
© _ /
s nl—
e /
s T
Z 65
o
-

60

50 100 150 200
(725) (1500) (2000) (3000)

Pressure in bar (psi)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

(909) 4000

(795) 3500

_ | pd

(681) 3000 | Shaftkeyed N°1

(568) 2500

(454) 2000

(340) 1500

v

(227) 1000

(113) 500

600 800 1000 1200 1400 1600 1800 2000 2200

Speed n (rpm)
Maximum permissible axial load Fa = 2000 N (449 Lbs)

[ Bl-1-24

DP



HIGH PERFORMANCE VANE PUMP VTGEE/ VT6EES

1/2-13 UNCx0.92 DEEP- 4 HOLES

1/2-13 UNCx0.92 DEEP- 4 HOLES

¢¢ VELJAN

(M12x23.4 DEEP) (M12x23.4 DEEP)
3.94 M12x1.10 DEEP
(100.0) (28.0) 2.45
0.31
- (62.2)
KEY 0.437/0.435 1.41
LA~ (11.11/11.06) (35.7) ,
2.50
™ (63.5) 1.4
1/2-13 UNCx0.94 DEEP ] (35.7)
(24.0) /
| ) &) ©
99 2@ 2) || =S )
T SI= I8 T\ ] |2 0| & S
L | ‘ o
oogas | 2lg x GRS e 1) 02.039>:t55°
(2.3X45°) N3O . H [ (2.3x45°)
s 1 <
| ﬁ 2 3 5 [ Shaft code 3
~E g3 = g o1, 44 24.00 ‘ - 2:-\E CCJspIin:d shaft
L] Shaft code 5 8T (37.1) (101.6) 01.5/ _ 0.25 127;: ;-;,.41978 teeth
(Keyed SAE D&E) 5/8-11UNCx1.18 DEEP4 HOLES (38.1) (635  30° pressure angle
(M16x30.0 DEEP) Flat root side fit
10.75
(273.0)
8.84 - 6.22 . 6.59 _. 169 3.58
F (224.5) T 20.81 1.83] (157.9) (167.3) [(42.9) o031 (90.9)
> } L ] (206 (46.5 —="11"17.9
@ w N ) 0.31 — ‘ i 250 KEY 0.375/0.373
: (7.9) ! _~ r T E — (63.5) (9.52/9.47)
@ =10 @ | 8’:\\\
L ¥ &g M10x0.79 DEEP
' 90| . o X —
| 88 3] 83 = S
— ‘ — O|= < / g 8
22 [0) | 39 g2 T z FF als
e+ - — - —  — - -+ 35 HI- 3 S == - = — - — - -+ 4k - — &z Sle
8 | <8 88 1 33 ps
| L) Z |~ alsg 0.09x45° Q|e
(SIS © | ©
= Ils T iy (2.3x45°) 8z % S
= I:IJ hrd by e g
L= = hdty) )
?, | Sla 3o ——
ols Qg
o —7 o | Bt
16.0 e
\o | J (160 L || 0.05x45°
(15xa50  Shaft code 1
COUPLING ADAPTOR o (Keyed SAE CC)
MOUNTING TORQUE 65 ft.lbs 087 o0
MOUNTING TORQUE 222 ft.Ibs (88 Nm) (22.0)
(300 Nm) 3.62
2o 039 (92.0) oomase VIGEE
- (10.0) (2.3x45°)
| Shaft torque limits in3/rev x psi (ml/rev x bar)
I—ji: 2.48 KEY 0.551/0.354 Shaft Vi x p Max. Copling Vi x p Max.
~ (63.0) (14.0/9.0) 1 80053 (90380) | SAE-B 18246 (20600)
M12x0.94 DEEP 2 | 101506 (114600) | SAE-BB | 28937 (32670)
/ (24.0) 8 3 | 112312 (126800)
T / [ 3o 4 | 112312 (126800)
~IN / S
SN[ H - — = alS 5 | 104818 (110840)
N . 5|8
=~ LRS]
L g|s
— & o -
L] 0.12x45° S|e % < Code | Coupling adaptor
(é 0x459) N2 S 0 Without coupling
. 1 o= iy B o
N Sla SAE B -13 teeth -pitch 16/32
1 Shaft code 4 N ~ § T 2 mngorgia (min) 0.8775 (212.21225)
] oo 1 e o i1 0
Class 1-J498b NE 0.06x45° £ 55 -15 teeth -plic
8/16 dp. 13 teeth =R {1.5x459) 3 Major dia (min) 1.00 (25.4)
s SIS : Shaft code 2 Minor dia (min.) 0.877 (22.275)
pressure angle 0.35
Flat root side fit o6 o) (Keyed G45N ISO 3019-2)
(22.0)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
Pressure Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
t Series|Displacement Vp|y — o bar (0 psi)[p = 140 bar (2000 psi)]p = 240 bar (3500 psi)| p = 7 bar (100 psi)| p = 140 bar (2000 psi)| p = 240 bar (3500 psi)
po inrev_| cmrev| gpm | Ipm | gpm Ipm gpm Ipm hp kw hp kw hp kw
042 8.07 132.3 52.50 [ 198.5| 49.87 188.5 47.96 181.3 6.97 5.2 66.25 49.4 110.77 82.6
045 8.70 142.4 56.51|213.6| 53.86 203.6 51.98 196.5 7.24 5.4 70.94 52.9 118.95 88.7
050 9.67 158.5 | 62.88(237.7| 60.24 | 227.7 | 58.36 | 220.6 764 | 57 7845 | 585 131.82 98.3
P1 052 10.00 164.8 | 65.40|247.2| 62.75 | 237.2 | 60.87 | 230.1 778 | 58 81.53 | 60.8 136.92 | 102.1
& 057 11.02 180.7 | 71.71| 271.1| 69.07 | 261.1 | 67.19 | 254.0 818 | 6.1 89.04 | 66.4 143.35 | 106.9
062 12.00 196.7 | 78.04|295.0| 75.40 | 285.0 | 7352 | 277.9 858 | 6.4 96.42 | 71.9 162.67 | 121.3
= 066 13.00 2133 | 84.63[319.9| 81.98 | 3099 | 80.11 | 302.8 898 | 67 | 10420 | 777 17594 | 131.2
072 13.86 2271 | 90.11|340.6| 87.46 | 3306 | 8558 | 3235 925 | 69 | 11077 | 826 187.07 | 139.5
085"%| 16.40 269.8 |107.00 | 404.7| 105.21 | 397.7 - - 978 | 73 87.56 | 65.3 - -

1) 085 = 2000 RPM max.

S Bl-1.25 ]

2) 085 = 75 bar (1100 psi) cont.

085 = 90 bar (1300 psi) max. int.




HIGH PERFORMANCE VANE PUMP VT6CCM

VT6CC

vrgee

* W -
Series

M = Mobile
P = Mobile with double shaft seal

Use for severe duty shaft only

Cam ring for "P1" & "P2"
Volumetric displacement cm3/rev (in3/rev)

*BO3/RO3 = 10.8 (0.66) B15/R15 = 50.5(3.08)
B0O5/R05 = 17.2 (1.05) B17/R17 = 58.3 (3.56)
BO6/R06 = 21.3 (1.30) B20/R20 = 63.8 (3.89)
B0O8/R08 = 26.4 (1.61) B22/R22 = 70.3 (4.29)
B10/R10 = 34.1 (2.08) B25/R25 =  79.3 (4.84)
B12/R12 = 37.1 (2.26) B28/R28 = 88.8 (5.42)
B14/R14 = 46.0 (2.81) B31/R31 = 100.0 (6.10)

*B'. for Mobile 'R'- for Mobile - spring assisted

Type of shaft

M version MW version P version

1- keyed (no SAE)
3- splined (SAE BB)
5 - splined (SAE B)

2 - keyed (SAE BB)
R - keyed special

3 - splined (no SAE)
4 - splined (SAE BB)
X - keyed special 6 - splined (no SAE)
W - keyed special

V - keyed special

T- splined (SAE J718c)

S- splined (DIN5462)

Q- splined (SAE C)

INTERNAL LEAKAGE (TYPICAL)

B22 - B08-1 R 00 - D

VELJA

=Y

-00 *
I Modifications

Mounting W/connection variables
p1=1"-s=3"P1=1"-5=21""]
P2 qn 3/4n1) 1" 3/4‘11)
odal Unc | 00 [01 | 10 11
[Metric] oM [wo [ 1m W1
1) for 46 ml/rev max.
2) for 126 ml/rev max.

The large cartridge must be always
mounted in the front.

Seal class

1-81 (for mineral oil)

4 - S4 (for fire resistant fluids)

5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Porting combination (see page BM-1-5)
00 - standard

Load F in N (Lbs)

(6.5) 24
24 cSt -
T (65 21 _
g_ 10 cSt P
S (5.0) 18 — -
13
o '
= (40 15
E L
O @o 12 p1p2 1L
Py 7 1
=] 7 |
g 0) 9
g Ve //
< (19 6 — P1-P2
£ - —
L2 (o 3
E A1
0
0 35 70 105 140 160 175 190 210 240 275
(500)  (1000)  (1500)  (2000) (2175)2500)(2700) (3000) ~(3500) ~(4000)
Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL)
5
n = 2800 rpm
- — n=1500rpm (24 cSt)
n = 1000 rpm
4
=
E=
o ° =
t Plp2 | — [T
1] - T
K] 2 - ] —
£ —_—
2 P1P2 | — — |7 _
—_— - | —
& ; - Pip2 |_———T |
//
)
0 35 70 105 140 160 175 190 210 240 275

(500)  (1000)  (1500)
Pressure in bar (psi)
Total hydromechanical power loss is the sum of each section at its

operating conditions.

(2000) (2175)(2500)(2700) (3000) (3500)  (4000)

Lp. Noise level {db(A)} 1m ISO 4412

(318)

(272)

(227)

(182)

(136)

(90)

(45)

80

75

70

65

60

1400

1200

1000

800

600

400

200

Direction of rotation
(view on shaft end)

R - clockwise
L - counter-clockwise

NOISE LEVEL (TYPICAL)
VT6CCM - B22 - B22

Inlet pressure 0.9 bar abs
Viscosity 32 cSt

n = 1000 RPM
- — n =1500 RPM
— Lw = Lp + 8 db (A) —
-
—
—
—
— /
//
—

,—//// 7
\/

10 50 100 140 175 210 240
(145) (725) (1500) (2000) (2500) (3000)  (3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging
at the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

Fa

Shaft keyed N° 1

e

600 1000 1200 1500 1800 2000 2500 2800
Speed n (RPM)

Maximum axial load permissable Fa = 800 N (180 Lbs)

[ BV-1-1_ T

DP



HIGH PERFORMANCE VANE PUMP VT6CCM

3/8-16 UNCx0.75 DEEP -4 HOLES
(M10x19.0 DEEP)

2.81
0.50 (71.4)
(12.7) VT6CCMW
0.31
1.031 7.9) 1.79 1.60,
E-4 HOLES E-4 HOLES 1,031 @5.5) @0.7)
(26.2)] 1] 0.31 0.31
" KEY 0.250/0.248 (7.9) (7.9)
I S N S e Z (6.35/6.30)
. 1.
B Ma??és; DEEP
’5 @ .
« 4+ - >
o 25 %3 0.06x45° 0.06x45°
Q5 =S|~ (1.5x45°) (1.5x45°)
_ Ol o
Sls ~|¥
fE ) ooense | S &
(1.5x45°) S Shaft code 3 Shaft code 5
25‘ 4 SAE BB splined shaft SAE B splined shaft
@54 Class 1-J4980b Class 1-J498b
oc Shaft code 2 16/32 dp. 15 teeth 16/32 dp. 13 teeth
MOUNTING TORQUE ?§1ﬂ'.q|:1s) (Keyed SAE BB) e P e el
Flat root side fit Flat root side fit
10.46 2.29
(265.6) (58.2)
3.47 .00 1.50
(88.2) (101.6) (38.1) 038
9.7)
0.25MAX. KEY 0.1875/0.1855
6.35) / (4.762/4.712)
o5 1.25 ol&
o2 ° 7 [(31.8) = Se
/ g
N 8= g2 — |
_ 8t g8
| M — - R
3le 0.06x45°, <8 82
NS (1.5x45° BN =
oy 2
Oy S|~
58 glB
0.05x45°,_ | gy 23 MOUNTING TORQUE 117 ft.lbs
(1.3x45°) S ole (159 Nm)
Shaft code 1
(Keyed no SAE)
PORT A B c D E
S |419(106.4) | 2.44 (61.9) | 3.00 (76.2) 5/8-11UNCx1.12 DEEP
(M16 x 28.4 DEEF) Shaft torque limits in3/rev x psi (ml/rev x bar)
s 1/2-13UNCx0.94 DEEP Shaft Vp x p max. (P1+P2)
3.50 (88.9) | 2.00(50.8) | 250 (63.5) M12 x 24.0 DEEP 1 12666 (14300)
P1 1874 (47.6) |0.874 (222) | 0.75(19.0) | 3.00(76.2) | 3/8-16UNCx0.75 DEEP : ;Zgg g;gigi
P2 | 206(524) | 1.03(262) | 1.00(@254) | 294 (74.7) (M10x19.0 DEEP) 5 18246 (20600)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow g & n = 1500 rpm Input power p & n = 1500 rpm

Series|Displacement Vp|p = 0 bar (0 psi)[p = 140 bar (2000 psi)] p = 240 bar (3500 psi)| p = 7 bar (100 psi)[p = 140 bar (2000 psi)[p = 240 bar (3500 psi

port insrev | cmerev | opm | Ipm | gpm ipm | gpm [ ipm he [ kw [ hp kw | hp ow

B03 0.66 10.8 429 | 162 | 283 10.7 - - 174 | 13 7.1 5.3 - -

B05 1.05 17.2 6.83 | 25.8 | 5.37 20.3 4.17 15.8 1.88 | 1.4 10.06 7.5 | 16.36 12.2

B06 1.30 21.3 8.44 | 31.9 7.01 26.5 5.82 22.0 2.01 1.5 11.94 8.9 19.71 14.7

B08 1.61 26.4 1048 | 39.6 | 9.02 34.1 7.83 29.6 215 | 1.6 14.35 10.7 | 22.93 17.7

P1 B10 2,08 34.1 1352 | 51.1| 12.08 45.7 | 10.89 412 228 | 1.7 18.64 134 | 29.90 22.3

B12 2.26 37.1 14.71| 55.6 | 13.28 50.2 | 12.08 45.7 228 | 1.7 19.31 144 | 32.32 24.1

& B14 2.81 46.0 18.25| 69.0 | 16.79 635 | 15.60 59.0 255 | 1.9 | 23.60 17.6 | 39.56 29.5

B15 3.08 50.5 20.00| 75.6 | 18.62 70.4 | 17.46 66.0 2.68 | 2.0 25.61 19.1 42.91 32.0

P2 B17 3.56 58.3 23.12| 87.4 | 21.69 82.0 | 20.50 77.5 2.82 21 | 29.37 219 | 49.48 36.9

B20 3.89 63.8 25.32| 95.7 | 23.86 90.2 | 22.67 85.7 295 | 22 | 31.92 23.8 53.91 40.2

B22 4.29 70.3 27.88 | 105.4 | 26.45 100.0 | 25.26 95.5 308 | 23 | 35.00 26.1 | 59.14 44.1

B25" 4.84 79.3 31.46 |118.9 | 30.02 1135 | 28.83 | 109.0 335 | 25 | 39.16 29.2 | 66.38 49.5

B28"?| 542 88.8 | 35.24 (1332 | 33.78 127.7 | 32.93 [124.5 375 | 2.8 | 43.85 32.7 | 65.04 48.5

B31"?| 6.10 100.0 39.68 | 150.0 | 38.22 1445 | 37.38 | 141.3 375 | 2.8 | 4895 365 | 72.95 54.4

S BM-1-2 ]

1) B25-B28-B31 = 2500 R.PM. max.

2) B28-B31= 210 bar (3000 psi) max. int.

-- Not to use because internal leakage greater than 50% theoretical flow.




HIGH PERFORMANCE VANE PUMP VT6CCM

1.92
(48.7)
0.46
(11.7)
KEY 0.250/0.248
1.25 (6.35/6.30)
(31.8)
M8x0.63 DEEP.
(16.0)
|~ 1l
ge 2
o|n —~
=N
gs =N
=
0.06x45° | QS
(1.5x45%
Shaft code R
2.19
(55.5)
0.31
KEY 0.312/0310

(7.94/7.89)

T (7.9)
1.50
(38.1)

M8x0.63 DEEP

(16.0)

Py P
<52 é ~
S 0
ge &e

006x45°_| gl

(1.5x45%)

Shaft code W
1.17
45.00| VT6CCP
0.46

1.02
(26.0)

0.06x45°
(1.5x45°)

Shaft code 3
no SAE splined shaft
Class 1-J498b

16/32 dp. 13 teeth
30° pressure angle
Flat root side fit

*Drain hole between double Shaft seals

3.50
(89.0)
0.35
(9.0)
KEY 0.394/0.3393
2.00 (10.00/9.985)
(50.8)
B M12x0.945 DEEP.
/ (24.0)
H
n
oopuse | &2 g’g‘
(1.5%45°) gg % 5
—|a
Q2
Shaft code V
KEY 0.250/0.248
(6.35/6.30)
M8x0.63 DEEP
(16.0)
gy g
g S|~
N 0 g
Slw ~| %2
8o =R
0.06x45° g =
(1.5x45°) o=
Shaft code X
1.79
7o) VT6CCP
0.46
(11.7)
0.96
(24.5)
0.06x45°
(1.5x45°)
(8.8)
Shaft code 4

SAE BB splined shaft
Class 1-J498b

16/32 dp. 15 teeth
30° pressure angle
Flat root side fit

3.63
(92.2)

2.16
(55.0)

VELJA

0.234/0.233
(5.96/5.93)

©1.255/1.254
(31.89/31.87)

©1.393/1.374 |
(35.40/34.90)

Shaft code S

Shaft code T

SAE J718C

540 rpm power take-off
For Farm Tractor applic:

VT6CCP

0.09x45°
(2.3x45°)

Shaft code 6
non SAE splined shaft
Class 1-J498b

12/24 dp. 14 teeth
30° pressure angle
Flat root side fit

DIN 5462
B8x32x36

0.34/0.33
(8.64/8.58)

©1.37/1.36
(34.87/34.70)

1.10/1.09
(28.14/27.89)

ation

217
031 _| (552

0.09x45°
(2.3x45°)

Shaft code Q
SAE C splined shaft
Class 1-J498b
12/24 Dp. 14 Teeth
30° Pressure angle
Flat root side fit

Shaft torque limits in3/rev x psi (ml/rev x bar) Shaft torque limits in3/rev x psi (ml/rev x bar)
Shaft Vp x p max. (P1+P2) Shaft Vp x p max. (P1+P2)
R 16032 (18100) D 3 18246 (20600)
VT6CCMW \ 28937 (32670) 4 28937 (32670)
w 28937 (32670) 6 28937 (32670)
X 22500 (25400)

DP



DP

HIGH PERFORMANCE VANE PUMP VT6CCZ

VI6CCZ * -B22 -B08 - X RO00 - A
Series - SAE B 2 boltsj
Mounting flange J744 ¢ m m

One letter can be added to specify
special parts in series

Cam ring for "P1" & "P2"
Volumetric displacement cm3/rev (in3/rev)

'!-

*BO3/RO3 = 10.8 (0.66) B15/R15 = 50.5 (3.08)
BO5/R05 = 17.2 (1.05) B17/R17 = 58.3 (3.56)
BO6/R06 = 21.3 (1.30) B20/R20 = 63.8 (3.89)
BO8/R08 = 26.4 (1.61) B22/R22 = 70.3 (4.29)
B10/R10 = 34.1 (2.08) B25/R25 = 79.3 (4.84)
B12/R12 = 37.1 (2.26) B28/R28 = 88.8 (5.42)
B14/R14 = 46.0 (2.81) B31/R31 = 100.0 (6.10)

VELJAN

*

00
‘( E Modification

—— Mounting W/connection variables

P1=1". 5=3P1=1".5=2%"
P2 qn 3/4:. 1) q" 3/4.. 1)

~odal Unc | 00 |01 10 | 1
[Metrici om [wo [ 1M [ w1

1) for 46 ml/rev max.

2) for 126 ml/rev max.

The large cartridge must be always
mounted in the front.

*B'-  for Mobile

'R'- for Mobile - spring assisted
Type of shaft
X - keyed
W - keyed

V - keyed

S - Splined (DIN 5462)

Seal
1-81 (for mineral oil)

4 - S4 (for fire resistant fluids)

5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Z - Splined
Direction of rotation (view on shaft end)

R - clockwise
L - counter-clockwise

INTERNAL LEAKAGE (TYPICAL)

Porting combination (see page BM-1-5)
00 - standard

NOISE LEVEL (TYPICAL)
VT6CCZ - B22 - B22

(65) 24 80
e N Inlet pressure 0.9 bar abs
= (5 21 24cst b Viscosity 32 cSt
g_ — — 10cSt Pz < n = 1000 RPM
(5] / o - —n = 1500 RPM
= (50 18 % N 75— Lw =Lp + 8db (A) —
£ L £ —
S 4 —
= @0 15 T L —
c ~ —~
= v = — /
J P < -
g @o) 12 P1-P2 o 7
e J = —
) — —
o e |~ - -
S o 9 ] L —
< Ve L ?
] L 2
= 09 6 — - P1-P2 g 65
£ / / =)
) 4
2 (o 3 - /
0 60
0 35 70 105 140 160 175 190 210 240 275 10 50 100 140 175 210 240
(500)  (1000)  (1500) (2000) (2175)2500)(2700) (3000) (3500) ~(4000) (145) (725) (1500) (2000) (2500) (3000)  (3500)

Pressure in bar (psi)

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or Double pump noise level is given with each section discharging at
viscosity if internal leakage is more than 50% of theoretical flow. the pressure noted on the curve.

Total leakage is the sum of each section loss at its operating conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

PERMISSIBLE RADIAL LOAD

5
S — Shaft code X
— —— n=1500rpm (24 cSt)
n = 1000 rpm h X
4 (800) 4000 Shaft code
F
a . (700) 3500| N\
[
< 3 3 (600) 3000 SR - ke
0 1 — = N
o —_— = ~ \
@ P1-P2 | — T~ 500) 2500 > >
»n —_ c (500) ~ N I~ =
o _— - = N ~ = |
T 2 — — t (400) 2000 R S B—— FAS 500N
< - = -
2 Pip2 | —| 7 3 S~ ~ RS =~ | EA=T750N
— b
S —— Lt S (800) 1500 < <2 = = Z _|Fa= 1000N
- Pip2 | — S~ =+ - =1
1 (200) 1000 ST =—C
T T~ = = — {FA=1250N
(100) 500 === Fa= 1500N|
0 0
0 35 70 105 140 160 175190 210 240 275 400 600 1000 1200 1500 1800 2000 2500 2800
(500)  (1000)  (1500) (2000) (2175)2500)(2700)(3000) (3500) ~(4000)

Pressure in bar (psi)
Total hydrodynamic power loss is the sum of each section at its
operating conditions.

— VSRR

Speed n (rpm)




HIGH PERFORMANCE VANE PUMP VT6CCZ

(800) 4000
(700) 3500
(600) 3000
(500) 2500
(400) 2000

(300) 1500

Load F in N (Ibs)

(200) 1000

(100) 500

PERMISSIBLE RADIAL LOAD PERMISSIBLE RADIAL LOAD
Shaft code V Shaft code W
Shaft code V 2000 Shaft code W
== L| - =
Ll l 3500 I i
i e IR NN B e
R
~ :\ ~ 2500 N R~
SO Te— SO PN ITT——
SN ORI SFETT 2000 ~ ~ L RN S S FA<500N.|
R R T===———— | FAS500N Sl v~ S e FA= 750N
~L SN L "=~ TFA=750N | 1500 Sa -
Rt O R R [Fa= 1000N RN
T~ T ==~ _ JFA=1250N 1000 =1 ==
TS = oL FA=1500N 500 S
0
400 600 1000 1200 1500 1800 2000 2500 2800 400 600 1000 1200 1500 1800 2000 2500 2800
Speed n (rpm) Speed n (rpm)

These curves permit to simultaneously check the maximum permissible radial and axial load on the shaft involved. Those load value are determined
for 10000 hours bearing lifetime at operating under Fa and F given. To get information for a different lifetime the radial load corrected is.

If Fa is smaller than minimum axial force on the curves then

Correct F =

F curve

10000

LH = Lifetime in hours

If Fa is higher than minimum axial force then F radial load is :

Correct F =

F curve

1
L H Required Y3
10000

Porting Diagrams

P1-P2  P1-P2  S-P1-P2 P1-P2 S-P1 S-P1
. . . z. .

P P2 P P2 P1 P1 P2

,._
23 [(Oe)s
P2
P1 P2P1 S-P1P2 S-P1 S-P1 P2S-P1
’iiiﬁi'ii'

VT6CC/VT6CCM -VT6CCSH-VT6DC/VT6DCM -VT6EC/VT6ECM-VT6CP-VT6GCC
VT7BB/VT7BBS-VT7QCC-VT7DB/VT7DBS-VT7QDC
VT7EB/VT7EBS-VT7QEC
VT67CB-VT67DB-VT67EB-VT67BB-VT67CB-VT67EC

P1 P1 P1 P1 P1
[——] [——] [——] [——] [——]
o o e i
=

S P2 S

1 12 13 14 15

P1-P2  P1-P2 S-P1-P2 P1-P2 S-P1 S-P1 S-P1

B G EE Engi GHD &

VT6DDS-VT6ED/VT6EDM-VT6EES
VT7DD/VT7DDS-VT7ED/VT7EDS
VT7EE/VT7EES

DP



HIGH PERFORMANCE VANE PUMP VT6CCZ

3/8-16 UNCx0.75 DEEP -4 HOLES

(M10x19.0 DEEP)

3.50
0.50 (89.0)
(12.7)
0.35
(9.0)
3 E-4 HOLES 1.031
E-4 HOLES )
/ KEY 10.000/9.985
) 1.97 (0.394/0.393)
(50.0)
\ / M12x0.94 DEEP
5 -0\ @4.0)
< + JbdL- A8l -1 S||la H-(P1) - H- — - — P
D |~
©
CE ]| ga
- (o <|F
ols (<21
H oosase | &S &g
(1.5x45°) ale
MOUNTING TORQUE 45 ft.Ibs Shaft code V
(61 Nm)
10.46 2.52
(265.6) (64.1)
3.47 4.00 1.50
(88.2) (101.6) (38.1) 0.38
9.7)
0.25MAX. | KEY 0.250/0.248
y 6.35/6.30
©3%) 1/ ¢ ) M8x0.63 DEEP
(16.0)
sz 1,94
qs e @9.2) | -
| 8|8
I ol 2|5
- 4E‘U/ g 2 g 2
- 8t 83
4|5 ©|=~
— — Q|2 0|®
2N 0.06x45° o~ z ol
@ 0.06x45_ | I
2 (1.5x45% 8 § 3 Si=
S8 =g
g8 =~
_0.05x45° || =g =8
(1.3x45°) Q=
Shaft code X
Shaft torque limits in3/rev x psi (ml/rev x bar)
Shaft Vp x p max. (P1+P2)
X 22500 (25400)
v 28937 (32670)
w 28937 (32670)
0.234/0.233
PORT A B C D E (5.96/5.93)
‘
S |419(106.4) | 2.44(61.9) | 3.00(76.2) 5/8-11UNCx1.12 DEEP Z
(M16 x 28.4 DEEP)
& 1/2-13UNCx0.94 DEEP
3.50 (88.9) | 2.00(50.8) | 2.50 (63.5) (M12 x 24.0 DEEP)
P2
1.874 (47.6) | 0.874 (22.2) | 0.75(19.0) | 3.00(76.2) | 3/8-16UNCx0.75 DEEP T
P2 |206(524) | 1.03(262) | 1.00(25.4) | 2.94 (74.7) (M10x19.0 DEEP) e

¢¢ VELJAN

2.19
(55.5)
0.31
(7.9) KEY 0.312/0310
1.50 (7.94/7.89)
b [[(38.1)
M8x0.63 DEEP
(16.0)
@S
|~ E g
oo o
ge e
0.06x45° -5
(1.5x45°) Q=
Shaft code W

01.255/1.254
(31.89/31.87)

MOUNTING TORQUE 117 ft.lbs

(159 Nm)

3.00
(76.2)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

M12 x24,0 DEEP

01.393/1.374
(35.40/34.90)

0.234/0.233

21.256/1.254

(31.89/31.87)

Shaft code Z

SPLINE B8x32x36
AS PER DIN 5462

Pressure Volumetric Flow q & n = 1500 rpm [ Input power p & n = 1500 rpm |
Series|Displacement Vp|p = o bar (0 psi) [p = 140 bar (2000 psi)[p = 240 bar (3500 psi)|p = 7 bar (100 psi)|p = 140 bar (2000 psi)lp = 240 bar (3500 psi)
port indrev| cm¥rev | gpm | Ipm | gpm Ipm gpm Ipm | hp kw hp kw hp kw
B03 0.66 10.8 429 | 162 283 10.7 - - 1.74 1.3 7.11 5.3 - -
B05 1.05 17.2 6.83 | 258]| 537 20.3 417 15.8 | 1.88 1.4 | 10.06 75 | 16.36 12.2
B06 1.30 21.3 8.44 | 319| 7.01 26.5 5.82 220 | 2.01 15 | 11.94 89 | 19.71 14.7
B08 1.61 264 |1048| 39.6| 9.02 34.1 7.83 296 | 2.15 1.6 | 14.35 10.7 | 22.93 17.7
P1 B10 2.08 341 | 1352 | 51.1| 12.08 45.7 10.89 412 | 2.28 1.7 | 18.64 13.4 | 29.90 22.3
B12 2.26 371 | 1471| 55.6| 13.28 50.2 12.08 457 | 2.28 1.7 19.31 144 | 3232 24.1
& B14 2.81 460 |18.25| 69.0| 16.79 63.5 15.60 59.0 | 2.55 19 | 23.60 17.6 | 39.56 295
B15 3.08 505 |20.00| 756 18.62 70.4 17.46 660 | 268 | 20 | 2561 191 | 42.91 32.0
P2 B17 3.56 583 |23.12| 87.4| 21.69 82.0 20.50 775 | 2.82 21 | 29.37 21.9 | 49.48 36.9
B20 3.89 638 |2532| 95.7| 23.86 90.2 22.67 857 | 295 | 22 | 31.92 238 | 53.91 40.2
B22 4.29 703 | 27.88 | 105.4| 26.45 | 100.0 25.26 955 | 3.08 | 23 | 35.00 261 | 59.14 44.1
B25" 4.84 79.3 | 31.46 | 1189 30.02 | 1135 28.83 109.0 | 335 | 25 | 39.16 29.2 | 66.38 49.5
B28"?| 5.42 88.8 |35.24 | 133.2| 33.78 |[127.7 32.93 1245 | 3.75 2.8 43.85 32.7 | 65.04 48.5
B31"?| 6.10 100.0 | 39.68 | 150.0| 38.22 | 144.5 37.38 1413 | 375 | 28 | 4895 365 | 72.95 54.4

1) B25-B28-B31 = 2500 R.PM. max.

2) B28-B31= 210 bar (3000 psi) max. int.

-- Not to use because internal leakage greater than 50% theoretical flow.

S BM-1-6 ]




HIGH PERFORMANCE VANE PUMP VT6GCC

VT6GCC - B22 - B08 - 6 R

I
1
|

Series
Modifications
Cam ring "P1" & "P2"
Volumetric displacement cm3/rev (in3/rev) Mounting W/connection variables
B03 = 10.8 (0.66) B15 = 50.5 (3.08) P1=1"-8§=3"P1=1"- S=2‘/z"2—)I
B0O5 = 17.2 (1.05) B17 = 58.3 (3.56) P2 1" |3/4" 1" 3/4""
B06 = 21.3 (1.30) B20 = 63.8 (3.89) el Unc | 00 [o1 10 11
BO8 = 26.4 (1.61) B22 = 70.3 (4.29) [Metric] oM [mo | 1M M1
B10 = 34.1 (2.08) B25 = 79.3 (4.84) 1) for 46 ml/rev. max.
B12 = 37.1(2.26) B28 = 88.8 (5.42) 2) for 126 ml/rev max.
B14 = 46.0 (2.81) B31 = 100.0 (6.10) The large cartridge must be always
mounted in the front.
Type of shaft —— Sealclass
6 - splined (DIN 5462) 1-81
Direction of rotation (view on shaft end) Design letter
R - clockwise Porting combination (see page BM-1-5)
L - counter-clockwise 00 - standard
INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)

VT6GCC - B22-B22

Internal leakage Qs in Ipm (Gpm)

(6.5) 24 80
Inlet pressure 0.9 bar abs
24 ¢St - N Viscosity 32 cSt
(5.5) 21 < n = 1000 RPM
— — 100St // g — — n = 1500 RPM
(5.0 18 @ 75 Lw =Lp +8db (A) —
s £ _ —
(4.0 15 -
g = ~
P < - —
(3.0) 12 a 70
— ) ~
7 - - -
@0 9 ] e
Ve L H =
pd — °
(15) 6 - O 65
(7]
- — 5
1.0 3 =z
L g L —
0 60
0 35 70 105 140 160 175190 210 240 275 10 50 100 140 175 210 240
(500)  (1000)  (1500) (2000) (2175)(2500)(2700) (3000) ~(3500) ~(4000) (145) (725) (1500) (2000) (2500) (3000)  (3500)
Pressure in bar (psi) Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating conditions.

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
5 (1900) 9000
n = 2800 rpm e
- —— n=1500rpm (24 cSt) (1800) 8500 F
. n = 1000 rpm \ ]
(1700) 8000 il
-
P 0
o o
£ < (1600) 7500
K4 3 — 1= =
Lo c
s | —t £ (1500 7000
@ R w
2 — -
- 2 = — ® (1400 6500
[ -
z =7 S
o - | 4 —
o = L (1300) 6000
1 -
L — (1200) 5500
o (1100) 5000
o 35 70 105 140 160 175 190 210 240 275 600 1000 1200 1500 1800 2000 2500 2800

(500)  (1000)  (1500)  (2000) (2175)(2500)2700)(3000) (3500)  (4000) Speed n (rpm)
Pressure in bar (psi)
) ) . ) Life time 3000 hours when 70% of the time at 500 N and 30% at max. load.
Total hydromechanical power loss is the sum of each section at its

operating conditions.

[ BV-1-7 T




DP

HIGH PERFORMANCE VANE PUMP VT6GCC

E-4 HOLI

ES

E-4 HOLES

3/8-16 UNCx0.75 DEEP-4 HOLES

(M10x19.0 DEEP)

VELJAN

(26.2)
MOUNTING TORQUE 45 ft.lbs
61 Nm) MOUNTING TORQUE 117 ft.Ibs
(159 Nm)

(25.4)

js13

12.56 2.16
@191 5.0 1.12x30°
S
11.09 14 (3.0x30°)
@817) (6789 0.08/0.07
M12x0.79 DEEP (1.95/1.85)
#00) 1.022/1.021
(25.96/25.95)
| ©0.323/0.316
g § (8.20/8.05)
& 3| o
= o=@
- sig
< a8 + = - 88
} I 1 + 8 g
3|c3 5|3
"= — a3
js13 o2
518
%o — ©.0) “\3
(14.0) 4 HOLES 58
1.45
" [36.8)
Shaft Code - 6
DIN5462B8x32x36
PORT A B © D E
S |419(106.4) | 2.44(61.9) | 3.00 (76.2) 5/3"(‘“71’\:3‘3“2;‘21 ';EE’;)
X .
S |350(88.9 | 2.00(50.8) | 2.50(63.5) 1/2-13UNCx0.94 DEEP
: : : : ' . (M2 x 24.0 DEEP) Shaft torque limits in3/rev x psi (ml/rev x bar)
P2 1.88 (47.7) 0.88 (22.2) 0.75 (19.0) 3.00 (76.2) 3/8-16UNCx0.75 DEEP Shaft | Vp x p max. (P1+P2)
21 (3267
P2 | 206(524) | 1.03(262) | 1.00(254) | 294 (74.7) (M10x19.0 DEEP) 6 | 36921 (32670)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow g & n = 1500 rpm [ Input power p & n = 1500 rpm |
Series| Displacement Vp |5 = ¢ bar (0 psi)[p = 140 bar (2000 psi)| p = 240 bar (3500 psi)|p = 7 bar (100 psi)[p = 140 bar (2000 psi)p = 240 bar (3500 psi)
port in3/rev | cm3/rev | gpm | Ipm| gpm Ipm gpm Ipm hp kw hp kw hp kw
B03 0.66 10.8 | 429 | 162 2383 10.7 - - 1.74 | 1.3 7.1 5.3 - -
BO5 1.05 172 | 6.83 | 258 | 537 20.3 417 158 | 1.88 | 1.4 | 10.06 75 | 16.36 12.2
B06 1.30 213 [ 844 | 31.9| 7.01 265 5.82 200 | 201 | 15 11.94 89 | 19.71 14.7
B08 1.61 264 [1048 | 39.6 | 9.02 34.1 7.83 296 | 215 | 1.6 | 14.35 10.7_| 22.93 17.7
P1 B10 2.08 341 [1352 | 51.1| 12.08 457 | 10.89 412 | 228 | 1.7 | 18.64 134 | 29.90 223
B12 2.26 371 |14.71| 55.6 | 13.28 502 | 12.08 457 | 228 | 17 19.31 144 | 3232 24.1
& B14 2.81 460 |18.25| 69.0| 16.79 635 | 15.60 590 | 255 | 19 | 2360 17.6 | 39.56 295
B15 3.08 50.5 |20.00 | 75.6 | 18.62 704 | 17.46 660 | 268 | 2.0 | 2561 19.1 | 42.91 32.0
P2 B17 3.56 583 |23.12 | 87.4| 21.69 82.0 | 2050 775 | 282 | 21 | 2037 | 219 | 49.48 36.9
B20 3.89 638 [2532 | 957 | 23.86 90.2 | 2267 857 | 295 | 22 | 31.92 238 | 5391 40.2
B22 4.29 70.3 [27.88 | 105.4 | 26.45 100.0 25.26 95.5 3.08 2.3 35.00 26.1 59.14 44.1
B25" 4.84 793 |31.46 [118.9 | 30.02 | 1135 | 2883 | 1090 | 335 | 25 | 39.16 292 | 66.38 495
B28"%| 542 88.8 |35.24 [133.2| 33.78 | 127.7 | 32.93 1245 | 375 | 28 | 4385 32.7 | 65.04 48.5
B31"? 6.10 100.0 |39.68 | 150.0 | 38.22 1445 | 37.38 1413 | 375 | 2.8 | 48.95 365 | 72.95 54.4

1) B25-B28-B31 = 2500 R.PM. max.

BM-1-8

2) B28-B31= 210 bar (3000 psi) max. int.
-- Not to use because internal leakage greater than 50% theoretical flow.




HIGH PERFORMANCE VANE PUMP VT6DCM

VT6DC *W - B38-B2 1 R 00 - C 1 00 *
Series = Modifications
M= Mobile 1 shaft seal Mounting W/connection variables
P= Mobile 2 shaft seal UNC METRIC
00 | 01 | MO
severe duty shaft only P2 | 1" [3/4"| 1" | 3/4"
Cam ring for "P1" Seal cl
Volumetnc displacement cm3/rev (in3/rev) 1-81 (for mineral oil)
*B14/R14 = 47.6 (2.90) B35/R35 = 110.0 (6.77) 4 - S4 (for fire resistant fluids)
B17/R17 = 58.2 (3.55) B38/R38 = 120.3 (7.34) ) ’ ) ! )
5 - S5 (for mineral oil and fire resistant fluids;
B20/R20 = 66.0 (4.03) B42/R42 = 136.0 (8.30) ] ( ) DP
B24/R24 = 79.5 (4.85) B45/R45 = 145.7 (8.80) Design letter
B28/R28 = 89.7 (5.47) B50/R50 = 158.0 (9.64) Porting combination (see page BM-1-5)
B31/R31 = 98.3 (6.00) B61/R61 = 190.5 (11.62) 00 - standard
*1B'- for Mobile 'R'- for Mobile - spring assisted Direction of rotation
. o (view on shaft end)
Cam ring for "P2 R - clockwi
Volumetric displacement cm3/rev (in3/rev) - clockwise )
BO3/R03 = 10.8 (0.66) B15/R15 = 50.5 (3.08) L - counter-clockwise
BO5/R05 = 17.2(1.05) B17/R17 = 58.3 (3.56) Type of shaft ——— Type of shaft
BO6/R06 = 21.3 (1.30) B20/R20 =  63.8 (3.89) P version 1 - keyed (SAE O)
BO8/R08 = 26.4 (1.61) B22/R22 = 70.3 (4.29) 3 - Splined (no SAE) 2 - keyed (no SAE)
B10/R10 = 34.1(2.08) B25/R25 = 793 (4.84) MW severe duty 3 - splined (SAE C)
B12/R12 = 37.1 (2.26) 22?;22? - 888 (5:42) 5 - keyed (no SAE) 4 - splined (no SAE)
*B14/R14 = 46.0 (2.81) = 100.0 (6.10) T - Splined (SAE J718¢)
'B'- for Mobile 'R'- for Mobile - spring assisted V - keyed
NOISE LEVEL (TYPICAL)
INTERNAL LEAKAGE (TYPICAL) VT6DCM- B38-B22
(8.0) 32 80
©— — 10cst Inlet pressure 0.9 bar abs
24 cst P1 o Viscosity 32 cSt
E (7.0) 28 g n = 1000 RPM —
Q. / o — — n = 1500 RPM //
S 60 24 @ Lw = Lp + 8 db (A) —
£ v € P
‘_:1 (6.0 20 / L~ . : — - -
; 4 P2 ~ g N _ - /
O (40 16 — % —
(] - 1 —_—
E @3.0) 12 - - = %‘ /
E 2 1T _ 8 "
w 20 8 vd /P2 + ] 65
£ agrs L —T ] S 7
2o 4 S =l | z
[ - .
= P = 5
0 60
0 35 70 105 140 160 175 190 210 240 275 10 50 100 140 175 210 240
(500)  (1000)  (1500)  (2000)(2175) (2500§2700)(3000)  (3500) ~ (4000) (145) (725) (1500) (2000) (2500) (3000) (3500)
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or Double pump noise level is given with each section discharging at
viscosity if internal leakage is more than 50% of theoretical flow. the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECAHNICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
6 n = 2400 rpm T
n = 1500 rpm (24 cSt)
s n = 1000 rpm (454) 2000 [—
P el e S — S P P1 ]
(409) 1800 (— Fa
E 8 Shatt keyed N1
- 5 P1 (363) 1600 (—
a —_'_'_'_'__________._—---—P1 1 n
§ 1 — | g (318) 1400
= o z
2 ) 35 70 105 140 160 175 190 210 240 £ (272 1200
8 (500)  (1000)  (1500)  (2000)(2175) (2500(2700)(3000)  (3500) w
4 B (227 1000
n = 2400 rpm [ 3
s| = nliwe om = P — (181) 800
2 - - = =1 ___ 1 P2 —
pu— ______________—- iy — (136) 600
= I B -
— T | ©1) 400
0
0 35 70 105 140 160 175 190 210 240 275 600 1000 1200 1500 1800 2000 2500
(500) (1000) (1500)  (2000) (2175) (2500§2700)(3000) ~ (3500)  (4000)

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section at its

operating conditions.

Speed n (rpm)
Maximum permissible axial load Fa = 1200 N (270 Lbs)

[ BV-1-9 T




HIGH PERFORMANCE VANE PUMP VT6DCM

7/16-14 UNCx0.88 DEEP- 4 HOLES

¢¢ VELJAN

M12x22.3 DEEP
5/8-11 UNCx1.12 DEEP ( ) éﬁ% VT6DCMW
(M16x28.4 DEEP)4 HOLES 0.62 -
(15.7) 3.28
3.06 3.9
2.441 1.188 0.31 . KEY 0.3126/0.3106
A (62.0) ©0.2) T 7.9 | o031 (7.94/7.89)
- (7.9)
1.50 KEY 0.3126/0.3106
(38.1) (7.94/7.89) 1.925 M8x0.63 DEEP
/ (43.9,)/ (16.0)
o . H ¥
oz ; oD ¢
N 2E 2
=& N~ - a
g¢ 3 N
0 ~ K ©
oc/ | “23.00 | o125/ ' 4_2-2"220 . - e Shaft code 4 58 o8
(76.2) (31.8) -] (2:3x459) Qe no SAE splined shaft SIS
Shaft code 2 Class 1-J498b Shaft code 5
3/8-16 UNCx0.75 DEEP-4 HOLES (keyed no SAE) 12/24 Dp. 14 Teeth (keyed no SAE)
(M10x19.0 DEEP) 30° Pressure angle
11.26 3.29 Flat root side fit
(286.0) (83.6)
4.31 4.50 1.50
(109.5) (114.3) (38.1) ?‘5’3 KEY 0.3126/0.3106
031 (12.7) (7.94/7.89)
7.9
79 | 1l0.25 max M10x0.79 DEEP
/k ‘ >N |1](6.35) (20.0)
= 1.94 o
N IS 32 493 / =~ Q¢
AT |5 =8 S g8 o2
=~ o|©
R 4 [ <&
—d—1-""—"|—"—-7- - — - €=F dl Sl -
- Qe 8e
& o ol % wI&
52 | A 4 000x45° | RS F| Qg 0.09x45°
G \{ (2.3x45°) o = 5 N (2.3x45°)
Sl ®[v
/ 0.05%45° ]~ -Ie Shaft code 3
MOUNTING TORQUE 50 ftlbs (1345  gl& Shaft code 1 VT6DCMW SAE C splined shaft
(68 Nm) (Keyed SAE C) Class 1-J498b
MOUNTING TORQUE 138 ft.Ibs| 12/24 Dp. 14 Teeth
o
Alternate connect.variables (187 Nm) 50 Pressgre a_ngle
T oo&Mo | o1&Mi | 232 . - s 5:Iat root side fit
Al 1.03 (262) [ 0.874 (22.2) 0.50 (59.0) VT6DCP 031 S s"’/g j’:gg .0
B| 206 (52.4) | 1.874_(47.6) 27 ™9 540 rpm power ket s _| _o3s
C| 1.00 (25.4) 0.75 (19.05) 150 For Farm Tractor application © '; CEY 0.394/0.3393
: =3 .
[shaft torque limits in?/r i(ml/revxbar) g 0 | oo Loz ardes it (10.00/5.985)
Shaft Vp x p max. (P1+P2) H T 23x459 7.0) Qo M12x0§:g)DEEP
1 38299 (43240) — N L N :
2 30638 (34590) ) Shaft code 3 - i -
3,4 54207 (61200) no SAE splined shaft BE
5 49247 (55600) Class 1-J498b o1 107/1.08 3 0::455‘;. L2 3
12/24 dp. 14 teeth 107/1. 45" gl8 2|8
i 58990 (66600) 0.40 30° pre:sure ::gle (2814/27.89) Shaft code V =18 E g,
Drain hole between double shaft seals (10.3) flat root side fit

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow q & n = 1500 rpm [ Input power p & n = 1500 rpm

Series|Displacement Vp|p = 0 bar (0 psi)[p = 140 bar (2000 psi)jp = 240 bar (3500 psi)p = 7 bar (100 psi)p = 140 bar (2000 psiJp = 240 bar (3500 psi

port in3/rev | cm3rev| gpm| Ipm gpm Ipm | gpm Ipm hp kw hp kw hp kw

B4 2.90 476 | 18.88| 71.4 1642 | 621 | 1478 | 559 | 3.08 | 23 2481 | 185 41.03 | 30.6

B17 3.55 58.2 23.1] 87.3 206 | 780 | 1899 | 718 | 3835 | 25 [ 29.77 | 222 4962 | 37.0

B20 4.00 66.0 | 26.19| 99.0 2373 | 897 | 2208 | 835 | 375 | 2.8 | 33.39 | 249 5592 | 41.7

B24 4.80 795 | 3156 119.3 29.10 | 110.0 | 27.46 | 103.8 | 4.02 | 3.0 | 3969 | 296 66.78 | 49.8

B28 5.50 89.7 | 35.58| 1345 3312 | 1252 | 31.48 | 119.0 | 429 | 32 | 4452 | 332 7496 | 559

P1 B31 6.00 98.3 | 39.00| 1475 3653 | 1381 | 34.89 | 1319 | 442 | 33 | 4854 | 362 81.80 | 61.0

B35 6.80 111.0 | 44.04| 1665 4158 | 157.2 | 39.94 | 151.0 | 469 | 35 | 5458 | 407 9213 | 68.7

B38 7.30 120.3 | 47.72| 180.4 4526 | 1711 | 4362 | 1649 | 496 | 37 | 5887 | 439 99.64 | 743

Ba2" 8.30 136.0 | 53.96| 204.0 5150 | 1947 | 49.86 | 1885 | 536 | 4.0 66.25 | 494 | 11224 | 837

Bas" 8.89 1457 | 57.80| 2185 55.34 | 209.2 | 5370 | 2030 | 550 | 4.1 7081 | 52.8 | 12002 | 895

B50"? | 9.64 158.0 | 62.69| 237.0 60.23 | 227.7 59.25 | 224.0 | 5.90 4.4 76.44 57.0 113.98 | 85.0

Be1"Y | 11.62 190.5 | 76.25| 285.7 73.54 | 278.0 - - 616 | 4.6 81.26 | 60.6 - -
B03 0.66 10.8 429| 16.2 283 | 10.7 - - 174 | 13 7.11 5.3 -

BO5 1.05 17.2 6.83| 25.8 537 | 203 417 | 158 | 188 | 1.4 10.06 7.5 16.36 | 12.2

B06 1.30 21.3 8.44| 319 7.01 | 265 582 | 200 | 201 | 15 11.94 8.9 19.71 | 147

B08 1.61 264 | 10.48| 39.6 9.02 | 341 783 | 296 | 215 | 16 1435 | 107 2293 | 17.7

B10 2.08 341 | 1352| 51.1 1208 | 457 | 1089 | 412 | 228 | 17 18.64 | 13.4 2990 | 223

B12 2.26 371 | 14.71| 55.6 13.28 | 502 | 12.08 | 457 | 228 | 17 19.31 | 14.4 3232 | 24.1

B14 2.81 460 | 18.25| 69.0 16.79 | 635 | 1560 | 59.0 | 255 | 1.9 | 2360 | 176 39.56 | 29.5

P2 B15 3.08 50.5 | 20.00| 75.6 18.62 | 704 | 1746 | 66.0 | 268 | 2.0 2561 | 19.1 4291 | 320

B17 3.56 583 | 23.12| 87.4 2169 | 820 | 2050 | 775 | 2.82 | 2.1 29.37 | 219 49.48 | 36.9

B20 3.89 63.8 | 2532| 957 2386 | 902 | 2267 | 857 | 295 | 22 31.92 | 238 53.91 | 40.2

B22 4.29 70.3 | 27.88| 105.4 26.45 | 100.0 | 2526 | 955 | 3.08 | 23 3500 | 26.1 59.14 | 4441

B25 4.84 79.3 | 31.46| 1189 3002 | 1135 | 0883 | 1090 | 3.35 | 25 39.16 | 29.2 66.38 | 49.5

B28” 5.42 88.8 | 35.24| 133.2 33.78 | 127.7 | 3293 |1245 | 375 | 28 4385 | 32.7 65.04 | 485

B31” 6.10 100.0 | 39.68| 150.0 3822 | 1445 | 3738 |141.3 | 375 | 28 4895 | 365 7295 | 54.4

— EVEER

1) B42-B45-B50-B61=2200 RPM max.

2) B28-B31- B50=210 bar (3000 psi) max. int 3) B61 = 120 bar (1740 psi) max. int, B61 = 80 bar (1160 psi) cont.




HIGH PERFORMANCE VANE PUMP VT6ECM

VELJA

VIGEC * Y -066 - B22 1 R 00 - C 1 *
Series Modifications
M= Mobile 1 shaft seal Seal class
P= Mobile 2 shaft seal 1-81 (for mineral oil)
Y- Metric port connection, Omit for UNC 4 - 84 (for fire resistant fluids)
Cam ring for "P1" 5 - S5 (for mineral oil and fire resistant fluids)
Yolumetnc displacement cm3/rev (in3/rev) Design letter
042/R42 = 132.3(8.07) 062/R62 = 196.7 (12.00)
045/R45 = 142.4 (8.69) 066/R66 = 213.3 (13.02) Porting combination (see page BM-1-5) D P
050/R50 = 158.5 (9.67) 072/R72 = 227.1 (13.86) 00 - standard
052/R52 = 164.8 (10.06) 085/R85 = 269.8 (16.46)
057/R57 = 180.7 (11.02) Direction of rotation
*R'-  for Mobile - spring assisted (view on shaft end)
R - clockwise
Cam ring for "P2" L - counter-clockwise
Volumetric displacement cm3/rev (in3/rev)
B03/R03 10.8 (0.66) B15/R15 = 50.5(3.08) L Type of shaft Type of shaft
BO5/R05 = 17.2(1.05) B17/R17 = 583 (3.56) P version 1-keyed (SAE CC)
B06/R06 = 21.3 (1.30) B20/R20 = 63.8 (3.89) ) 2 - keyed (no SAE)
B 3 - Splined (no SAE) Y
BO8/R08 = 26.4 (1.61) B22/R22 = 70.3 (4.29) 3 - splined (SAE C)
B10/R10 = 341 (2.08) B25/R25 = 79.3 (4.84) 4 - splined (SAE CC)
B12/R12 = 37.1 (2.26) B28/R28 = 88.8 (5.42) T - Splined (SAE J718c)
B14/R14 = 46.0 (2.81) B31/R31 = 100.0 (6.10)
*B'- for Mobile 'R'- for Mobile - spring assisted
INTERNAL LEAKAGE (TYPICAL) NOISE LEVEL (TYPICAL)
VT6ECM- 050-B22
(9.0) 36 85
— — 10cSt ~ Inlet pressure 0.9 bar abs
—~ (8.0) 32 24.cSt P1 - Viscosity 32 cSt
£ 3 n = 1000 RPM
(% (7.0) 28 O & ——n f1soo RPM
= L 7} Lw = Lp + 8db (A) =
g_ (6.0) 24 £ |- -
= 7 - —
£ A = —
o (5.0) 20 "2 = < 75 —
(¢ P2 /PZ// o P
8 0 16 = “P1 Z ] /
g v = ° e
g 00 12 — E P A /
3 eo - - ol P2 — é 7
S @O s — — — 2
§ o L 7 » / L 2 //
c 0 4 .
£ Dty g | —
0
0 35 70 105 140 160 175 190 210 240 275 10 50 100 140 175 210 240
(500) (1000) (1500) (2000)(2175)(2500) (2700) (3000)  (3500)  (4000) (145) (725) (1500) (2000) (2500) (3000) (3500)
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or Double pump noise level is given with each section discharging at
viscosity if internal leakage is more than 50% of theoretical flow. the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
6 n = 2200 rpm T T T
— — n=1500rpm (24 cSt)
5 n = 1000 rpm (454) 2000 —
B T
4 = (409) 1800 |—
3 2 N S — g - | _Fa
- T — T Shaft keyed N° 1
1 | (363) 1600 (—
gz 2 @
< a
a1 = (318) 1400
a -
@ o S @) 1200
] 35 70 105 4 160 175 190 210 240 -
ol (500)  (1000) (1500) (2000) (2500) (3000)  (3500) w
e (175)  (2700) B @2 1000
o - ——n =2200rpm I 3
Y mimterodi g 81 00
| P2l |- ——
2 P R = R —— (136) 600
— = —T 7 | —
! ] ©1) 400
0
0 35 70 105 140 160 175 190 210 240 275 600 1000 1200 1500 1800 2000 2200
(500) (1000) (1500) (2000)2175) (2500)2700)(3000) ~ (3500)  (4000)

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section at its

operating conditions.

Speed n (rpm)

Maximum permissible axial load Fa = 2000 N (449 Lbs)

[ BM-1-11 T




HIGH PERFORMANCE VANE PUMP VT6ECM

¢¢ VELJAN

" (34.87/34.70)

1/2-13 UNCx0.92 DEEP-4 HOLES 2.44
3/8-16 UNCx0.75 DEEP (M12x23.4 DEEP) (61.9) sas
(M10x19.0 DEEP) 2.75 2.20 -
031 62.2
4 HOLES 1051 ©9.8) ) (55.9) 0.31 ©22)
(26.2) | - 031 (7.9)
1.50
G ‘ Q (38.1)| KEY 0.3126/0.3106
/ (7.94/7.89)
n Y a— |
:: D -lH- - — = —] —] ‘= -
2s % 0.09x45° 0.09x45°
S s .09X: .|
| @ s S (2.3x45°) (2.3x45°)
3ls B
i L . %+ gr 8 Shaft code 3 Shaft code 4
©1.00 ‘ oras] | (2:3x45°) g2 SAE C splined shaft SAE CC splined shaft
25.4) ’(38%59‘)’ @) Shaft code 2 Class 1-J498b Class 1-J498b
/811 UNCx1 .16 DEEP-4 HOLES (Keyed non SAE) 12/24 dp. 14 teeth 12/024 dp. 17 teeth
= r = 30° pressure angle 30° pressure angle
(M16x29.5 DEEP) Flat root side fit Flat root side fit
13.06 3.58
(331.6) (90.9) 8.386
5.3 X 4.665 206 (213.0)
(136.7) | (118.5) (52.3) 0.50 7.125
12.7
| \ 2-31 (0 25)M AX KEY 0.375/0.373
! ‘ L (79 6 (9.52/9.47)
| 2.00 M10x0.79 DEEP
: (50.8) / (20.0)
<|< | ‘ / /
ol E
NE i
ol 8|
oy & ©
F—F-—-+-—- ale g8 L
- °T g8 n
o|N ] ~ o
3l ola QN |12
s \d 82 2 g 5
H \ sls g2
0.09x45° B 2|2
( (2.3x45%) ale
Mgli':T'NG TORQUE ?gsﬂ;l:) ?1.035?55:) A shaft code 1 MOUNTING TORQUE 138 ft.lbs (187 Nm)
X 3X
3.85
Keyed SAE CC!
2620 ey ) ©7.7) Shaft code T
0.31 2677 SAE J718C
0.09x45° (7.9) 8. 540 rpm power take-off
150 (2.3x45°) For Farm Tractor application ‘:9,
(38.0) VT6ECP Shaft torque limits in3/rev x psi (ml/rev x bar)| 0.34/0.33 &
‘ Shaft Vp x p max. (P1+P2) -% (8.64/8.58) 3
’Shaﬂ code 3 1 64044 (72306) i
———1 =1
S 10 SAE splined shaft 2 30638 (34590) A== ~&
Class 1-J498b S 54207 (61200) i
12/24 dp. 14 teeth L 67582 (76376) ol
30° pressure angle T 63256 (70400) RO.26\ * 2
flat root side fit (UISECE)ES 54207 (61200) 68 a& ©1.107/1.098

Drain hole between double Shaft seals

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

(28.14/27.89)

Pressure Volumetric Flow q & n = 1500 rpm Input power p & n = 1500 rpm
Series|Displacement Vp| p = 0 bar (0 psi)| p = 140 bar (2000 psi)| p = 240 bar (3500 psi) [p = 7 bar (100 psi)p = 140 bar (2000 psiJp = 240 bar (3500 psi)|

port in¥/rev | cmerev | @pm | Ipm [ gpm [ Ipm opm | Ipm | hp [ kw hp kw hp KW
042 8.07 132.3 52.50| 198.5| 49.87 | 1885 47.96 | 181.3 6.97 5.2 66.25 | 49.4 110.77 82.6
045 8.70 142.4 56.51| 213.6| 53.86 | 203.6 51.98 | 196.5 7.24 5.4 70.94 | 529 118.95 88.7
050 9.67 158.5 62.88| 237.7 | 60.24 | 227.7 58.36 | 220.6 7.64 5.7 78.45 | 585 131.82 98.3
052 10.00 164.8 65.40 | 247.2| 62.75 | 237.2 60.87 | 230.1 7.78 5.8 81.53 | 60.8 136.92 | 102.1

= 057 11.02 180.7 71.71| 271.1| 69.07 | 261.1 67.19 | 254.0 8.18 6.1 89.04 | 66.4 143.35 | 106.9
062 12.00 196.7 78.04|295.0 | 75.40 | 285.0 7352 | 2779 8.58 6.4 96.42 | 71.9 162.67 | 121.3
066 13.00 213.3 84.63|319.9| 81.98 | 309.9 80.11 | 302.8 8.98 6.7 | 10420 | 77.7 175.94 | 131.2
072 13.86 2271 90.11| 340.6| 87.46 | 330.6 85.58 | 323.5 9.25 6.9 | 11077 | 826 187.07 | 139.5
085" 16.40 269.8  [107.00| 404.7 | 105.21 | 397.7 - - 978 | 73 87.56 | 653 - s
B03 0.66 10.8 429| 16.2| 2.83 10.7 - - 1.74 1.3 7.1 5.3 --
B05 1.05 17.2 6.83| 25.8| 5.37 20.3 417 15.8 1.88 1.4 10.06 7.5 16.36 12.2
B06 1.30 21.3 8.44| 319 7.01 26.5 5.82 22.0 2.01 1.5 11.94 8.9 19.71 14.7
B08 1.61 26.4 10.48| 39.6| 9.02 34.1 7.83 29.6 2.15 1.6 14.35 | 10.7 22.93 17.7
B10 2.08 34.1 1352 51.1| 12.08 45.7 10.89 41.2 2.28 1.7 18.64 | 13.4 29.90 | 223
B12 2.26 37.1 14.71| 55.6| 13.28 50.2 12.08 45.7 2.28 1.7 19.31 | 14.4 32.32 24.1
B14 2.81 46.0 18.25| 69.0| 16.79 63.5 15.60 59.0 2.55 1.9 23.60 | 17.6 39.56 | 295

P2 B15 3.08 50.5 20.00| 75.6| 18.62 70.4 17.46 66.0 2.68 2.0 25.61 19.1 4291 | 320
B17 3.56 58.3 2312| 87.4| 21.69 82.0 20.50 77.5 2.82 2.1 29.37 | 219 49.48 | 36.9
B20 3.89 63.8 25.32| 95.7| 23.86 90.2 22.67 85.7 2.95 2.2 31.92 | 238 53.91 | 40.2
B22 4.29 70.3 27.88|105.4 | 26.45 | 100.0 25.26 95.5 3.08 2.3 35.00 | 26.1 59.14 44.1
B25 4.84 79.3 31.46| 1189 | 30.02 | 1135 28.83 | 109.0 3.35 25 39.16 | 29.2 66.38 | 49.5
B28® | s5.42 88.8 35.24|133.2| 33.78 | 127.7 3293 | 1245 3.75 2.8 4385 | 327 65.04 | 485
B31® | 6.10 100.0 39.68| 150.0 | 38.22 | 1445 37.38 | 141.3 3.75 2.8 4895 | 36.5 72.95 | 54.4

1) 085 = 2000 RPM max.

— EVEER

2) 085 = 75 bar (1

100 psi) cont. 085 = 90 bar (1300 psi) max. int.

3) B28-B31=210 bar (3000 psi) max. int,

-- Not to use because internal leakage greater than 50% theoretical flow.




HIGH PERFORMANCE VANE PUMP VT6EDM

VIGED* Y - 066 - B38
Series

M= Mobile 1 shaft seal Q

P= Mobile 2 shaft seal

Y - Metric port connection, Omit for UNC

Cam ring for "P1"
Volumetric displacement cm3/rev (in3/rev)

*042/R42 = 132.3 (8.07) 062/R62 = 196.7 (12.00)
045/R45 = 142.4 (8.69) 066/R66 213.3 (13.02)
050/R50 = 158.5 (9.67) 072/R72 227.1 (13.86)
052/R52 = 164.8 (10.06) 085/R85 = 269.8 (16.46)
057/R57 = 180.7 (11.02)

*'R'-  for Mobile - spring assisted

Cam ring for "P2"

Volumetric displacement cm3/rev (in3/rev)

*B14/R14 = 47.6 (2.90) B35/R35 = 110.0 (6.77)
B17/R17 = 58.2 (3.55) B38/R38 = 120.3 (7.34)
B20/R20 = 66.0 (4.03) B42/R42 = 136.0 (8.30)
B24/R24 = 79.5 (4.85) B45/R45 = 145.7 (8.89)
B28/R28 = 89.7 (5.47) B50/R50 = 158.0 (9.64)
B31/R31 = 98.3 (6.00) B61/R61 = 190.5 (11.62)

*B'- for Mobile 'R'- for Mobile - spring assisted

INTERNAL LEAKAGE (TYPICAL)

(9.0) 36

- — — 10cSt

60 & 24 ¢St
g L7
& (70 28 il
E yord

6.0) 24 P
_:( ) // ~ 2
» (60 20 g /,
E (4.0) Al -
g “0 16 2 P1 —
g 60 /:/ /// —
S (30) 12
K] ! & // P2
T (0 8 4 |
c z
8 =
£ 00 4 7

Z
0
0 35 70 105 140 160 175 190 210 240
(500)  (1000) (1500)  (2000)(2175) (2500)(2700)(3000)  (3500)

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating
conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

6= — n = 2200 rpm
— — n=1500rpm (24 cSt)
5 n = 1000 rpm P1 I p——
4 =
3 | Ll e e —— —
P1 —
2
—_ 1
o
=
~ 0
& 0 35 70 105 140 160 175 190 210 240
7 (500) (1000) (1500) (2000)(2175) (2500)(2700)(3000) (3500)
[}
o
~ 6= — n = 2200 rpm
[ — — n=1500 rpm (24 cSt)
g 5 n = 1000 rpm
o
4 ~ - S - ) R e e m——
3
Y AN S — P2 —_
1
0
0 35 70 105 140 160 175 190 210 240
(500) (1000) (1500) (2000)(2175) (2500)(2700) (3000) (3500)

Pressure in bar (psi)
Total hydromechanical power loss is the sum of each section at its
operating conditions.

1

Load F in N (Lbs)

VELJA

0 - Cc 1+
L Modifications
Seal class
1-81 (for mineral oil)

4 - 84 (for fire resistant fluids)
5- S5 (for mineral oil and fire resistant fluids)

Design letter

Porting combination (see page BM-1-5)
00 - standard

Direction of rotation

—Type of shaft
P version
3 - Splined (no SAE)

Lp. Noise level {db(A)} 1m ISO 4412

(863)

(772)

(681)

(590)

(500)

(409)

(318)

(227)

(136)

3800 [—

3400 |—

3000 [—

2600

2200

1800

1400

1000

600

(view on shaft end)
R - clockwise
L - counter-clockwise

Type of shaft

1 - keyed (SAE CC)

2 - keyed (no SAE)

3 - splined (SAE C)

4 - splined (SAE CC)

T - Splined (SAE J718c)

NOISE LEVEL (TYPICAL)

VT6EDM- 050-B38
85

Inlet pressure 0.9 bar abs
Viscosity 32 cSt
n = 1000 RPM
— — n = 1500 RPM
80 Lw =Lp + 8db (A) —
—
—
—
—
—
—
—
75 -
—
-~
-~
L — -
" /
65
10 50 100 140 175 210 240
(145) (725) (1500) (2000) (2500) (3000) (3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

|-Fa
Shaft keyed N° 1

600 1000 1200 1500 1800 2000 2200
Speed n (rpm)
Maximum permissible axial load Fa = 2000 N (449 Lbs)

[ BM-1-13 1

DP



HIGH PERFORMANCE VANE PUMP VT6EDM

¢¢ VELJAN

5/8-11 UNCx1.18 DEEP-4 HOLES 2.44
(M16x30.0 DEEP) 0.69 (61.9)
7/16-14 UNCx0.94 DEEP (17.5) 22
(M12x24.0 DEEP) 4 HOLES 0.31 :20 2.45
1.189 3.06 :é:o;;) 7.9) ’ -
(30.2) (77.8) - —] _.|.0.00x45° .
; - - (2.3x45°) —
N 1.50
- \ | @81 | Ky 0.3126/0.3106
7.94/7.
o < )\ (7.94/7.89)
Y | /
©|& & —
52 & N —
n [ o5 3
: SIS E N 0.09x45° ,U_M
e g« (2.3x45°%) (2-3x45°)
o118 ‘ . gle Shaft code 3 Shaft code 4
(29.5) ©4.00| 21.46, SAE C splined shaft SAE CC splined shaft
(101.6) @7.1) Shaft code 2 Class 1-J498b Class 1-J498b
1/2-13 UNC x0.92 DEEP (Keyed no SAE) 12/24 dp. 14 teeth 12/24 dp. 17 teeth
M12x23.5 DEEP 4 HOLES 30° pressure angle 30° pressure angle
¢ ) Flat root side fit Flat root side fit
14.21 3.58
(361.0) (90.9) 8.386
5.84 ) 5.26 2.06 213.0)
(1482) (133.5) (52.3) 0.50 7125
(127 (181.0)
0.31 KEY 0.375/0.373 3.563
| (7.9) 0.25 MAX. (9.52/9.47) " (905 ]
; _ I (6.35)
/ . T 2.00 M10x0.79 DEEP
s | L ‘ j— 50.8) (20.0)
ol®@ N NSy
8 83 /
k= NS o2 —
N = [ / 28
V] 2|2
- - gs 38
T N N Y R | ge §§ -
= BN o~
22 82 — ° g
™|o P g o|5 é QT
| —38 g — 1
=38 2|@
\ 0.09x45 | 58 B
(2.3x45°) 2= <¢
MOUNTING TORQUE 138 ft.Ibs (187 Nm) 0.05x45° | 58 MOUNTING TORQUE 138 ft.Ibs (187 Nm)
(1.3x45°)
2.44
20y | VTGEDP Shaft code 1 285, Shaft code T
s 0.31 2677 540 rpm power take-off
.l 0.09x45° (7.9) 3 For Farm Tractor application _
~(2.3x45%) g2
-
Shaft torque limits in3/rev x psi (ml/rev x bar) 0.34/0.33 E RS
Shaft Vp x p max. (P1+P2) -OTZ (8.64/8..58) 5 @
1 64044 (72306) (7.0) 2
Shaft code 3 2 30638 (34590) NG}
no SAE splined shaft 3 54207 (61200) e = =
Class 1-J498b 4 67582 (76376) - =
12/24 dp. 14 teeth T 63256 (70400) 83
30°pressure angle  "(yT6EDP) 3 54207 (61200) RO26) Zi@
flat root side fit (6.8) =~ ©1.107/1.098
021 (53) Drain hole between double Shaft seals (28:14/27.89)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure _Volumetric Flow g & n = 1500 rpm Input power p & n = 1500 rpm
Series|Displacement Vp|p = 0 bar (0 psi)| p = 140 bar (2000 psi)| p = 240 bar (3500 psi) p = 7 bar (100 psi)[p = 140 bar (2000 psi) p = 240 bar (3500 psi)|

port in3/rev_| cm3/rev| gpm Ipm| gpm Ipm gpm Ipm | hp kw | hp kw hp kw
042 8.07 | 1323 | 52.50| 198.5| 49.87 1885 | 47.96 | 181.3 | 6.97 52 | 6625 | 49.4 | 110.77 82.6
045 870 | 1424 | 56.51| 213.6| 53.86 2036 | 51.98 | 1965 | 7.24 | 54 | 7094 | 529 | 118.95 88.7
050 9.67 | 1585 | 62.88 | 237.7| 60.24 2277 | 5836 | 2206 | 764 | 57 | 7845 | 58.5 | 131.82 98.3
052 10.00 | 164.8 | 65.40 | 247.2| 62.75 237.2 | 60.87 230.1| 7.78 | 58 | 81.53 60.8 | 136.92 | 102.1

P1 057 11.02 | 180.7 | 71.71| 271.1| 69.07 261.1 | 6719 | 254.0 | 8.18 61 | 89.04 | 664 | 14335 | 106.9
062 12.00 | 196.7 | 78.04| 295.0| 75.40 285.0 | 7352 | 2779 | 858 | 64 | 9642 | 719 | 162.67 | 1213
066 13.00 | 213.3 | 84.63| 319.9| 81.98 309.9 80.11 | 3028 | 898 | 6.7 | 10420 | 77.7 | 17594 | 131.2
072 13.86 227.1 | 90.11| 340.6| 87.46 330.6 | 8558 | 3235 | 925 | 69 11077 | 82.6 | 187.07 | 1395
085"”| 1640 | 269.8 [107.00| 404.7| 105.21 | 397.7 - - 978 | 73 | 8756 | 653 - -
B14 2.90 476 | 18.88| 71.4| 1642 62.1 14.78 559 | 3.08 23 | 2481 | 185 41.03 30.6
B17 3.55 58.2 23.1| 87.3| 20.6 78.0 18.99 718 | 3835 25 | 29.77 22.2 49.62 | 37.0
B20 4.00 660 | 26.19| 99.0] 23.73 89.7 | 22.08 835 | 3.75 28 | 3339 | 249 55.92 41.7
B24 4.80 795 | 31.56| 119.3| 29.10 1100 | 2746 | 103.8 | 402 | 3.0 | 3969 | 296 66.78 498
B28 5.50 89.7 | 35.58 134.5] 33.12 1252 | 31.48 119.0 | 429 | 3.2 | 4452 | 332 74.96 55.9

P2 B31 6.00 98.3 | 39.00 | 147.5| 36.53 1381 | 34.89 | 1319 | 442 33 | 4854 | 362 81.80 | 61.0
B35 6.80 | 111.0 | 44.04 | 166.5| 41.58 157.2 | 39.94 151.0 | 469 | 3.5 | 5458 | 40.7 92.13 68.7
B38 7.30 | 120.3 | 47.72| 180.4| 45.26 1711 | 43.62 | 1649 | 496 | 37 | 5887 | 43.9 99.64 74.3
B42 8.30 | 136.0 | 53.96| 204.0| 51.50 1947 | 49.86 | 1885 | 536 | 40 | 6625 | 49.4 | 112.24 83.7
B45 8.89 | 1457 | 57.80| 218.5| 55.34 209.2 | 5370 | 203.0 | 550 41 | 7081 | 528 | 120.02 89.5
B50" 9.64 | 158.0 | 62.69 | 237.0| 60.23 2277 | 5925 | 2240 | 590 | 4.4 | 7644 | 57.0 | 113.98 85.0
Be1” | 1162 | 190.5 | 76.25| 285.7| 73.54 278.0 - - 616 | 46 | 81.26 | 60.6 - -

1) 085 = 2000 RPM max.

. BM-1.14]

2) 085 = 75 bar (1100 psi) cont.

085 = 90 bar (1300 psi) max. int.

3) B50=210 bar (3000 psi) max. int

4) B61 = 120 bar (1740 psi) max. int, B61 = 80 bar (1160 psi) cont.




HIGH PERFORMANCE VANE PUMP VT7BB /VT7BBS

VT7BB or VI7BBS - B10 - B10-1 R 00 - A 1 00 -

L Modifications
VT7BB series - ISO 2 bolts 3019-2 m m Mounting W/connection variables
mounting flange 100 A2 HW UNC METRIC
VT7BBS series- SAE B 2 bolts VT7BBS | VT7BB-VT7BBS
Mounting flange J744
00 o1 [ Mo [ mi
Cam ring for "P1" & "P2" P1[ 1" [3/4] 1" [ 34
Volumetric displacement cm3/rev (in3/rev) P2 3/4"
B02 = 5.8 (0.35) B0O9 = 28.0 (1.71) S 202"
BO3 = 9.8 (0.60) B10 = 31.8 (1.94) Seal cl
o4 - 120079 B - StaE1d) 1-S1 (for mineral oi)
5 = 15. .97 = 40. .5 ) . .
B06 = 19.8 (1.21) B14 = 45.1 (2.75) 4 - 84 (for fire resistant fluids)
BO7 = 225 (1.37) B15 = 50.0 (3.05) 5 - 85 (for mineral oil and fire resistant fluids)
B08 = 24.9(1.52) L Design letter
Type of shaft VT7BBS
yp Porting combination (see page BM-1-5)
1 - keyed (no SAE) 00 - standard
2 - keyed (SAE BB)
3 - splined (SAE B) Direction of rotation
4 - splined (SAE BB) (view on shaft end)
Type of shaft VT7BB- VT7BBS R - clockwise
5 - keyed (ISO R775) L - counter-clockwise
INTERNAL LEAKAGE ( TYPICAL) NOISE LEVEL ( TYPICAL)
VT7BB- B10-B04
(2.0) 8 70
24 ¢St J o Inlet pressure 0.9 bar abs
_ = Viscosity 32 cSt
€ — — 10cSt - - 3 n = 1200 RPM
5 // o - — n=1800RPM
‘E’ (15) 6 v @0 Lw = Lp + 8 db (A) //
P1-P:
=3 Z E & r
c - - ps
= b = e
@ e < - /
?, (1.0) 4 ] _ P
(=] - - - -~ AN L
8 g P1-P2 3 1
- ot S -1
o v K] =
5 - ] o L
g 092 2
= e - / a / /
~ / - —
0 55
0 35 70 105 140 175 210 240 275 0 35 70 105 140 175 210 240 275 310
(500)  (1000)  (1500)  (2000) (2500)  (3000) (3500)  (4000) (500)  (1000) (1500)  (2000) (2500) (3000)  (3500)  (4000) (4500)
Pressure in bar (psi) Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating conditions.

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
(350) 1557 T
n = 2800 rpm =
3 - — n=1800rpm (24 cSt) F
n = 1200 rpm |- -t (300) 1335 [— |
- Fa
P1-P2 — - |2
- Shaft keyed N° 1
E — (@50 1100
£ L ]
g 2 = =)
® — R
200) 890
8 - —F F1p2 e ®
) — = v
: e 3
a _ | — | § (50 es0
1
- =
_— (100) 440
//
0 (50) 222
0 35 70 105 140 175 210 240 275 600 1000 1400 1800 2200 2600
(500)  (1000)  (1500)  (2000)  (2500) (3000)  (3500)  (4000)
Pressure in bar (psi) Speed n (rpm)
Total hydromechanical power loss is the sum of each section at its Maximum permissible axial load Fa = 800 N (180 Lbs)

operating conditions.

— VSR




HIGH PERFORMANCE VANE PUMP VT7BB /VT7BBS

Ax0.75 DEEP-4 HOLES 2.76
(70.1)
Bx0.88 DEEP-4 HOLES 0.50 VT7BB
(22.4) (12.7)
1.60
AX0.75 DEEP-4 HOLES 0.31 (1'572) M@o.7y |
(19.0) 79 | o.06xas° ’ 0.31
157 | (1.5x45°) (7.9
e 39.6)
~E KEY 0.315/0.276
Q\ (8.00/7.01) ol 0.965 0.965
/1 Fe (24.5) (24.5)
NO o8
i . _ 22 _] _
2% 58
o gl % ge 0.06x45° 0.06x45°
88 =g (1.5x45%) (1.5x45°)
f (1P S—
s =&
“E 00euse 38 <[
0) n
074 @045) o€ shaft code 5 Shaft code 4 Shaft code 3
(2'2_2) @0.75 0.35 (Keyed ISO R775) SAE BB splined shaft SAE B splined shaft
(19.05) (8.9) Class 1-J498b Class 1-J498b
16/32 dp. 15 teeth 16/32 dp. 13 teeth
10.59 2.81 30° pressure angle 30° pressure angle
(269.0) (71.4) Flat root side fit Flat root side fit
) 3.85 4.05 1.50 0.38 6.87
(98.0) (103.0) (38.1) (9.7) VT7BBS (174.5)
0.31
79 KEY 0.250/0.248
- 0.25 MAX (6.35/6.30)
! (6.35)
: J ‘ I\ ‘ 1.50 M8x0.63 DEEP
~ (38.1) /  (16.0) _
. P o|N
oly 2 E S|s
" 3 S 28 k=
(2]
o=
. ga g2 T
’E*’*”* - i B - — T sy 8@ §8 Q
— — o= % gle
SIS 2|5 < <
NE ol& -|¥
(=1 Rl Dl 7 \
ooeuase | S TI§ -
\ (1.5x45°) 5 & i } i
MOUNTING TORQUE 57 ft.Ibs 0.05x45° \ MOUNTING TORQUE 138 ft.lbs
(80 Nm) (1.3x45°) Shaft code 2 (187 Nm)
(Keyed SAE BB)
Shaft torque limits in3/rev x psi (ml/rev x bar]
Shaft Vp x p max. (P1+P2)
1 12666 (14300) 2.29
2 18972 (21420) (58.2)
3 18246 (20620) 0.31 125 KEY 0.1875/0.1855
4 28937 (32702) (7.9) @18 (4.76/4.71)
5 22409 (25325) —
VT7BBS VT7BB /
0 [ o Mo | M
A 3/8-16 UNC M10 | I
B 1/2-13 UNC M12
Cc 1.03 (26.2) 0.874 (22.2) | 1.03 (26.2) 0.874 (22.2) 00oas g § g
D | 206(524) | 1874(47.6) | 2.06(524) | 1874 (47.6) “eaas T SN g
) B ot
OE | 1.00 (25.4) 0.75 (19.05) | 1.00 (25.4) 0.75 (19.05) Ea ] ol
o
F 5.75 (146.05 5.51 (140.0) a8
( ) (140.0) Shaftcode 1
G 2.87 (73.0) 2,75 (70.0) (Keyed no SAE)
OH 0.56 (14.3) 0.55 (14.0)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow q & n = 1800 rpm [ Input power p & n = 1800 rpm
Series|Displacement Vplp = 0 bar (0 psi)|p = 140 bar (2000 psi)p = 320 bar (4650 psi) p = 7 bar (100 psi)[p = 140 bar (2000 psi)[p = 320 bar (4650 psi)

port in3/rev cm3/rev| gpm | Ipm gpm Ipm | gpm Ipm hp kw hp kw hp kw
B02 0.35 5.7 2.76 | 10.4 2.33 8.8 1.73 6.5 0.74 0.55 4.02 2.99 8.59 6.40
B03 0.60 9.8 4.66 | 17.6 4.23 15.9 3.63 13.7 0.85 0.63 6.24 4.65 13.75 10.25
B04 0.78 12.8 6.09 | 23.0 5.66 21.4 5.06 19.2 0.94 0.70 7.90 5.89 17.62 13.13
B05 0.97 15.9 7.56 | 28.6 7.13 26.9 6.53 24.7 1.02 0.76 9.62 717 21.62 16.12
P1 B06 1.21 19.8 9.42 | 35.6 8.99 33.9 8.39 31.7 1.13 0.84 11.79 8.79 26.66 19.88
& B07 1.37 22.5 10.70 | 40.4 10.27 38.8 9.67 36.5 1.20 0.89 13.29 9.91 30.14 22.47
B08 1.52 24.9 11.84 | 44.7 11.41 43.1 10.81 40.9 1.27 0.94 14.62 10.90 33.24 24.78
= B09 1.71 28.0 13.31 | 50.3 | 12.87 48.6 12.28 46.4 1.36 1.01 16.35 | 12.19 37.25 27.77
B10 1.94 31.8 15.12 | 57.2 14.69 55.5 14.09 53.4 1.46 1.1 18.45 13.75 42.14 31.42
B11"| 2.13 34.9 16.64 | 62.9 16.19 61.2 15.61 59.0 1.55 1.15 20.17 15.04 43.22 32.22
B12 | 250 40.9 19.50 | 73.7 19.07 721 18.54 70.1 1.72 1.28 23.55 17.56 50.58 37.71
B14"| 2.75 451 |21.40 | 80.8 | 20.95 79.2 | 20.37 77.0 183 | 1.36 | 2580 | 19.23 | 55.48 | 41.37
B15 "| 3.05 50.0 23.78 | 89.8 | 23.35 88.3 22.88 86.5 1.97 1.47 28.55 | 21.28 57.35 42.76

1) B11-B12-B14 = 300 bar (4350 psi) & B15 = 280 bar (4060 psi) max. int. And Max. Speed = 3000 rpm

[ BV-2-2_ T




DP

HIGH PERFORMANCE VANE PUMP VT7QCC

Series

VI7QCC 1 W - 022 - 008 -1 R

T

Mounting
1-SAEB
2-SAEC

Use for severe duty shaft only

Cam ring for "P1" & "P2"

(Delivery @ 0 bar & 1500 rpm)

*003/B03/Y03 = 16.2 I/min
005/B05/Y05 = 25.8 I/min
006/BO6/Y06 = 31.9 I/min
008/B0B/Y08 = 39.6 I/min
010/B10/Y10 = 51.1 I/min
012/B12/Y12 = 556 I/min
014/B14/Y14 = 69.0 I/min
*10'- Uni - directional 'B'-

015/B15/Y15 = 75.1 1/min
017/B17/Y17 = 87.41/min
020/B20/Y20 = 95.7 I/min
022/B22/Y22 = 105.4 I/min
025/B25/Y25 = 118.9 I/min
028/B28/Y28 = 133.21/min
031/B31/Y31 = 150.0 I/min
Bi - directional 'Y'- Bi - directional

for cold start

Type of shaft
1 - keyed (no SAE)
3 - splined (SAE BB)
5 - splined (SAE B)

Severe duty
2 - keyed (SAE BB)
B - keyed

INTERNAL LEAKAGE (TYPICAL)

30

24 cSt
27 © -
-— — — 10cSt
E o4 P1-P2| ~
s e
= 21
8 e
P 18
o v
8 15
X
© yd —1
2 P1-P2|— =
© 7
< 9
£ 6 - LT
£ P L —
3
o P

0 35 70 105

140 160 175 190 210 240 275 300

Pressure p (bar)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.

Total leakage is the sum

of each section loss at its operating conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

- — n=2800rpm
—— n=1500rpm (24 cSt)
n = 1000 rpm

4
_
[=X
<
=
o 3 —r=
» PI-P2 | __+ F |7
@ —— -
o — = 7
a 2 - — —
2 P1p2 | __ |—|[— —
g = L

—— P1p2 | L — |
1
/'/-
0
0 35 70 105 140 160 175 190 210 240 275

Pressure p (bar)

Total hydromechanical power loss is the sum of each section at its

operating conditions.

S BM-2-3 ]

0

!*.

00

[

Lp. Noise level {db(A)} 1M ISO 4412

Load F (N)

70

VELJAN

Modifications

Mounting W/connection variables

P1=1"-5=3{P1=1" 5=212"7

P2 1 (34 1t [ 3/a "
ga Unc | 00 |ot 10 [ 11
IMetric] om [wo [ 1M [ wi

1) for 46 mi/rev max.

2) for 126 mi/rev max.

The large cartridge must be always
mounted in the front.

Seal class

1-81 (for mineral oil)

4 - S4 (for fire resistant fluids)

5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Porting combination (see page BM-1-5)
00 - standard

Direction of rotation
(view on shaft end)
R - clockwise

L - counter-clockwise

NOISE LEVEL (TYPICAL)

VT6QCC - 020-020

65

Inlet pressure 0.9 bar abé
Viscosity 32 cSt

60

55

n = 1000 RPM
— — n = 1500 RPM -
Lw = Lp + 8.db (A) -
-~
-
—
/
- /
//
|~
~
- /
ﬂ/
_ /
- L
——

50

50

100

140 175 210 240 270 300

Pressure p (bar)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

1400 |~

1200 [~

1000

Shaft ke

800

600

400

200

600

1000

1200

1500
Speed n (rpm)

1800 2000 2500 2800

Maximum permissible axial load Fa = 800 N




HIGH PERFORMANCE VANE PUMP VT7QCC

VELJA

2.29
3/8-16 UNCx0.75 DEEP-4 HOLES (58.2)
(M10x19.0 DEEP) ™
1.60
E-4HOLES 1.031 0.31 1.79
E-4HOLES S 45.5
(26.2) (7.9) 0.31 (45.5) 0.31
7.9 7.9)
£ 125
—jE: ta1.7)| XEYO0.1875/0.1855
(4.762/4.712)
b\ 0.965 0.965
o / (24.5) (24.5)
< 1 F — - - -
O 28 % 0.06x45° 0.06x45°
| (1.5x450) (1.5x45°)
£ 33 gn
58 28
h‘E g § ol=
& o
B 3 < Shaft code 3 Shaft code 5
%—- Shaft code 1 SAE BB splined shaft SAE B splined shaft
oc : (Keyed non SAE) Class 1-J498b Class 1-J498b
ac 16/32 dp. 15 teeth 16/32 dp. 13 teeth
30° pressure angle 30° pressure angle
10.59 2.81 Flat root side fit Flat root side fit
(269.0) (71.4)
3.85 4.05 1.50 Al
(98.0) (103.0) (38.1) 0.38
©.7) A2
0.31
7:9) KEY 0.250/0.248 A3
! (%2355 )MAX (6.35/6.30)
‘ J ‘ L ‘ 1.50 M8x0.63 DEEP
_ : (38.1) / (16.0) .
= gl&
a3 o i / e
I AR U A | ) DR ¥ 9a g ,
{ b e @© Gl}
=) 4 a /
33 ol 2 a
N & &5 =~
Slw |
0.06x45° || . S g = o
(1.5x45°) °F - < i T
\ MOUNTING TORQUE 57 ftbs 0.05x45° Sl \LVIOUNTING TORQUE 138 ft.lbs
80 Nm) (1.3x45°)  Shaft code 2 (187 Nm)
(Keyed SAE BB)
Shaft torque limits in3/revxpsi(ml/revxbar)
Shaft Vp x p max. (P1+P2)
1 12666 (14300)
2 18972 (21420)
3 26937 (32670) | vrracct vT7acc2
(: )
5 16246 (20600 Mounting  SAE B SAE C
PORT| A B c D opi | 4000 (101.60) | 5.000 (127.00)
s | 419(1064) | 244619 | 300(762) 5/8-11UNCx1.12 DEEP 2950 Q0159 | 4997 126.9)
' ’ ’ ’ ’ ’ (M16x28.4 DEEP) oD2 0.56 (14.3) 0.69 (17.5)
a @9) 508) 5 1/2-13UNCx0.94 DEEP A1 6.87 (174.5) 8.36 (212.5)
3.50 (88.9 2.00 (50.8 2.50 (63.5
M12x24.0 DEEP A2 5.75 (146.0) 7.13 (181.0)
P2 | 13874 (47.6) 0.874 (22.2) 0.75(19.0) | 3.00(76.2) 3/8-16UNCx0.75 DEEP A3 2.87 (73.0) 3.56 (90.5)
P2 | 2.06(52.4) 1.03 (26.2) 1.00 (25.4) | 2.94 (74.7) (M10x20.0 DEEP) A4 05 (12.7) 0.62 (15.7)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

) Volumetric Flow q (Ipm) & n = 1500 rpm Input power p (kW) & n = 1500 rpm
SSpes Displacement Vp/p = 0 bar |p = 140 bar | p = 240 bar|p = 300 bar| p = 7 bar | p = 140 bar| p = 240 bar| p = 300 bar
003 10.8 ml/rev 16.2 11.9 8.1 - 1.3 5.3 7.8 -
005 17.2 mijrev 25.8 215 17.7 13.7 1.4 75 122 14.9
006 21.3 mlfrev 31.9 26.5 22.0 18.0 1.5 8.9 14.7 18.0
008 26.4 ml/rev 39.6 34.1 29.6 25.6 1.6 10.7 17.7 21.8
010 34.1 ml/rev 51.1 45.7 41.2 37.2 1.7 13.4 22.3 27.5
012 37.1 ml/rev 55.6 50.2 45.7 41.7 1.7 14.4 24.1 29.8
014 46.0 ml/rev 69.0 63.5 59.0 55.0 1.9 17.6 29.5 36.5
015 50.5 ml/rev 75.1 69.6 65.1 61.1 2.0 18.0 32.0 39.5
017 58.3 ml/rev 87.4 82.0 775 73.5 2.1 19.0 36.9 45.7
020 63.8 ml/rev 95.7 90.2 85.7 81.7 2.2 23.8 40.2 49.8
022” 70.3 mi/rev 105.4 100.0 95.5 91.5 2.3 26.1 44.1 50.3
025" 79.3 mifrev 118.9 113.5 109.0 - 25 20.2 49.5 -
028"% 88.8 mi/rev 133.2 127.7 124.5 - 2.8 32.7 48.5 -
031"* 100.0 mi/rev 150.0 144.5 141.3 - 2.8 36.5 54.4 -

1) 025-028-031 = 2500 R.PM. max.

-- Not to use because internal leakage greater than 50% of theoretical flow.

2) 022= 275 bar max. int,

3) 025 = 240 bar max. int,

4) 028-031 = 210 bar max. int.

[ BV-2-4 T

DP



HIGH PERFORMANCE VANE PUMP VT7DB /VT7DBS

DP

VT7DB or VI7DBS - B42 - B10 -1 R 00 - A 1 00 -
= Modifications
VT7DB series-ISO 2 bolts 3019-2 m P2 Mounting W/connection variables
mounting flange 125 A2 HW UNC METRIC
VT7DBS series- SAE C 2 bolts VT7DBS | VT7DB-VT7DBS
Mounting flange J744c
00fo1 | Mo [ w1
Cam ring for "P1" P2 [ 1" [3/4"] 1" [ 3/4
Volumetric displacement cm3/rev (in3/rev) Seal class
B14 = 43.9 (2.68) B31 = 99.1 (6.05) 1-81 (for mineral oil)
B17 = 55.0 (3.36) B35 = 113.4 (6.92) ) . .
4 - S4 (for f tant fluid:
B20 = 66.0 (4.03) B38 = 120.6 (7.36) S4 (forfire resistant fluids) .
B22 = 70.3 (4.29) B42 = 137.5 (8.39) 5 - S5 (for mineral oil and fire resistant fluids)
B24 = 81.1 (4.95) 045 = 145.7 (8.89) Design letter
B28 = 89.9 (5.49 050 = 157.9 (9.64
(6.49) (0.64) Porting combination (see page BM-1-5)
Cam ring for "P2" 00 - standard
Volumetric displacement cm3/rev (in3/rev) Direction of rotation
B02 = 5.7 (0.35) B09 = 28.0 (1.71) (view on shaft end)
B03 = 9.8 (0.60) B10 = 31.8 (1.94) R - clockwise
B04 = 12.8(0.78) B11 = 34.9 (2.13) L - counter-clockwise
B05 = 15.9(0.97) B12 = 40.9 (2.50)
B0O6 = 19.8 (1.21) B14 = 45.1 (2.75) Type of shaft VT7DBS
BO7 = 225 (1.37) B15 = 50.0 (3.05) 1- keyed (SAE C)
B08 = 24.9 (1.52) 2 - keyed (no SAE)
3 - splined (SAE C)
4 - splined (spec. SAE C)
Type of shaft VT7DB- VT7DBS
5 - keyed (ISO 3019-2-G32M)
INTERNAL LEAKAGE ( TYPICAL) NOISE LEVEL ( TYPICAL)
VT7DB- B31-B10
(6.0) 24 75 { {
24 cSt N
— — 10cst P17 ; Inlet pressure 0.9 bar abs 1
(59) 20 © < Viscosity 32 cSt —_
T ~ 1 2 n = 1200 RPM T
s 2 - — — n=1800 RPM //
o (40) 16 E . Lw = Lp + 8.db (A)
o e =~ P
) % < g
T 3.0) 12 2 e —
E s P1_ = ~ - —
L~ by 7
= /] 2 ~ - A
g o s » 2 &
] — o
g A L el
(1.0 4 - — 2
A L -1 | .
7 // ;‘/// P2 =y ~ /
0 — 60
0 35 70 105 140 175 210 240 275 0 35 70 105 140 175 210 240
(500) (1000)  (1500)  (2000) (2500)  (3000) (3500)  (4000) (500) (1000) (1500) (2000) (2500) (3000)  (3500)
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or Double pump noise level is given with each section discharging at
viscosity if internal leakage is more than 50% of theoretical flow. the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL) PERMISSIBLE RADIAL LOAD
7 - —— n = 2500 rpm [ P1 —
6 — — n=1800rpm (24 cSt) -
5 n = 1200 rpm _ - =
- 1 P1 _ (450) 1980 — T
: ——=F 1[F -
5 =TT - P - — (400) 1760 |- |
— —I - |.Fa
s — | Shatt keyed N° 1
& — (350) 1540
0 []
g 0 35 70 105 140 175 210 240 ﬂ
k-] (500) (1000)  (1500)  (2000)  (2500)  (3000)  (3500) ; (300) 1320
g ° 2so0rom | £
- —n= rpm
e 4 — — n=1800rpm (24 cSt) t (250) 1100
n = 1200 rpm g
3 -
P2 _ - (200) 880
R 1P
— |- T R -y ] b (150) 660
1 — = P2 —
—_— ——_——___’
0 (100) 440
35 70 105 140 175 210 240 275 600 900 1200 1500 1800 2100 2400
(500)  (1000)  (1500)  (2000)  (2500)  (3000) (3500)  (4000)

Pressure in bar (psi) Speed n (rpm)
Total hydromechanical power loss is the sum of each section at its

operating conditions.

S BM-2-5 ]

Maximum permissible axial load Fa = 1200 N (270 Lbs)




HIGH PERFORMANCE VANE PUMP VT7DB /VT7DBS

7/16-14 UNCx0.88 DEEP- 4 HOLES
5/8-11 UNCx1.12 DEEP (M12x22.4 DEEP)
(M16x28.4 DEEP) 4 HOLES 0.62 2.88 3.46

(15.7) 732) 217 *3.06 7.9
2.441 1.188 031 031 | 652 (77.7)
(62.0) 30.2) =179 oM 0.31 031
= ; 9 KEY 0.394/0.315
(3§$) KEY 0.3126/0.3106 F 197 | /110.00/8.00)
(7.94/7.89) (50;
- — - - B — - = %
25 ¥ 0.09x45° _ %
8= E _ (2.3x45%) (2.3x45%) 85 = s
0.09x45° §% |5 gle Euoi
‘ D095l ]~ @8 elg “e
ac] [ 23.00/ o125/ ' [ @3 os Se Y gl
(76.2) @31.8) - 8je Shaft code 3 Shaft code 4  wioxo79DEEP | B|€
SAE C splined shaft SAE *C splined shaft 20.0
3/8-16 UNCx0.75 DEEP-4 HOLES Shaft code 2 Class 15_5’;;:,, she Class 142981; 00
(M10x19.0 DEEP) (keyed no SAE) Shaft code 5
TP By 1 TR PRo, INEE (keyed ISO/R775-G32M)
11.26 3.29 30° Pressure angle 30° Pressure angle J
(286.0) (83.6) Flat root side fit Flat root side fit
8.365
4.31 4.50 1.50 2128
(109.5) (114.3) (38.1) w !
0.31
(7.9) KEY 0.3126/0.3106
0.25 MAX.
: — M6 / (7.94/7.89)
<< | A : ol 14-;); M10x0.79 DEEP wlE
e |F £ A o8
- o 5] o
{2~ -~ HE < 72
N 0.09x45° QA
28 aasy I8 %
Ile 2
A g2 g
ex45° N 9@
MOUNTING TORQUE 50 ft.Ibs Qe ~ Shaft torque limits in3/revxpsi(ml/revxbar)
(68 Nm) Shaft code 1 Shaft Vp x p max. (P1+P2)
MOUNTING TORQUE 138 ft.lbs (Keyed SAE C) L 36299 (43240)
(187 Nm) 2 30638 (34590)
= 3 54207 (61200)
Alternate mounting flange 2 54207 (61200)
Serles oS ex45° w K oD 5 37644 (42542)
MAX. Min. Alternate connect.variables
VT7DB | 4.921 (124.99) | 4919 (124.94) | 0079 (2.0) | 0.374(9.49) | 7.087 (180.0) | 0.709 (18.0) 00 & MO 01&M1
A[1.031 (26.2) [0.874 (22.2)
VT7DBS| 5.00(127.00) | 4.998 (126.94) | 0.051 (1.3) | 050(12.7) | 7.126(181.0) | 0.689 (17.5) Bl206 524) |1874 @7.6)
c|1.00 (25.4) |0.75 (19.05)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
Pressure _ Volumetric Flow q & n = 1800 rpm [ Input power p & n = 1800 rpm |
t Series|Displacement Vp|p = 0 bar (0 psi)|p = 140 bar (2000 psi)[p = 250 bar (3630 psi)| p = 7 bar (100 psi) [p = 140 bar (2000 psi)[p = 250 bar (3630 psi)|
Bl in/rev_| cm3/rev | gpm | Ipm | gpm lpm | gpm Ipm hp | kw hp kw hp kw
B14 2.68 43.9 20.92 791 19.18 725 17.81 67.3 3.46 2.6 27.77 20.7 47.03 35.0
B17 3.36 55.0 26.16 | 98.8| 24.41 92.3 23.04 87.0 3.77 2.8 33.88 25.3 57.71 43.0
B20 4.03 66.0 31.39 | 118.6| 29.64 112.0 | 28.27 106.8 4.07 3.0 39.98 29.8 68.39 50.9
B22 4.29 70.3 33.43| 126.4| 31.69 119.8 | 30.32 104.6 4.19 3.1 42.37 31.6 72.57 54.0
B24 4.95 81.1 38.57 | 145.8| 36.82 139.2 35.45 134.0 4.49 3.4 48.36 36.1 83.06 61.9
P1 B28 5.49 89.9 42.80 | 161.8| 41.06 155.2 39.69 150.0 4.74 3.5 53.30 39.7 91.70 68.3
B31 6.05 99.1 4718 | 178.3| 45.43 171.7 44.06 166.5 4.99 3.7 58.41 43.6 | 100.63 75.0
B35 "| 6.92 113.4 53.93 | 203.9| 52.18 197.2 50.81 192.0 5.39 4.0 66.29 49.4 | 114.42 85.3
B38"| 7.36 120.6 57.35| 216.8| 55.61 210.2 54.24 204.9 5.59 4.2 70.28 52.4 121.42 90.5
B42?| 8.39 137.5 65.39 | 247.2| 63.65 240.6 62.28 235.4 6.05 4.5 79.66 59.4 137.83 102.7
045 7| 8.89 145.7 69.29 | 262.0| 67.11 253.6 65.31 246.8 6.74 5.0 83.75 62.4 | 145.79 108.7
050 ?| 9.64 157.9 75.14 | 284.0| 72.96 275.8 71.78 271.3 7.08 5.3 90.58 67.5 134.50 100.3
p = 0 bar (0 psi)|p = 140 bar (2000 psi)|p = 300 bar (4350 psi) p = 7 bar (100 psi)(p = 140 bar (2000 psi)| p = 300 bar (4350 psi)|
B02 0.35 5.7 2.76| 104 2.33 8.8 1.80 6.8 0.74 | 0.55 4.02 2.99 8.10 6.04
B03 0.60 9.8 466 | 17.6 4.23 15.9 3.70 14.0 0.85 | 0.63 6.24 4.65 12.93 9.64
B04 0.78 12.8 6.09 23.0 5.66 21.4 5.13 19.4 0.94 | 0.70 7.90 5.89 16.55 12.34
B05 0.97 15.9 756 | 28.6 713 26.9 6.60 25.0 1.02 | 0.76 9.62 717 20.29 15.13
B06 1.21 19.8 9.42| 356 8.99 33.9 8.46 32.0 1.13 | 0.84 11.79 8.79 25.00 18.64
B07 1.37 225 10.70 | 40.4| 10.27 38.8 9.74 36.8 1.20 | 0.89 13.29 9.91 28.26 21.07
P2 B08 1.52 24.9 11.84 | 44.7| 11.41 43.1 10.88 411 1.27 | 0.95 14.62 10.90 31.15 23.23
B09 1.71 28.0 13.31| 50.3| 12.87 48.6 12.35 47.0 1.36 1.01 16.35 12.19 34.92 26.04
B10 1.94 31.8 15.12 | 57.2| 14.69 55.5 14.16 53.5 1.46 | 1.09 18.45 13.75 39.48 29.44
Bi1° 2.13 34.9 16.64 | 62.9| 16.19 61.2 15.68 59.3 155 | 1.16 20.17 15.04 43.22 32.23
B12 K 2.50 40.9 19.50 73.7| 19.07 72.1 18.54 70.1 1.72 1.28 23.55 17.56 50.58 37.71
B14°| 275 451 21.40 | 80.8| 20.95 79.2 20.44 77.0 1.83 | 1.36 25.80 19.24 55.48 41.37
B15%| 3.05 50.0 23.78 | 89.8] 23.35 88.3 22.88 86.5 1.97 | 147 28.55 21.28 57.35 42.76
1) B35-B38 = 280 bar (4060 psi) max.int. 2) B42 = 260 bar (3770 psi) max.int. 3) 045 = 240 bar (3500 psi) max. int. 4) 050 = 210 bar (3000 psi) max. int

5) B11-B12-B14 = 300 bar (4350 psi) & B15 = 280 bar (4060 psi) max. int. And Max. Speed = 3000 rpm

[ BV-2-6_ T




DP

HIGH PERFORMANCE VANE PUMP VT7QDC

VELJAN

VT7QDC - B38 - 022 i R 00 - A 100 *
|- Modifications
Series m P2 Mounting W/connection variables
- UNC METRIC
Cam ring for "P1" 00 [ 01 [mo] M1
Volumetric displacement cm@/rev (in3/rev) P2 [ 1" [3/4" [ 1" [3/4"
B14 = 43.9 (2.68) B31 = 99.1(6.05) P1 14"
B17 = 55.0 (3.36) B35 = 113.4 (6.92) S 3
B20 = 66.0 (4.03) B38 = 120.6 (7.36) Seal class
B22 = 70.3 (4.29) B42 = 137.5 (8.39) 1-81 (for mineral o)
B24 = 81.1 (4.95) 045 = 145.7 (8.89) 454 forf stant fluid
B28 = 89.9 (5.49) 050 = 157.9 (9.64) - 84 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)
Cam ring for "P2"
Volumetric displacement cm@/rev (in3/rev) Design letter
*003/B03/Y03 = 10.8 (0.66)  015/B15/Y15 = 50.5 (3.08) Porting combination (see page BM-1-5)
005/B05/Y05 = 17.2(1.05) ~ 017/B17/Y17 = 58.3 (3.56) 00 - standard
006/B06/Y06 = 21.3 (1.30) 020/B20/Y20 = 63.8 (3.89) . . .
008/B08/Y08 = 26.4 (1.61)  022/B22/Y22 = 70.3 (4.29) Direction of rotation
010/B10/Y10 = 34.1 (2.08) 025/B25/Y25 = 79.3 (4.84) (view on shaft end)
012/B12/Y12 = 37.1 (2.26) 028/B28/Y28 = 88.8 (5.42) R - clockwise
014/B14/Y14 = 46.0 (2.81)  031/B31/Y31 -1000(610) L - counter-clockwise
*iQ'.  Uni - directional 'B'- Bi- directional 'Y'- Bi- directional Type of shaft
for cold start 1 - keyed (SAE C)
2 - keyed (SAE CC)
3 - splined (SAE C)
INTERNAL LEAKAGE ( TYPICAL) NOISE LEVEL (TYPICAL)
VT7QDC- B31-022
6.0) 24
24 cSt 80
— — 10cst i A { {
(5.0) 20 Inlet pressure 0.9 bar abs
/ }// o Viscosity ~ 32cSt
= 3 n = 1200 RPM _
E_ @.0) 16 ; 75 | = — n = 1800 RPM —
= a Lw= Lp + 8 db (A) —
» = ~
o £ ~
8 6o 12 - _ —
g o B2 g v = —
8 20 8 | E — //
£ [
2 / ] 3 e
C (10) 4 2
- / / 2 /
, / 2 \\/
0 35 70 105 140 175 210 240 275 3‘ 60
(500)  (1000)  (1500)  (2000) (2500)  (3000) (3500)  (4000) 0 35 70 105 140 175 210 240
(500) (1000) (1500) (2000) (2500) (3000)  (3500)
Pressure in bar (psi) . .
Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or b | ise level is gi ith h X ischarai
viscosity if internal leakage is more than 50% of theoretical flow. hOUb e pump n0|ze evi is given with each section discharging at
Total leakage is the sum of each section loss at its operating the pressure noted on the curve.
conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL)
PERMISSIBLE RADIAL LOAD
7 n = 2500 rpm P1 _
6 |— — n = 1800 rpm (24 cSt) —— (450) 1980 —T—
5 n = 1200 rpm r L -
. e P1 - I_ IF— /
1760 [ I
. L — (400) 176 .
_—— Pl T 1
= 2 - L ——] m Shaft keyed N° 1
g [—— @ (@50) 1540
g s
@ % 35 70 105 140 175 210 240 i (300) 1820
o (500)  (1000)  (1500)  (2000)  (2500)  (3000)  (3500) w
o ° n = 2500 rpm T (250) 1100
g 4 | = — n=1800rpm(2a cst) S
o , n = 1200 rpm —_pz I (200) 880
e — -—_’_—/’——r I
2 —T P2 (150) 660
1
0 (100) 440
0 35 70 105 140 175 210 240 275 600 900 1200 1500 1800 2100 2400
(500)  (1000)  (1500)  (2000) (2500)  (3000) (3500)  (4000)

Pressure in bar (psi)
Total hydromechanical power loss is the sum of each section at its
operating conditions.

. BM-2-7 |

Speed n (rpm)
Maximum permissible axial load Fa = 1200 N (270 Lbs)




HIGH PERFORMANCE VANE PUMP VT7QDC

7/16-14 UNCx0.88 DEEP- 4 HOLES T :1-508)
5/8-11 UNCx1.12 DEEP (M12x22.4 DEEP) 075
(M16x28.4 DEEP) 2.44 1.188 | 19.0)
4 HOLES (62.0) (30.2) —| (%9
KEY 0.375/0.373
2.00 (9.52/9.47)
(50.8) M10x0.79 DEEP.
(20.0)
@ el
0.09x45° D F
(2.3x45%) 2|2 g
| ©
ol X m
23 5
0.05x45° S1
(1.3x45°)
3/8-16 UNCx0.75 DEEP 0.50 Shaft code 2
(M10x19.0 DEEP) (12.7) (Keyed SAE CC)
4 HOLES
12.09 3.30
(307.2) (84.0)
4.34 5.06 150 | _0.38
(110.3) (128.5) I (38.1) (7.9)
. L 0.25 MAX. KEY 0.3126/0.3106
JL i 'J_W (6.35) (7.94/7.89)
82 <l > 194 1/M10x0.79 DEEP
2z 35| 8 i (403) 20.0)
i N [ (T
88
\ 1 D
f——tt—— e i
9 i § gls
e o= g5
2l . 0.09x45° e | 9
N = N >
= (2.3x45°) Jz 3.
\E P 28 25
N~ |~
1 [ -~ T S
| A os 8
MOUNTING TORQUE 57 ft.lbs Shaft code 1
(80 Nm) (Keyed SAE C)

Shaft torque limits in3/revxpsi(ml/revxbar)

Shaft Vp x p max. (P1+P2)

1 38299 (43240)

2 30638 (34590)

3 54207 (61200)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

0.31

¢¢ VELJAN

7.9

.| 0.00x45°
(2.3x45%)

Shaft code 3

SAE C splined shaft
Class 1-J498b
12/24 Dp. 14 Teeth
30° Pressure angle
Flat root side fit

8.386

(213.0)
7.126

(181.0)

4.508
(114.5)

i)
<
i
@
Q
]
<

\20.56

(14.3)  MOUNTING TORQUE 138 ft.Ibs
(187 Nm)

Alternate connect.variables

00 & MO 01 & M1

A [1.031 (26.2) [0.874 (22.2)

B ([2.06 (52.4) [1.874 (47.6)

C[1.00 (25.4) [0.75 (19.05)

Pressure _Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm
port Series|Displacement Vplp = o bar (0 psi)[p = 140 bar (2000 psi)[ p = 250 bar (3630 psi) | p = 7 bar (100 psifp = 140 bar (2000 psi)p = 250 bar (3630 psi
inrev | cm3rev | gPm | Ipm | gpm lpm | gpm Ipm hp kw | hp kw hp kw
B14 2.68 439 | 2092| 79.1| 19.18 725 | 17.81 67.30 3.46 2.60| 27.77 | 20.70 47.03 | 35.00
B17 3.36 55.0 26.16| 98.8| 24.41 92.3 | 23.04 87.00 3.77 2.80| 33.88 | 25.30 57.71 | 43.00
B20 4.03 66.0 31.39| 118.6 | 29.64 1120 | 28.27 [106.80 4.07 3.00| 39.98 | 29.80 68.39 | 50.90
B22 4.29 70.3 | 33.43| 126.4 | 31.69 119.8 | 30.32  [104.60 4.19 3.10| 4237 | 31.60 72.57 | 54.00
B24 4.95 81.1 38.57| 145.8 | 36.82 139.2 | 3545 [134.00 4.49 3.40| 4836 | 36.10 83.06 | 61.90
P1 B28 5.49 89.9 | 42.80| 161.8| 41.06 155.2 | 39.69  [150.00 4.74 3.50| 53.30 | 39.70 91.70 | 68.30
B31 6.05 99.1 47.18| 178.3 | 45.43 171.7 | 44.06 [166.50 4.99 3.70| 5841 | 43.60 | 100.63 | 75.00
B35" 6.92 113.4 | 53.93| 203.9| 52.18 197.2 | 50.81 [192.00 5.39 400| 66.29 | 49.40 | 114.42 | 8530
B38" 7.36 120.6 | 57.35| 216.8| 55.61 210.2 | 54.24 |204.90 5.59 420| 7028 | 52.40 | 121.42 | 90.50
B42? 8.39 137.5 | 65.39| 247.2| 63.65 240.6 | 62.28 |235.40 6.05 450| 79.66 | 59.40 | 137.83 |102.70
045° 8.89 145.7 | 69.29| 262.0| 67.11 253.6 | 65.31 |246.80 6.74 5.00| 8375 | 62.40 | 145.79 |108.70
050 * 9.64 157.9 | 75.14| 284.0| 72.96 2758 | 71.78 |271.30 7.08 5.30| 9058 | 67.50 | 134.50 |100.30
p = 0 bar (0 psi)|p = 140 bar (2000 psi)| p = 300 bar (4350 psi) [p = 7 bar (100 psi)p = 140 bar (2000 psi)p = 300 bar (4350 psi
003 0.66 10.8 514| 19.6| 3.85 14.6 - - 2.1 1.57| 8.45 6.30 - -
005 1.05 17.2 8.18| 30.9| 6.89 26.0 4.34 16.44 2.29 1.70| 12.00 8.94 23.97 | 17.88
006 1.30 21.3 10.13| 38.3| 8.84 33.4 5.71 21.60 2.40 1.78| 14.28 | 10.64 28.96 | 21.60
008 1.61 26.4 12.55| 47.4| 11.26 42.6 8.12 30.72 2.54 1.89| 17.11 | 1275 35.08 | 26.16
010 2.08 34.1 16.22| 61.3| 14.93 56.4 | 11.81 44.64 276 2.06| 21.38 | 1594 4425 | 33.00
012 2.26 37.1 17.64| 66.7| 16.35 61.8 | 13.24 50.04 2.84 211| 23.05 | 17.18 47.47 | 35.40
P2 014 2.81 46.0 | 21.88| 82.7| 20.59 77.8 | 17.46 66.00 3.09 2.30| 27.99 | 20.87 58.73 | 43.80
015 3.08 50.5 23.99| 90.7| 22.83 86.3 | 19.39 73.32 3.21 2.40| 30.30 22.60 63.56 | 47.40
017 3.56 58.3 | 27.73| 104.8 | 26.44 99.9 | 23.33 88.20 3.43 255| 3481 | 2595 73.54 | 54.84
020 3.89 63.8 | 30.34| 114.7| 29.05 109.8 | 25.93 98.04 3.58 2.66| 37.86 | 28.23 80.14 | 59.76
022° 4.29 70.3 | 33.43| 126.4| 32.14 1215 | 29.05 [109.80 3.76 2.80| 41.47 | 30.92 80.94 | 60.36
025°"| 484 703 | 37.71| 1425| 3642 | 137.6 401 | 299| 46.46 | 34.64
028°%| 5.42 88.8 | 42.23| 159.6 | 40.94 154.7 4.27 3.18| 51.74 | 38.58
031*? .10 100.0 | 47.56| 179.7 | 46.27 174.9 4.58 3.41| 57.95 43.21

1) B35-B38 = 280 bar (4060 psi) max.int. 2) B42 = 260 bar (3770 psi) max.int. 3) 045 = 240 bar (3500 psi) max. int. 4) 050 = 210 bar (3000 psi) max. int

5) 025-028-031 = 2500 R.PM. max. 6) 022= 275 bar max. int,

7) 025 = 240 bar max. Int,

-- Not to use because internal leakage greater than 50% of theoretical flow

8) 028-031 = 210 bar (3000 psi) max. int.

BM-2-8




DP

HIGH PERFORMANCE VANE PUMP VT7DD /VT7DDS

VI7DDorVI7DDS - B42 - B22 -1 R 0

Series
VT7DDseries-ISO 4 bolts 3019-2

Mounting flange 125 B4 HW m m
VT7DDS series- SAE C 6 bolts

Mounting flange J744c

Camring for "P1" & "P2"
Volumetric displacement cm3/rev (in3/rev)

B14 = 43.9 (2.68) B31 = 99.1 (6.05)
B17 = 55.0 (3.36) B35 = 113.4 (6.92)
B20 = 66.0 (4.03) B38 = 120.6 (7.36)
B22 = 70.3 (4.29) B42 = 137.5 (8.39)
B24 = 81.1 (4.95) 045 = 145.7 (8.89)
B28 = 89.9 (5.49) 050 = 157.9 (9.64)
Type of shaft VT7DDS

1 - keyed (SAE C)

2 - keyed (SAE CC)

3 - splined (SAE C)

4 - splined (SAE BB))

Type of shaft VT7DD - VT7DDS
5 - keyed (ISO 3019-2-G32M)

INTERNAL LEAKAGE (TYPICAL)

(6.0) 24
— — 10cst e
—— 24cst -~
5.0) 20
T 7
H 7
o 40) 16
o P1-P2.
‘% e
£ (60 12 —
o 7 - 1
= e
c (20) 8 P1-P:
o e
b e
(1.0) 4
e
P
0
0 35 70 105 140 175 210 240
(500) (1000) (1500) (2000) (2500) (3000) (3500)
Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50%of theoretical flow.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL)
8 T T
- —— n = 2500 rpm
7 — — n=1800rpm (24 cSt)
n = 1200 rpm —
6 =
z Prez_ |-
£ — |~
[ —_—
o — T
@ 4 T — — ]
e PiFPz_ —
8 =
g ° P —
Y B plp2 _L—
/
1 _—
—
0
0 35 70 105 140 175 210 240
(500) (1000) (1500) (2000) (2500)  (3000) (3500)

Pressure in bar (psi)

Total hydrodynamic power loss is the sum of each section at its
operating conditions.

— VPR

Load F in N (Lbs)

A 1Mo -

L

80

75

70

65

Lp. Noise level {db(A)} 1m ISO 4412

60

(450) 1980

(400) 1760

(350) 1540

(300) 1320

(250) 1100

(200) 880

(150) 660

(100) 440

Modifications

Mounting w/connection variables
4 bolts SAE flange (J518)
P1&P2=1-1/4" S =4"

UNC |[METRIC
VT7DD Mo

vT7DDS| 00 | Mo

Seal class
1-81 (for mineral oil)

4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Porting combination (see page BM-1-5)
00 - standard

Direction of rotation

(view on shaft end)

R - clockwise
L - counter-clockwise

NOISE LEVEL (TYPICAL)

VT7DDS- B31-B31

Inlet pressure 0.9 bar abs

Viscosity 32 cSt —
n = 1200 RPM -

= — n = 1800 RPM //
Lw = Lp + 8 db (A) _
L
— — ——— -1 —

35 70 105 140 175 210 240
(500) (1000) (1500) (2000) (2500) (3000)  (3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

|\ [F

Shaft keyed N° 1

600

900 1200

1500 1800 2100 2400

Speed n (rpm)

Maximum axial load permissible Fa = 800 N (180 Lbs)




HIGH PERFORMANCE VANE PUMP VT7DD /VT7DDS

5/8-11UNCx1.18 DEEP

7/16-14 UNCx0.94 DEEP-4 HOLES
(M12x24.0 DEEP)

(M16x30.0 DEEP)/4-HOLES

7/16-14UNCx0.94 DEEP 4 HOLES a3
(M12x24.0 DEEP)
1.19 3.06 2.68
(30.2) (77.8) (68.0)
. 031 KEY 0.394/0.315
W—« (10.00/8.00)
,J; \ - 1.97
m | ©09 M10x0.79 DEEP
7 Y / (20.0)
8| | i1 ]
i - 0.09x45° —
Sl <\ = (2.3x459) % g5 g
Shaft code 3 . . AN
T Q ' SAE C splined shaft = %’;;:‘:550) — & 2 28
| ; Class 1-J498b : 8|2
12/24 dp. 14 teeth Shaft code 5
91.25 ©4.00/ I 30° pressure angle
(31.8) (Keyed 1SO 3018/2-G32M)
(31.8) (101.6) ——(?g_ g) flat root side fit
8.386
13.69 3.31 (213.0)
(348.0) (84.1) K1
5.28 . 5.85 1.50 w K2
(1341) ! (1485) @8.1) KEY 0.3126/0.3106
/L ‘ (7.94/7.89)
0.31
' — (7.9) M10x0.79 DEEP
% N _ . (20.0)
ge 17 <|z 9@ ~_ [ 184
32 I EL D) @3]
/
I ) >% 7,{ffm[ ﬁ;’?g
~— | . 8e
|
3 § 0.09x45° ~
©le ; eaxasy— 9% £
- ] P
+ 1 - — S22 &
B8 Bl
ex45° qR e
St
MOUNTING TORQUE 140 ft.lbs MOUNTING TORQUE 140 fibs
181 (190 Nm) o0 Shaft code 1 051 (01.0) KEY 0.375/0.373
(46.0) (Keyed SAE C) 7.9) 2.00 (9.52/9.47)
(07.391) - M (50.8)
: M10x0.79 DEEP.
(20.0)
0.97
(24.5) Shaft torque limits in3/rev x psi (ml/rev x bar)
| Shaft Vp x p max. (P1+P2) +1l — - —<H /
T Shaft code 4 1 38299 (43240)
B SAE BB splined shaft 2 63552 (71822) I -3
0.06x45°  Class 1-J498b g =S
(1.5x45°)  12/24 dp. 15 teeth g 54207 (61200) Shaft code 2 0.00545° 58 3 §
30° pressure f_:\ngle 4 31780 (28120) (Keyed SAECC) “@.axas) 8 3 ey
L flat root side fit 5 40035 (35424) s 8,
Alternate mounting flange
Series oS ex45° w K1 oD1 K2 oD2
MAX. Min.
VT7DD | 4.921(124.99) | 4.919 (124.94) | 0.079 (2.0) | 0.374 (9.49) | 7.087 (180.0) | 0.709 (18.0) | 4.454 (113.1) | 0.551 (13.9)
VT7ZDDS | 5.00(127.00) | 4.998 (126.94) | 0.059 (1.5) | 0.0 (12.7) | 7.126 (181.0) | 0.689 (17.5) | 4.508 (114.5) | 0.563 (14.3)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
Pressure Volumetric Flow g & n = 1800 rpm [ Input power p & n = 1800 rpm |
ort Series|Displacement Vp| p = o bar (0 psi) [ p = 140 bar (2000 psi)[p = 250 bar (3630 psi)|p = 7 bar (100 psi)p = 140 bar (2000 psi)[p = 250 bar (3630 psi)
P indfrev_| cm3rev| gpm [ Ipm | gpm Ipm gpm Ipm hp | kw hp kw hp kw
B14 2.68 43.9 20.92 79.1 19.18 725 17.81 67.3 3.46 2.6 27.77 20.7 47.03 35.07
B17 3.36 55.0 |26.16 | 98.8 | 24.41 92.3 23.04 87.0 | 377 | 238 33.88 25.3 57.71 | 43.03
B20 4.03 66.0 |31.39 |118.6 | 29.64 112.0 28.27 | 106.8 | 4.07 | 3.0 39.98 29.8 68.39 | 50.99
B22 4.29 70.3 | 33.43 |126.4 | 31.69 119.8 30.32 | 1046 | 4.19 3.1 42.37 31.6 7257 | 54.11
P1 B24 4.95 81.1 38.57 [145.8 | 36.82 139.2 35.45 134.0 4.49 3.4 48.36 36.1 83.06 61.93
& B28 5.49 89.9 |42.80 |161.8 | 41.06 155.2 39.69 | 1500 | 474 | 35 53.30 39.7 91.70 | 68.38
B31 6.05 99.1 | 47.18 [178.3 | 45.43 171.7 4406 | 1665 | 499 | 37 58.41 436 | 100.63 | 75.03
P2 B35"| 6.92 113.4 | 53.93 |203.9 | 52.18 197.2 50.81 | 192.0 | 5.39 | 4.0 66.29 49.4 | 114.42 | 85.32
B3g"| 7.36 1206 | 57.35 |[216.8 | 55.61 210.2 5424 | 2049 | 559 | 4.2 70.27 524 | 121.42 | 90.54
B42”| 8.39 137.5 65.39 (247.2 | 63.65 240.6 62.28 235.4 6.05 4.5 79.66 59.4 137.83 (102.77
045%| 8.89 145.7 69.29 (262.0 67.11 253.6 65.31 246.8 6.74 5.0 83.75 62.4 145.79 | 108.71
050“| 9.64 157.9 | 75.14 |284.0 | 72.96 275.8 7178 | 2713 | 7.08 | 5.3 90.58 67.5 | 134.50 |100.30

1) B35-B38 = 280 bar (4060 psi) max.int.

2) B42 = 260 bar (3770 psi) max.int.

3) 045 = 240 bar (3500 psi) max. int.

4) 050 = 210 bar (3000 psi) max. int

[ BM-2-10 1



DP

HIGH PERFORMANCE VANE PUMP VT7ED /VT7EDS

VI7ZEDor VTI7EDS - 042 - B22 -1 R 00-A 1 01 *
- T T T T T T
Series
VT7ED series-125-A2 HW
ISO 2 bolts 3019-2 mounting flange m P2
VT7EDS series- SAE C 2 bolts
Mounting flange J744c
Cam ring for "P1"
Volumetric displacement cm3/rev (in3/rev)
042 = 132.2(8.07) 057 = 183.2(11.18)
045 = 142.5(8.70) 062 = 196.6 (12.0)
050 = 158.5 (9.67) 066 = 213.0 (13.0)
052 = 163.8 (10.0) 072 = 227.1 (13.86)
054 = 170.9 (10.43) 085 = 268.7 (16.40)
Cam ring for "P2"
Volumetric displacement cm3/rev (in3/rev)
B14 = 43.9 (2.68) B31 = 99.1 (6.05)
B17 = 55.0 (3.36) B35 = 113.4 (6.92)
B20 = 66.0 (4.03) B38 = 120.6 (7.36)
B22 = 70.3 (4.29) B42 = 137.5 (8.39)
B24 = 81.1 (4.95) 045 = 145.7 (8.89)
B28 = 89.9 (5.49) 050 = 157.9 (9.64)
Type of shaft VT7ED- VT7EDS

5 - keyed (ISO/R775 -G38M)

INTERNAL LEAKAGE ( TYPICAL)

(9.0) 36
24 ¢St 2
t - — 10cst v
S (7.5) 30
S e
v
£
8 (60) 24 e
c - 1
£ v P
[
G s 18 - P2
[ ~ /
o v ~1 —
] e ~ |~
X — P1
0) 12
% @.0) Pz P o . —
] g P | -
g 05 6 e L~ ///
e -
E s L —]
4 /%
0
0 35 70 105 140 175 210 240

(500)

(1000)

(1500) (2000)

Pressure in bar (psi)

(2500) (3000) (3500)

Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

P1

P1

n = 2200 rpm

B S S I S - NI

n = 1200 rpm

- — n = 1800 rpm (24 cSt)

o

0 35
(500)

70

(1000)

105
(1500)

140
(2000)

175 210
(2500) (3000)

240
(3500)

n = 2200 rpm
= — n = 1800 rpm
n = 1200 rpm

Power loss Ps (hp)

(24 cSt)

P2

—

P2

—

P

P2

- N w oA oo N

L

o

0 35
(500)

70

(1000)

105 140
(1500) (2000)

Pressure in bar (psi)

175
(2500)

210
(3000)

240
(3500)

Total hydromechanical power loss is the sum of each section at its
operating conditions.

S BM-2-15]

Load F in N (Lbs)

Lp. Noise level {db(A)} 1m ISO 4412

(875)

(800)

(725)

(650)

(575)

(500)

(425)

(350)

(275)

(200)

80

¢¢ VELJAN

Modifications

Mounting W/connection variables
4 bolts SAE flange J518
P1=1-1/2" P2= 1-1/4" S=4"
VT7EDS|VT7ED-VT7EDS
UNC METRIC
01 M1
Seal class
1-81 (for mineral oil)
4 - S4 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)

Type
code

Design letter

Porting combination (see page BM-1-5)
00 - standard

Direction of rotation

(view on shaft end)

R - clockwise

L - counter-clockwise

Type of shaft VTI7EDS
1 - keyed (SAE CC)
2 - keyed (no SAE)

3 - splined (SAE C)
4 - splined (SAE CC)

NOISE LEVEL ( TYPICAL)

VT7EDS- 050-B31

{

{

Inlet pressure 0.9 bar abs
Viscosity 32 cSt

n = 1200 RPM L=
- — n=1800 RPM —
. Lw = Lp + 8 db (A) —
P
~
-
—
~
L
- /
-_— b

70
65

0 35 70 105 140 175 210 240

3850

3520

3190

2860

2530

2200

1870

1540

1210

880

(500)

(1000)

(1500) (2000)

Pressure in bar (psi)

(2500) (3000)  (3500)

Double pump noise level is given with each section discharging at
the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

Shaft keyed N° 1

|Fa

600 1000

1400 1800 2200

Speed n (rpm)

Maximum permissible axial load Fa = 2000 N (449 Lbs)




HIGH PERFORMANCE VANE PUMP VT7ED / VT7EDS

Bx1.18 DEEP-4 HOLE
x1.18 OLES 0.69 354 VT7ED

(30.0)
(17.5) (89.9)
Cx0.94 DEEP-4 HOLES w KEY 0.394/0.315 2.20 P
X (10.00/8.00) 559 245 ©1.9)
0.39 0.3 ——|-0:09x45°
©9) M10x0.79 DEEP __| . 0.31 ] 79 (2.3x45°)
- 1.97 200) M M [] KEY 0.313
(50.0) 1.50, 0311
/ / (37 (7.94/7.89)
N e + = + 7? L — e
o= _ o~
2 % 00945° ' o IR %
o 28 1 | 0.09x: 0.09x45 SIR
P Ik s (2.3x45°) | (2.3x45% s gp
Sla & @ 3v a2|§
,‘_,,,,ﬁ 2o g |~ Bl
B L L] ale ¢
01.46 Shaft code 5 Shaft code 3 Shaft code 4 Shaft code 2
(37.1) (Keyed ISO/R775-G38M)  SAE C splined shaft SAE CC splined shaft (Keyed non SAE)
Class 1-J498b Class 1-J498b
12/24 dp. 14 teeth 12/24 dp. 17 teeth
30° pressure angle 30° pressure angle
14.21 3.58 Flat root side fit Flat root side fit
(361.0) (90.9)
5.84 ) 5.26 2.06 w VT7EDS 8.386
(148.2) (133.5) (52.3) (@1 2.0)
0.31 KEY 0.375/0.373
! (7.9) 0.25 MAX. 9.52/9.47)
5 (6.35)
/ ‘ 2.00 M10x0.79 DEEP
- g - 50.8) (20.0)
[=] (3]
ge g8 ‘ /
ol
A R A I R o SN o 0
ge © :
— [=]
g_:a‘ ‘o_ 8 = . | / Q|
|0 P g 8 ’8‘ é ‘ d
4 — || — | T
o095 | |8 2o ’@ - @ -
N (2.3x45%) " § s g T | T
MOUNTING TORQUE 138 ft.lbs o] ex45° 5 ;8; =< Shaft torque limits in3/rev x psi (ml/rev x bar)
(187 Nm) Shaft Vp x p max. (P1+P2)
MOUNTING TORQUE 138 ft.Ib: Shaft code 1 d 64089 (72372)
.IDS (Keyed SAE CC)
(187 Nm) 2 30638 (34590)
- 3 54207 (61200)
Alternate mounting flange 2 60673 (68568)
Series oS ex45° \ K oD 5 60673 (68568)
MAX. Min. Alternate iables
VT7ED | 4.921 (124.99) 4.919 (124.94) | 0079 (2.0) | 0.374(9.49) | 7.087(180.0) | 0.709 (18.0) o1 M1
VT7EDS | 5.00 (127.00) 4.998 (126.94) | 0.051(1.3) | 050(12.7) | 7.126 (181.0)| 0.689 (17.5) A| 1/2-13UNC m12
B| 5/8-11 UNC M16
c| 716-14UNC | wm12

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm
Series|Displacement Vp|p = 0 bar (0 psi) [p = 140 bar (2000 psi)| p = 240 bar (3500 psi) p = 7 bar (100 psi)|p = 140 bar (2000 psi)|p = 240 bar (3500 psi)|
port indrev | cmdrev | gpm | lpm| gpm lpm | gpm Ipm hp kw hp kw hp kw
042 8.07 132.2 62.92 | 237.8| 60.37 | 228.2 | 5852 | 221.2 8.09 | 6.03 78.44 | 58.49 133.80 | 99.77
045 8.70 142.5 67.72 | 255.9| 65.17 | 246.3 | 63.32 | 239.3 8.37 | 6.24 84.04 | 62.66 143.60 | 107.08
050 9.67 158.5 75.38 | 284.9| 72.83 | 275.3 | 70.98 | 268.3 8.82 | 6.58 92.97 | 69.32 159.24 | 118.75
052 10.00 163.8 | 78.37 | 296.2| 75.82 | 286.6 | 73.97 | 279.6 8.99 | 6.70 96.47 | 71.94 165.36 | 123.31
P1 054 10.43 170.9 81.27 | 307.2| 78.72 | 297.6 | 76.87 | 290.6 9.17 | 6.84 99.75 | 74.38 177.46 | 132.33
057 11.18 183.2 87.12 [ 320.3| 8457 | 319.7 | 8272 | 3127 951 | 7.09 | 106.57 | 79.47 189.84 | 141.56

062 12.00 196.6 93.54 | 353.6/ 90.99 343.9 89.14 | 336.9 9.88 7.37 114.17 | 85.13 196.34 | 146.41
066 13.00 213.0 [101.44 | 383.4| 98.89 373.8 97.04 | 366.8 10.34 7.71 123.38 92.0 212.46 | 158.43
072 13.86 2271 |108.00 | 408.2| 105.45 398.6 |103.60 | 391.6 10.72 7.99 131.04 | 97.71 225.86 | 166.42

085" | 16.40 268.7 [127.79 | 483.0] 126.13 476.7 - - 11.88 8.85 101.66 | 75.80 - -
p = 0 bar (0 psi) [p = 140 bar (2000 psi)|p = 250 bar (3630 psi)} p = 7 bar (100 psi)|p = 140 bar (2000 psi) p = 250 bar (3630 psi)|
B14 2.68 43.9 20.92 79.1 19.18 725 17.81 67.3 3.46 26 27.77 20.7 47.03 35.07
B17 3.36 55.0 26.16 | 98.8| 24.41 92.3 23.04 87.0 3.77 28 33.88 253 57.71 43.03
B20 4.03 66.0 31.39 | 118.6| 29.64 112.0 28.27 | 106.8 4.07 3.0 39.98 29.8 68.39 50.99
B22 4.29 70.3 33.43 | 126.4| 31.69 119.8 30.32 | 104.6 4.19 3.1 42.37 31.6 72.57 54.11
B24 4.95 81.1 38.57 | 145.8| 36.82 139.2 35.45 | 134.0 4.49 3.4 48.36 36.1 83.06 61.93
P2 B28 5.49 89.9 42.80 | 161.8| 41.06 155.2 39.69 | 150.0 4.74 3.5 53.30 39.7 91.70 68.38
B31 6.05 99.1 4718 | 178.3| 45.43 171.7 44.06 | 166.5 4.99 3.7 58.41 43.6 100.63 75.03

B35?| 692 | 1134 | 53.93 |203.9| 5218 | 197.2 | 50.81 | 192.0 539 | 40 | 6629 | 494 114.42 | g5.32
B38?| 7.36 | 1206 | 57.35|216.8| 5561 | 210.2 | 54.24 | 204.9 559 | 40 | 7028 | 504 121.42 | 9054
B42®| 839 | 1375 | 6539 | 2472 6365 | 2406 | 6228 | 235.4 605 | 45 | 7966 | 594 137.83 | 102.77
0459 | 889 | 1457 | 69.29 | 262.0| 67.11 | 2536 | 65.31 | 246.8 674 | 50 | 8375 | goa 145.79 | 108.71
050°| 964 | 157.9 | 75.14 | 284.0| 7296 | 2758 | 71.78 | 271.3 708 | 53 | 9058 | 675 134.50 | 100.3

1) 085 = 90 bar (1300 psi) max.int. & 085 = 2000 rpm max. 2) B35-B38 = 280 bar (4060 psi) max.int. ~ 3) B42 = 260 bar (3770 psi) max.int.
4) 045 = 240 bar (3500 psi) max. int. 5) 050 = 210 bar (3000 psi) max. int

[ BM-2-16 1




DP

HIGH PERFORMANCE VANE PUMP VT67BB

VT67BB W - B10- B10-1

Series-SAE B 2 bolts
Mounting flange J744c
Use for severe duty shaft only.

Cam ring for "P1" and "P2"

Volumetric displacement cm®/rev (in*/rev)

B02 = 5.8 (0.35) B09 = 28.0 (1.71)
BO3 = 9.8 (0.60) B10 = 31.8 (1.94)
B04 = 12.8 (0.78) B11 = 34.9 (2.13)
BO5 = 15.9 (0.97) B12 = 40.9 (2.50)
B06 = 19.8 (1.21) B14 = 45.1 (2.75)
BO7 = 22.5 (1.37) B15 = 50.0 (3.05)
BO8 = 24.9 (1.52)

Type of shaft
1 - keyed (no SAE)
3 - splined (SAE BB)
5 - splined (SAE B)

R 00 -

A1l-

VELJAN

M1 -

L Modifications

Mounting W/connection variables
11 = 4 bolts SAE flanges

(J518c) UNC thread

M1 = 4 bolts SAE flanges

(J518c) Metric thread

Seal class

1-81 (for mineral oil)

4 - S4 (for fire resistant fluids)
5 - 85 (for mineral oil and fire
resistant fluids)

Design letter

Porting combination (see page BM-1-5)
00 - standard

Type of shaft- W version
2 - keyed (SAE BB)

INTERNAL LEAKAGE ( TYPICAL)

(6.0) 24

£ —— 245t
------- 10 cSt
o
& (50 20
e
£
2 4.0) 16
£
&
5 30 12
o
]
=
E (2.00 8
= P1-P2| .-
- S i
8 (0 4
S N I IR I = —
= e T L ———TFiR
0 e |
0 35 70 105 140 175 210 240 275 300
(500) (1000) (1500) (2000) (2500) (3000) (3500) (4000) (4350)

Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or viscosity
if internal leakage is more than 50 of theoretical flow.
Total leakage is the sum of each section loss at its operating
conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

5
+—+— n = 2800 rpm

4 |==mm——- n = 1800 rpm (24 cSt)
B n = 1200 rpm
o
5
<
]
o 3
»
]
2 PiP2_ | _.—
g 2 R ———
: — I
* e P17Pg ----------

| e B1P2

..............
..................
P
0 35 70 105 140 175 210 240 275 300
(500)  (1000) (1500) (2000) (2500) (3000) (3500) (4000) (4350)

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section
at its operating conditions.

— CESR

Load F in N (Lbs)

Direction of rotation (view on shaft end)

R - clockwise
L - counter-clockwise

NOISE LEVEL ( TYPICAL)
VT67BB- B10-B03

75
o { { {
<
< Inlet pressure 0.9 bar abs
8 Viscosity 32 ¢St
2 70| — n=1200RPM
E | Do S00.FE o T
- w=Llp+8do(A | | | |
~ | e T
I e
2
2 6
el ___,‘
° | T /
> .
& |~ |
2 60 SO S
z° \/
-3
]
55
0 10 50 105 140 175 210 240 275 300
(145)  (725) (1500) (2000) (2500) (3000) (3500) (4000) (4350)
Pressure in bar (psi)
Double pump noise level is given with each section discharging

at the

pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

(350) 1540 p——
L
i
(300) 1335
Fa
Shaft keyed N° 1
(250) 1100
(200) 900
(150) 660
(100) 440
(50) 222
600 1000 1200 1500 1800 2000 2500 2800

Speed n (rpm)

Maximum permissible axial load Fa = 800N (180 Ibs)




HIGH PERFORMANCE VANE PUMP VT67BB

VELJA

3/8-16 UNCx0.75 DEEP -4 HOLES
(M10x19.0 DEEP)
1/2-13 UNCx0.94 DEEP -4 HOLES 0.50 2.81
(M12x24.0 DEEP) (12.7) (71.4) VT67BBW 1.79 1.60
45.5 (40.7)
0.874 (45.5)
222 1.031 0.81 031 081 |
@22 7.9) 7.9) .9)
KEY 0.250/0.248
f ’ (6.35/6.30)
:E ; “@' 1.80 M8x0.63 DEEP 9.969 o908
X0.
g 24.5 (24.5)
o 0 | VAR o
NI oo i
QAT e A B 0.06x45° 0.06x45°
! ; (1.5x457) (1.5x45°)
‘ g5 Zlg
E o 2lg 23
A 0.06x45° glg =% Shaft code 3 Shaft code 5
7 (1.5x45°) =9 7 SAE BB splined shaft SAE B splined shaft
2.00 - Q= Class 1-J498b Class 1-J498b
(19.08) 92,50 / (50.8) (25.4) 16/32 dp. 15 teeth 16/32 dp. 13 teeth
(63.5) : 30° pressure angle 30° pressure angle
Shaft code 2 Flat root side fit Flat root side fit
3/8-16 UNCx0.75 DEEP -4 HOLES (Keyed SAE BB)
(M10x19.0 DEEP)
10.46 2.29 6.87
(265.6) (58.2) (174.5)
3.47 4.00 1.50 0.38 5.75
88.2 101.6) 38.1 9.7 (146.0)
(88.2) ( ) (0 s ) 9.7) 0875
7.9) 0.25Max.| KEY 0.1875/0.1855 (73.0)
L 635 |/ (4.762/4.712)
5% ol | 755 8
s|& Zle t E— A ICE) _ g
_ / &8
[ T | gla o .5_
H— ' I 82 §|3
N 33
2 « _ N0.06 x 45° z ola
|8 — T5xd5) gl
gl a. .ls 8z
. Bla
005:5° S| g @
MOUNTING TORQUE 53 ft.lbs - (13d5) B § ols
(72 Nm) gla s|¢
8 o
MOUNTING TORQUE 138 ft.lbs Shaft code 1
(188 Nm) (Keyed no SAE)
Shaft torque limits in’/rev x psi(ml/rev x bar)
Shaft Vp x p max. (P1+P2)
1 12666 (14300)
2 18972 (21420)
3 28937 (32670)
5 18246 (20600)
Pressure Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm
PO: Series Displacement Vp  |p = 0 bar (0 psi) | p = 140 bar (2000 psi) | p = 300 bar (4350 psi) [p = 7 bar (100 psi)|p = 140 bar (2000 psi)|p = 300 bar (4350 psi)
in’/rev cm’/rev gpm Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
B02 0.35 5.7 2.76 10.4 2.33 8.8 1.80 6.8 0.74 0.55 4.02 2.99 8.10 6.40
B03 0.60 9.8 4.66 17.6 4.23 15.9 3.70 14.0 0.85 0.63 6.24 4.65 12.93 10.25
B04 0.78 12.8 6.09 23.0 5.66 21.4 5.13 19.4 0.94 0.70 7.90 5.89 16.55 13.13
B0O5 0.97 15.9 7.56 28.6 7.13 26.9 6.60 25.0 1.02 0.76 9.62 717 20.29 16.12
B06 1.21 19.8 9.42 35.6 8.99 33.9 8.46 32.0 1.13 0.84 11.79 8.79 25.00 19.88
P1 BO7 1.37 225 10.70 | 40.4 10.27 38.8 9.74 36.8 1.20 0.89 13.29 9.91 28.26 22.47
& B08 1.52 249 11.84 | 447 11.41 43.1 10.88 411 1.27 0.94 14.62 10.90 | 31.15 24.78
P2 B09 1.71 28.0 13.31 50.3 12.87 48.6 12.35 47.0 1.36 1.01 16.35 12.19 | 34.92 27.77
B10 1.94 31.8 15.12 | 57.2 14.69 55.5 14.16 53.5 1.46 1.11 18.45 13.75 | 39.48 31.42
B11 i 2.13 34.9 16.64 | 62.9 16.19 61.2 15.68 59.3 1.55 1.15 20.17 15.04 | 43.22 32.22
Bi12 K 2.50 40.9 19.50 | 73.7 19.07 721 18.54 70.1 1.72 1.28 23.55 17.56 | 50.58 37.71
B14 " 2.75 451 21.40 | 80.8 20.95 79.2 20.44 77.0 1.83 1.36 25.80 19.23 | 55.48 41.37
B15 " 3.05 50.0 23.78 | 89.8 23.35 88.3 22.88 86.5 1.97 1.47 28.55 21.28 57.35 42.7

1) B11-B12-B14 = 300 bar (4350 psi) & B15 = 280 bar (4060 psi) max. int. And Max. Speed = 3000 rpm

[_Bl-3-2

DP



DP

HIGH PERFORMANCE VANE PUMP

VT67CB W - 012 - B08 -1

Series- SAE B 2 bolts j
Mounting flange J744c

Use for severe duty shaft only

Cam ring for "P1"
Volumetric displacement cm3/rev (in3/rev)

*003/B03 = 10.8(0.66)  015/B15 = 50.5 (3.08)
005/B05 = 17.2(1.05) 017/B17 = 58.3 (3.56)
006/B06 = 21.3(1.30) 020/B20 = 63.8 (3.89)
008/B08 = 26.4 (1.61) 022/B22 = 70.3 (4.29)
010/B10 = 34.1 (2.08) 025/B25 = 79.3 (4.84)
012/B12 = 37.1 (2.26) 028/B28 = 88.8 (5.42)
014/B14 = 46.0 (2.81) 031/B31 = 100.0 (6.10)
*10'-  Uni - directional 'B'- Bi - directional

Cam ring for "P2"

VELJAN

Modifications

Mounting W/connection variables

P1=1"P2=3/4" S=2%
UNC METRIC
11 M1
Seal cl

Volumetric displacement cm3/rev (in3/rev)

B02 = 57 (0.35) B09 = 28.0 (1.71)
BO3 = 9.8(0.60) B10 = 31.8 (1.94)
B04 = 128(0 78) B11 = 34.9 (2.13)
B05 = 15.9 (0.97) B12 = 40.9 (2.50)
B0O6 = 19.8 (1.21) B14 = 45.1 (2.75)
B07 = 225 (1.37) B15 = 50.0 (3.05)
B08 = 24.9 (1.52)

Type of shaft

1- keyed (no SAE) W version

3- splined (SAE BB)
5- splined (SAE B)

2- keyed (SAE BB)

INTERNAL LEAKAGE ( TYPICAL)

6.0) 24
24 cSt
T — — 10cst e
S (50 20
o P11
=
7
£ —
2 (4.0) 16 —
£ /
] Ve
3 @.0) 12
o A
= - Pt
3 o s £
2 @ VZ —
g - // P2 L — '
c 2 -
- —
2 (10 4 = = e
= y — T
- A — L —
Al ==T — P2
—
o =1
0 35 70 105 140 175 210 240 275 300

(500) (1000)  (1500)
Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or viscosity

if internal leakage is more than 50% of theoretical flow.

(2000)  (2500)  (3000) (3500)  (4000)  (4350)

Total leakage is the sum of each section loss at its operating conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

7 1

n = 2800 rpm
6 | — — n=1800rpm (24 cSt)
n = 1200 rpm
5
P1
g ¢ - =
£ _ L - — P1 —
3 —1= F——
7} L —
-8 —_ — 7T | Pl — —
2 —
(] o
g I,
= 1
g o
[+ 0 35 70 105 140 175 210 240 275
o (500)  (1000) (1500)  (2000)  (2500)  (3000) (3500)  (4000)
5 n = 2800 rpm I
4 | — — n=1800rpm (24 cSt)
n = 1200 rpm
3 PL — =
. _ -
— - -7 ~ e L — 4
1 — = —— =
. P R r P2
0 35 70 105 140 175 210 240 275 300

(500) (1000)  (1500) (2000) (2500) (3000) (3500)  (4000)  (4350)

Pressure in bar (psi)
Total hydromechanical power loss is the sum of each section
at its operating conditions.

S B33

Load F in N (Lbs)

75

70

65

60

Lp. Noise level {db(A)} 1m ISO 4412

55
0

(350) 1540

(300) 1335

(250) 1100

(200)

(150)

(100)

(50) 222

1-81 (for mineral oil)
4 - 84 (for fire resistant fluids)
5 - S5 (for mineral oil and fire resistant fluids)

Design letter

Porting combination (see page BM-1-5)
00 - standard

Direction of rotation
(view on shaft end)

R - clockwise
L - counter-clockwise

NOISE LEVEL ( TYPICAL)

VT67CB- 014-B03

Viscosity 32 cSt

n = 1200 RPM

— — n = 1800 RPM
Lw = Lp + 8db (A)

Inlet pressure 0.9 bar abs —

|

P

10 50
(145) (725)

105
(1500)

140
(2000)

175
(2500)

210
(3000)

240
(3500)

Pressure in bar (psi)

Double pump noise level is given with each section discharging
at the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

Fa

Shaft keyed code 1

600 1000

1200
Speed n (rpm)

1500 1800 2000 2500 2800

Maximum permissible axial load Fa = 800N (180 Ibs)




HIGH PERFORMANCE VANE PUMP VT67CB

3/8-16 UNCx0.75 DEEP -4 HOLES
(M10x19.0 DEEP)

¢¢ VELJAN

1/2-13 UNCx0.94 DEEP -4 HOLES 0.50 2.81
(M12x24.0 DEEP) (12.7) (71.3) VT67CBW
0.874 1.60
0.873 1.79
(22.2) 1,031 (07'_%1) (40.7)
(26.2) 0.31 031,
B KEY 0.250/0.248 (7.9) (7.9)
if Ay (6.35/6.30)
:E’ @ohl/ M8x0.63 DEEP socs
Ca " 16.0 X
© {)\ (16.0 (24.5)
N AN i ! | — = - -
-l
' — s 0.06x45° 0.06x45°
O o g5 Z[R (1.5x45°% (1.5x45°)
w0 =0
Qla -
,,,,, Sls A
i T 0.06x45° _|| Sl =~
[ (1.5x45°) 58 T Shaft code 3 Shaft code 5
00.75 2.00 21.00 = o= SAE BB splined shaft SAE B splined shaft
(19.05) %23:;0 (50.8) (25.4) Shaft code 2 Class 1jfg;;: e Class 134931:
(63.5) (Keyed SAE BB) 16/32 dp. 15 teeth 16/32 dp. 13 teeth
3/8-16 UNCx0.75 DEEP -4 HOLES 30° pressure angle Sl IESIe e
(M10x19.0 DEEP) Flat root side fit Flat root side fit
10.46 2.29 6.87
(265.6) (58.2) (174.5)
3.47 4.00 1.50 0.38 5.75
(88.2) (101.6) (38.1) 9.7) (146.0)
2.875
0.25MAx.|  KEY 0.1875/0.1855 (73.0)
(6.35) /T (4.762/4.712)
a5 g« 1.25/ =
S &€ IEER)) oz ae
[ / o s
- I 8l 9|2 3
- 8e g8
~ — 3|8 g&
83 006xa5% | 4|5 2 23
N (1.5x45°) 5 % Si=
S|y =g
ole g ‘
0.05x45° =t § 2 & Shaft torque limits in3/rev x psi(ml/rev x bar,
MOUNTING TORQUE 45 ft.Ibs (1.3x45°)  9Q|] Shaft Vp x p max. (P1+P2)
(61 Nm) Shaft code 1 1 12666 (14300)
MOUNTING TORQUE 117 ft.lbs {(eyedlnoo ok} 2 18972 (21420)
3 28937 (32670)
(159 Nm)
5 18246 (20600)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
Pressure Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm
t Series|Displacement Vp|p = 0 bar (0 psi) [p = 140 bar (2000 psi)| p = 275 bar (4000 psi)|p = 7 bar (100 psi)[p = 140 bar (2000 psi)p = 275 bar (4000 psi
BOl) in3rev | cm3rev| gpm | Ipm | gpm Ipm gpm Ipm hp kw hp kw hp kw
003 0.66 10.8 514 | 19.6| 3.85 14.6 - - 2.11 1.57 8.45 6.30 - -
005 1.05 17.2 8.18 | 309 6.89 26.0 5.68 21.5 2.29 1.70 12.00 8.94 19.81 | 14.77
006 1.30 21.3 [10.13| 38.3| 8.84 33.4 7.63 28.8 2.40 1.78 14.28 | 10.64 | 23.79 | 17.74
008 1.61 26.4 [1255| 474 11.26 42.6 10.05 37.9 2.54 1.89 1711 | 12.75 | 28.75 | 21.43
010 2.08 341 |16.22 | 61.3| 14.93 56.4 13.71 51.8 2.76 2.06 21.38 | 1594 | 3622 | 27.00
P1 012 2.26 371 |17.64| 66.7| 16.35 61.8 1514 | 57.2 2.84 2.1 23.05 | 17.18 | 39.14 | 29.18
014 2.81 46.0 |21.88| 82.7| 2059 77.8 19.37 73.2 3.09 2.30 27.99 | 20.87 | 47.78 | 35.62
015 3.08 50.5 |[23.99| 90.7| 2283 86.3 21.56 81.5 3.21 2.40 30.30 | 22.60 | 51.36 | 38.30
017 3.56 583 |27.73 | 104.8| 26.44 99.9 2522 | 95.3 3.43 2.55 34.81 | 2595 | 59.73 | 44.54
020 3.89 63.8 |30.34 | 114.7| 29.05 | 109.8 27.84 | 105.2 3.58 2.66 37.86 | 28.23 | 65.07 | 48.52
022 4.29 70.3 |33.43 | 126.4| 32.14 | 1215 30.93 |116.9 3.76 2.80 4147 | 3092 | 71.38 | 53.22
025 " 4.84 79.3 | 37.71| 1425 36.42 | 137.6 3521 | 133.1 4.01 2.99 46.46 | 34.64 | 80.12 | 59.74
028 "% 542 88.8 | 42.23 | 159.6 | 40.94 | 154.7 40.32 | 152.4 427 | 318 | 51.74 | 3858 | 7673 | 57.22
031"% 610 | 100.0 |47.56 | 179.7| 46.27 | 174.9 45.65 | 1725 4.58 3.41 57.95 | 43.21 | 86.06 | 64.17
p = 0 bar (0 psi) |p = 140 bar (2000 psi)| p = 300 bar (4350 psi)| p = 7 bar (100 psi)|p = 140 bar (2000 psi}p = 300 bar (4350 psi
B02 0.35 5.7 276 | 104| 233 8.8 1.80 6.8 0.74 0.55 4.02 2,99 8.10 6.40
B03 0.60 9.8 466 | 17.6| 4.23 15.9 3.70 14.0 0.85 0.63 6.24 465 | 12.93 10.25
B04 0.78 12.8 6.09 | 23.0| 566 21.4 5.13 19.4 0.94 0.70 7.90 589 | 16.55 13.13
BO5 0.97 15.9 756 | 286 7.13 26.9 6.60 25.0 1.02 0.76 9.62 717 | 20.29 16.12
B06 1.21 19.8 942 | 356 8.99 33.9 8.46 32.0 113 0.84 11.79 879 | 25.00 | 19.88
B07 1.37 225 10.70| 40.4| 10.27 38.8 9.74 36.8 1.20 0.89 13.29 991 | 2826 | 2247
P2 B08 1.52 24.9 11.84| 44.7| 1.4 43.1 10.88 41.1 1.27 0.94 1462 | 10.90 | 31.15 | 24.78
B09 1.71 280 | 13.31| 503 | 12.87 48.6 12.35 47.0 1.36 1.01 16.35 | 1219 | 34.92 | 27.77
B10 1.94 31.8 15.12| 57.2| 14.69 55.5 14.16 53.5 1.46 1.11 18.45 | 13.75 | 39.48 | 31.42
B11 Y 2.13 34.9 16.64| 62.9| 16.19 61.2 15.68 59.3 1.55 1.15 20.17 | 15.04 | 4322 | 32.22
B12 ¥ 250 40.9 19.50| 73.7| 19.07 72.1 18.54 70.1 1.72 1.28 2355 | 17.56 | 50.58 37.71
B14 ¥ 2.75 451 21.40| 80.8| 20.95 79.2 20.44 77.0 1.83 1.36 25.80 | 19.23 55.48 41.37
B15 3.05 50.0 |23.78 | 89.8| 23.35 88.3 22.88 86.5 1.97 1.47 2855 | 21.28 | 57.35 | 42.76

1) 025-028-031 = 2500 rpm max. 2) 028-031 = 210 bar (3000 psi) max. int

3) B11-B12-B14 = 300 bar (4350 psi) & B15 = 280 bar (4060 psi) max. int. And Max. Speed = 3000 rpm

---- Not to use because internal leakage greater than 50 % theoretical flow.

[_Bl-3-4




DP

HIGH PERFORMANCE VANE PUMP VT67DB

VELJAN

VT67DB W -038-B8 1 R 0 - A 1 M1 -
Series- SAEC 2 bolts e .
Mounting flange J744c P2 Modifications
Mounting W/connection variables
severe duty shaft only
P1=1-1/4" P2=3/4" S=3"
Cam ring for "P1" UNC METRIC
Volumetric displacement cm3/rev (in3/rev) 11 M1
*014/B14 = 47.6 (2.90) 035/B35 = 111.0 (6.77) Seal cl
017/B17 = 58.2 (3.55) 038/B38 = 120.3 (7.34) ) .
1-81 (for mineral oil)
020/B20 = 66.0 (4.03) 042/B42 = 136.0 (8.30) ) ] )
024/B24 = 79.5 (4.85) 045/B45 = 145.7 (8.89) 4 - 84 (for fire resistant fluids)
028/B28 = 89.7 (5.47) 050/B50 = 158.0 (9.64) 5 - S5 (for mineral oil and fire resistant fluids)
031/B31 = 98.3 (6.00) 061/B61 = 190.5 (11.62) Design letter
*0'-  Uni - directionalB' - Bi - directional
Cam ring for "P2" Porting combination (see page BM-1-5)
Volumetric displacement cm3/rev (in3/rev) 00 - standard
B02 = 5 7 (0.35) B09 = 28.0 (1.71) Direction of rotation
B03 = 9.8(0.60) B10 = 31.8(1.94) (view on shaft end)
B04 = 12 8 (0.78) B11 = 34.9 (2.13) R - clockwise
B05 = 15.9 (0.97) B12 = 40.9 (2.50) L - counter-clockwise
B06 = 19.8 (1.21) B14 = 45.1 (2.75)
BO7 = 22.5(1.37) B15 = 50.0 (3.05) Sever duty (VT67DBW only)—— Type of shaft
BO8 = 24.9 (1.52) 5 - keyed (no SAE) 1 - keyed (SAE C)
2 - keyed (no SAE)
3 - splined (SAE C)
4 - splined (no SAE)
INTERNAL LEAKAGE ( TYPICAL) NOISE LEVEL ( TYPICAL)
VT67DB- 038-B04
(9.0) 36 75
— —— 10cst o Inlet pressure 0.9 bar abs _ —
= (8.0) 32 24 ¢St I Viscosity 32 cSt _—
g. s i n = 1200 RPM 7
G (70) 28 @ 7| |= — n=1s00rPm —
£ V2 = Lw = Lp + 8 db (A) =~
260 24 7 E —~ - - //
£ s = —~
0 (5.0) 20 7 < ~ — -
° v S 6 ~
S0 16 B ey
£ e ~ ]
© >
o @012 K]
3 7 S 60
£ @os _ p— °
] - 4
£ (1.0 4 < / — = — a
e s
== ™| 55
0 35 70 105 140 175 210 240 275 300 10 50 100 140 170 210 240
(500)  (1000) (1500)  (2000) ~ (2500) (3000) (3500) (4000) (4350) (145) (725) (1500) (2000) (2500) (3000) (3500)

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or viscosity

if internal leakage is more than 50% of theoretical flow.

Pressure in bar (psi)

Double pump noise level is given with each section discharging
at the pressure noted on the curve.

Total leakage is the sum of each section loss at its operating conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)

PERMISSIBLE RADIAL LOAD

8
n = 2400 rpm T
7 | = — n=1800rpm (24 cSt) (500) 2200 [—
6 n = 1200 rpm
I -l =" 450) 1980

5 e 1o _le

4 Shaft keyed N° 1
—_ 3 P1 | (400) 1760 —
o —_ = = —r —
= 2 P1 — g
4 = (350) 1540
-8 1 =
» =
7] 0 £ (800) 1320
o 0 35 70 105 140 175 210 240 w
3 500) 1000 1500 2000) (2500) 3000) (3500
q;) s (500)  (1000)  (1500) ~ (2000)  (2500) (3000) (3500) g (250) 1100
o n = 2400 rpm | 3
o 4 | — — n=1800rpm (24 cSt)

n = 1200 rpm (200) 880
3
. — 150) 660
2 B2 — ¢
- — - P2 - — T -
1 - _— — — 100 440
0 —_t = = T | (100)

0 35 70 105 140 175 210 240 275
(500)  (1000) (1500)  (2000)  (2500) (3000) (3500) (4000)

Pressure in bar (psi)

Total hydromechanical power loss is the sum of each section

at its operating conditions.

S B35

300
(4350)

600 1000 1200 1500 1800 2000 2500
Speed n (rpm)
Maximum permissible axial load Fa = 1200 N (270 Lbs)




HIGH PERFORMANCE VANE PUMP VT67DB

7/16-14 UNCx0.88 DEEP- 4 HOLES

5/8-11 UNCx1.12 DEEP 4 HOLES

(M12x22.3 DEEP)

¢¢ VELJAN

VT67DBW
(M16x28.4 DEEP 062 288 28
(15.7) (73.2) ©3.3)
0.874 2.441 1.188 0.31 0.31
(22.2) (62.0) (30.2) (]| (79 (7.9) (0-31)
all 7.9
| 150 |KEY 0.313/0.311 KEY 0'8.13311
. M (38.1) (7.95/7.89) 1.93 (7.95/7.89)
% / (48y
00
NI o | )
=g 1 )
I 5
‘ ols % 55 %
d= 2§ 3 2
0.09x45° o2 29 NEEER
—— OB oo ] 0
20.75 | 23.00/ 21.25 | 2|, (2.3x45°) N 2= =2 2
(19.05) / (76.2) (31.8) - 1S Shaft code 3 Shaft code 4 Mex0.63DEEP/ 9|3
SAE C splined shaft no SAE splined shaft (16.0)
3/8-16 UNCx0.75 DEEP-4 HOLES (sk:yzztngg‘:s 2 ey e Ty et Shaft code 5
(M10x19.0 DEEP) 12/24 Dp. 14 Teeth 12/24 Dp. 14 Teeth (keyed no SAE)
30° Pressure angle 30° Pressure angle
11.26 3.29 Flat root side fit Flat root side fit
(286.0) (83.6)
4.31 4.50 1.50, 0.50
(109.5) (114.3) (38.1) (12.7)
0.31
(7.9) KEY 0.313/0.311
0.25 MAX.
/k ‘ . TTess /" (7.95/7.89)
—~ ‘ — 1.94 M10x0.79 DEEP =
3% | 32 49.3) (20.0) _ &l
IS (D w|@ ™|©
= 4 3le
- = Ba ¢
S | I R (R 5 | - 2 &
8@ ooous | 9ls % 88 8
e \H (2.3x459) R Sz
=™ ~ =
f Sl 3|y
™~ |e
0.05x45° 2 Cle .
(1.3x45°) Q= Shaft torque limits in3/revxpsi(ml/revxbar)
MOUNTING TORQUE 50 ft.Ibs v P1+P.
(68 Nm) Shaft code 1 Shaft b X p max. (P1+P2)
(Keyed SAE C) 1 38299 (43240)
MOUNTING TORQUE 138 ft.Ibs 2 30638 (34590)
(187 Nm) 3 54207 (61200)
4 54207 (61200)
5 49247 (55600)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
Pressure Volumetric Flow q & n = 1800 rpm [ Input power p & n = 1800 rpm
t Series|Displacement Vp|p = 0 bar (0 psi)[p = 140 bar (2000 psi)[p = 240 bar (3500 psi) p = 7 bar (100 psi)| p = 140 bar (2000 psi)| p = 240 bar (3500 psi)
por intfrev_| cmejrev | @pm | Ipni gpm | Ipm | gpm | Ipm hp [ kw hp kw hp | kw
014 2.90 476 | 22.64 85.0( 20.46 77.4 18.8 711 4.02 2.99 29.31 21.85 49.34 36.79
017 3.55 58.2 231| 873 20.6 78.0 | 18.99 71.8 3.35 25 | 29.77 22.2 49.62 37.0
020 4.03 66.0 |31.39 |11.8.6] 29.29 101.4 | 2757 | 104.2 453 | 3838 | 3952 | 29.47 67.21 | 50.11
024 4.85 79.5 | 37.81| 142.8| 35.63 134.6 | 33.99 | 1285 491| 366 | 47.02 | 35.06 80.32 | 59.89
028 5.47 89.7 | 42.66 | 161.3| 40.48 153.0 | 38.84 | 146.8 519 | 3.87 | 52.68 | 39.28 90.23 | 67.28
031 6.00 98.3 | 46.75| 176.7| 4457 | 1685 | 42.93 | 1623 543 | 4.09 | 57.45 | 42.84 98.58 | 73.51
P1 035 6.77 111.0 | 52.79 | 199.6 50.61 191.3 48.97 184.1 5.78 4.31 64.50 48.09 110.91 82.70
038 7.34 120.3 | 57.21| 216.3] 55.03 208.1 | 53.39 | 201.8 6.04 | 450 | 69.66 | 51.94 111.94 | 83.47
0429 8.30 136.0 | 64.68 | 2445 6250 | 236.3 | 60.86 | 230.1 6.47 | 4.83 | 78.37 | 58.44 135.19 | 100.81
045" 8.89 1457 |69.29 | 261.9| 67.11 | 253.7 | 6547 | 2475 6.74 | 5.02 | 8375 | 62.45 144.61 [107.83
050 2| 964 158.0 | 75.14 | 284.1 72.96 275.8 71.78 271.3 7.08 5.27 90.58 67.54 134.54 [100.32
061 2| 11.62 190.4 75.6 | 285.8| 73.54 278.0 -- -- 7.37 5.50 97.49 72.69 - --
p = 0 bar (0 psi)|p = 140 bar (2000 psi)|p = 300 bar (4350 psi) p = 7 bar (100 psi)| p = 140 bar (2000 psi)| p = 300 bar (4350 psi)
B02 0.35 5.8 2.76 10.4 2.33 8.8 1.80 6.8 0.74 0.55 4.02 2.99 8.10 6.40
B03 0.60 9.8 466 | 17.6 4.23 15.9 3.70 14.0 0.85 | 0.63 6.24 4.65 12.93 | 10.25
B04 0.78 12.8 6.09 23.0 5.66 21.4 5.13 19.4 0.94 0.70 7.90 5.89 16.55 13.13
BO5 0.97 15.9 756 | 28.6 7.13 26.9 6.60 25.0 1.02 | 0.76 9.62 717 20.29 | 16.12
B06 1.21 19.8 9.42 35.6 8.99 33.9 8.46 32.0 1.13 0.84 11.79 8.79 25.00 19.88
B07 1.37 225 | 10.70 | 40.4| 10.27 38.8 9.74 36.8 1.20 | 0.89 13.29 9.91 28.26 | 22.47
P2 B08 1.52 24.9 11.84 447 11.41 43.1 10.88 411 1.27 0.94 14.62 10.90 31.15 24.78
B09 1.71 28.0 | 13.31| 503 12.87 486 | 12.35 47.0 1.36 | 1.01 16.35 12.19 34.92 | 27.77
B10 1.94 31.8 | 15.12| 57.2| 14.69 555 | 14.16 53.5 1.46 | 1.11 18.45 13.75 39.48 | 31.42
B11” 2.13 34.9 16.64 629 16.19 61.2 15.68 59.3 1.55 1.15 20.17 15.04 43.22 32.22
B2 2.50 409 | 1950 | 73.7| 19.07 721 | 18.54 70.1 172 | 128 | 2355 17.56 50.58 | 37.71
B14% 2.75 451 |21.40| 80.8] 20.95 79.2 | 20.44 77.0 1.83 | 1.36 | 25.80 19.23 55.48 | 41.37
B15" 3.05 50.0 | 23.78 89.8| 23.35 88.3 22.88 86.5 1.97 1.47 28.55 21.28 57.35 42.76

1) 042-045-050-061=2200 RPM max.

2) 050=210 bar (3000 psi) max. int,

4) B11-B12-B14 = 300 bar (4350 psi) & B15 = 280 bar (4060 psi) max. int. And Max. Speed = 3000 rpm

3) 061 = 120 bar (1740 psi) max. int, 061 = 80 bar (1160 psi) cont.

[_Bl-3-6_




DP

HIGH PERFORMANCE VANE PUMP VT67DC

VELJAN

VI67ZDC W -038-B08 1 R 00 - A 1 M1 -
Serles P2 L Modifications
SAE B 2 bolts
Mounting flange J744c Mounting W/connection variables
use for severe duty UNC METRIC
shaft only 00 [ o1 [mo] m1

P2 1" |3/ ORE | 3/4||

Camring for "P1" Seal cl
Volumetric displacement cm® /rev (in® /rev) esa ::a;s .
B14=2.68 (43.9) B31=6.05 (99.1) 1' sl (fo: ][T:'”fra.' ‘t’"zﬂ i
B17=3.36 (55.0) B35=6.92(1134) 5 S5 Efgr rlnieneerzllsoﬁ ancLlufirSe) resistant fluids)
B20=4.03 (66.0) B38=7.36 (120.6)
B22=4.29 (70.3) B42=8.39 (137.5) Design letter
B24=4.95 (81.1) 045=8.89 (145.7)
B28=5.49 (89.9) 050=9.64 (157.9) Porting combination
*'0'- Uni - directional 'B'- Bi - directional 00 - standard
Camring for "P2" Direction of rotation
Volumetric displacement cm® /rev (in® /rev) (view on shaft end)
003/B03=0.66 (10.80) 015/B15=3.08 (50.50) R - clockwise
005/B05=1.05 (17.20) 017/B17=3.56 (58.30) L - counter-clockwise
006/B06=1.30 (21.30) 020/B20=3.89 (63.80) o
008/B08=1.61 (26.40) 022/B22=4.29 (70.30) Selzlerddut\S(A(EVT67DCW only) Type of shaft
010/B10=2.08 (34.10) 025/B25=4.84 (79.30) 5 - keyed (no SAE) 1-keyed (SAE C)
012/B12=2.26 (37.10) 028/B28=5.42 (88.80) g ke{“’c}”g,fé?
014/B14=2.81 (46.00) 031/B31=6.10 (100.00) - splined ( )

*'0' - Uni - directional 'B'- Bi - directional

INTERNAL LEAKAGE (TYPICAL)

= 32
E_ rrrrrrrrrr 10.cSt ]
——— 2408t P1 .~ .
g 28 /, s
s 24 - 7
£ 20 - P — B
8 AT P2
16 ool
g N — =P |
3 . S T T e
E L —
4 5
B o
.9 B /
c 2>
= 0
0 35 70 105 140 160 175 190 210 240 275
(500)  (1000) (1500) (2000) (2500) (3000) (3500)  (4000)
(2175)  (2700)
Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or
viscosity if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECAHNICAL POWER LOSS (TYPICAL)
=== n = 2500 rpm P1 .
6 | oo n = 1800 rpm (24 CSY) e -
5 n=1200pm _ __, Lo i
E 4 e Pl | mes
2 N
S —— - P1__L.----1
7] 2
o —
1
(7]
[ )
S 0 35 70 105 140 175 210 240
5 (500) (1000) (1500) (2000) (2500) (3000) (3500)
% 5 — n = 2400 rpm
o 4 = 1800 rpm (24 cSt)
n = 1200 rpm P2 | _ademm===m
3 -
2
1
0
0 35 70 105 140 175 210 240 275
(500) (1000) (1500) (2000) (2500) (3000) (3500) (3400)

Pressure in bar (psi)

4 - splined (no SAE)

NOISE LEVEL (TYPICAL) - VT67DC- B31-022

o
< 80 Inlet pressure 0.9 bar abs
< Viscosity 32 cSt
o n = 1200 RPM
[ n =1800 RPM _d
E 75 Lw=Lp + 8 db (A) - P
- JUR
<
- . L —
3 /
>
°Q
3 65 /
8 60
-l 10 35 70 100 140 175 210 240
(145)  (500) (1000) (1500) (2000) (2500) (3000) (3500)
Pressure in bar (psi)
Double pump noise level is given with each section discharging at
the pressure noted on the curve.
PERMISSIBLE RADIAL LOAD
(450) 1980
[ //
(400) 1760 [~ DE /
—_—
4 Fa /]
ﬁ (350) 1540 -
= Shaft keyed N° 1 e
2 (300) 1320 e
£ /
L (250 1100 =
o /
S (@00 sso -
- /
(150) 660 ~
(100) 440
600 900 1200 1500 1800 2100 2400

Speed n (rpm)

Maximum permissible axial load Fa = 1200 N (270 Lbs)

Total hydromechanical power loss is the sum of each section at its operating conditions.

S Bl3.7




HIGH PERFORMANCE VANE PUMP VT67DC

5/8-11 UNCx1.12 DEEP

7/16-14 UNCx0.88 DEEP- 4 HOLES

VELJA

(M12x22.3 DEEP)
(M16x28.4 DEEP) 0.62 288 528 VT67DBW
4 HOLES {15.7) 732) 017 By
2.441 (833)
. 1.188 031 0.31 (55.2)
(62.0) 302) — [ 79 7.9) (o.:;;
= 7 KEY 0.313
_)j— 1.50 KEY 0.313 ]
:} (38.1) 0.311 B 2,36 o 0.98191
'69 (7.95/7.89) 1.50 599) (7.95/7.89)
58\ ST : fﬁT (38.1) /
o N [ 1s \ﬁg A 41 -
4 74 / e L - HT
- 2|5 %< 0.09x45° i 3
[ ? ; ; | S5 3§ 2.3x45° @ g s
® ] =2 g3 (034 R
cofeos 0.09x45° 2le < 5|3 %
ac @3.00 01.25/ -1 (2.3x459) § - — — E S -
(76.2) (31.8) - Shaft code 3 Shaft code 4 MBX%%’&OE))EEP 5|3
3/8-16 UNCx0.75 DEEP-4 HOLES SAE C splined shaft no SAE splined shaft ’ sle
(M10x19.0 DEEP) Shaft code 2 Class 1-J498b Class 1-J498b
(keyed no SAE) 12/24 Dp. 14 Teeth 12/24 Dp. 14 Teeth Shaft code 5
30° Pressure angle 30° Pressure angle (keyed no SAE)
11.26 3.29 Flat root side fit Flat root side fit
(286.0) (83.6)
1.50 0.50 (‘23-1325‘5‘)
(109.5) (114.3) (38.1) (12.7) 7 195
0.31 (181.0)
79 1 0.5 MAX KEY 0.313/0.311 3.563
= f\ 635 /" (7.95/7.89)
N~ — -
1.94 M10x0.79 DEEP =
3T |6 8la ==y I
JE |8 o8 | (49.3) | (20.0) (8 de
1 €= adly 8|3
- QL a|°e
P RN o=
S| 0.09x45° ] QN 3@
qe \H (2.3x45°) ~2ls Ig - 8
= : J|R = -
)= ’ Zlz 3|8
0.05x45° gle 27
MOUNTING TORQUE 50 ft.Ibs (1.3x45°) b 5 Shaft torque limits in’/revxpsi(ml/revxbar)
(68 Nm) Shaft Vp x p max. (P1+P2)
Shaft code 1 Alternate connect. variables 1 38299 (43240
MOUNTING TORQUE 138 ft.lbs (Keyed SAE ) 00 & MO 118 M > 30635 (34550
(187 Nm) A[1.031 (262) [0.874 (22.2) 3 54207 (61200
B[2.06 (52.4) |1.874 (47.6) 4 54207 (61200
Cc[1.00 (254) [0.75 (19.05) 5 49247 (55600

OPERATING CHARACTERISTICS - TYPICAL (24 ¢ST) (Input power p (KW) for one cartridge only)

. _ Volumetric I_=Iow q&n= 1800. rpm i Inpt_:t powerp & n = 1§00 rpm i
port Series P:splacement Vp p = 0 bar (0 psi) | p = 140 bar (2000 psi) | p = 250 bar (3630 psi) | p=7 bar (100psi) | p=140 bar (2000 psi) | p=250 bar (3630 psi)
in*/rev. cm’/rev gpm Ipm gpm Ipm gpm Ipm hp kw hp kw hp kw
B14 2.68 43.9 20.92 791 19.18 725 17.81 67.3 3.46 2.6 27.77 20.7 47.03 | 35.07
B17 3.36 55.0 26.16 98.8 24.41 92.3 23.04 87.0 3.77 2.8 33.88 253 57.71 43.03
B20 4.03 66.0 31.39 | 118.6 29.64 112.0 28.27 106.8 4.07 3.0 39.98 29.8 68.39 50.99
B22 4.29 70.3 33.43 | 1264 31.69 119.8 30.32 104.6 419 3.1 42.37 31.6 72.57 54.11
B24 4.95 81.1 38.57 | 145.8 36.82 139.2 35.45 134.0 4.49 3.4 48.36 36.1 83.06 61.93
B28 5.49 89.9 42.80 | 161.8 41.06 155.2 39.69 150.0 4.74 3.5 53.30 39.7 91.70 68.38
P B31 6.05 99.1 47.18 | 178.3 45.43 171.7 44.06 166.5 4.99 3.7 58.41 43.6 100.63 | 75.03
1 B35 6.92 113.4 53.93 | 203.9 52.18 197.2 50.81 192.0 5.39 4.0 66.29 49.4 114.42 | 85.32
B38 7.36 120.6 57.35 | 216.8 55.61 210.2 54.24 204.9 5.59 4.2 70.28 52.4 121.42 | 90.54
B42 8.39 137.5 65.39 | 247.2 63.65 240.6 62.28 235.4 6.05 4.5 79.66 59.4 137.83 | 102.77
045 8.89 145.7 69.29 | 262.0 67.11 253.6 65.31 246.8 6.74 5.0 83.75 62.4 145.79 | 108.71
050 9.64 157.9 75.14 | 284.0 72.96 275.8 71.78" | 271.3" 7.08 5.3 90.58 67.5 134.50"| 100.3"
p=0 bar (0 psi) | p=140 bar (2000 psi) | p=275 bar (4000 psi) | p=7 bar (100 psi) | p=140 bar (2000 psi) [ p=275 bar (4000 psi)
003 0.66 10.8 5.14 19.6 3.85 14.6 - - 2.11 1.57 8.45 6.30 - -
005 1.05 17.2 8.18 30.9 6.89 26.0 5.68 21.5 2.29 1.70 12.00 8.94 19.81 14.77
006 1.30 21.3 10.13 38.3 8.84 33.4 7.63 28.8 2.40 1.78 14.28 10.64 28.79 17.74
008 1.61 26.4 12.55 47.4 11.26 42.6 10.05 37.9 2.54 1.89 17.11 12.75 28.75 21.43
010 2.08 341 16.22 61.3 14.93 56.4 13.71 51.8 2.76 2.06 21.38 15.94 | 36.22 27.00
012 2.26 371 17.64 66.7 16.35 61.8 15.14 57.2 2.84 211 23.05 17.18 39.14 29.18
014 2.81 46.0 21.88 82.7 20.59 77.8 19.37 73.2 3.09 2.30 27.99 20.87 47.78 35.62
015 3.08 50.5 23.99 90.7 22.83 86.3 21.56 81.5 3.21 2.40 30.30 | 22.60 51.36 | 38.30
P2 017 3.56 58.3 27.73 | 104.8 26.44 99.9 25.22 95.3 3.43 2.55 34.81 25.95 59.73 | 44.54
020 3.89 63.8 30.34 | 114.7 29.05 109.8 27.84 105.2 3.58 2.66 37.86 28.23 65.07 48.52
022 4.29 70.3 33.43 | 1264 32.14 1215 30.93 116.9 3.76 2.80 41.47 30.92 71.38 53.22
025 4.84 79.3 37.71 1425 36.42 137.6 35.21 133.1 4.01 2.99 46.46 34.64 80.12 59.74
028 5.42 88.8 4223 | 159.6 | 40.94 | 154.7 | 40.32? | 152.4° | 4.27 3.18 | 51.74 | 38.58 | 76.73" | 57.22°
031 6.10 100.0 4756 | 179.7 | 4627 | 1749 | 45657 | 1725” | 4.58 341 | 57.95 | 43.21 | 86.06” | 64.17”

— Not recommended to use as the internal leakage is over 50% of theoretical flow.

1) 050 = 210 bar (3000 psi) max. int

2) 028 - 031 = 210 bar (3000 psi) max.int

BI-3-8

DP



DP

HIGH PERFORMANCE VANE PUMP VT67EB

VELJAN

VT67EB - 066 - B08 1 E 99 - l{ 1 M1 -
Series- SAE C 2 bolts m g L Modifications
Mounting flange J744¢ Mounting W/connection variables
Cam ring for "P1" P1=1-1/2" P2=3/4" S$=3-1/2"
Volumetric displacement cm3/rev (in3/rev) UNC METRIC
042 = 132.3 (8.07) 062 = 196.7 (12.00) 01 M1
045 = 142.4 (8.69) 066 = 213.3 (13.02) .
050 = 158.5 (9.67) 072 = 227.1 (13.86) Seal
052 = 164.8 (10.06) 085 =269.8 (16.46) 1-81 (for mineral oil)
057 = 180.7 (11.02) 4 - S4 (for fire resistant fluids)
Cam ring for "P2" 5 - S5 (for mineral oil and fire resistant fluids)
Volumetric displacement cm3/rev (in3/rev) Design letter
B02 = 57(0.89) B09 = 28.0(1.71) Porting combination BM-1-5;
B0O3 = 9.8(0.60) B10 = 31.8(1.94) 9 (see page BM-1-5)
B04 = 12.8 (0.78) B11 = 34.9 (2.13) 00 - standard
B05 = 15.9 (0.97) B12 = 40.9 (2.50) Direction of rotation
B06 = 19.8 (1.21) B14 = 45.1 (2.75) (view on shaft end)
B07 = 22.5(1.37) B15 = 50.0 (3.05) R - clockwise
B08 = 24.9 (1.52) L - counter-clockwise
Type of shaft
1 - keyed (SAE CC)
2 - keyed (no SAE)
3 - splined (SAE C)
4 - splined (SAE CC)
NOISE LEVEL ( TYPICAL)
o0 INTERNAL LEAKAGE ( TYPICAL) . VT67EB- 050-B03
.0) 36
— — 10cst yZ o~ Inlet pressure 0.9 bar abs
LCES 24 ¢St P1 by Viscosity 32 cSt
I3 / b n = 1200 RPM
G028 @ | | — n=1e0rem -
= Lw = Lp + 8 db (A) g
5602 /] E -
c 7 - —
— —_ -
0 (5.0) 20 4 < - o
4 Y 7 P1 | g % =
o — —
§1(4.0) 16 7 ';;' / /
S 601 H
3 d $ oo /
€ (20) g ‘3 —|
8 7 P L —— 4
c A - 3
£ (104 ~ i p— = — s
S === 55
)
0 35 70 105 140 175 210 240 275 300 10 50 100 140 170 210 240
(500)  (1000) (1500)  (2000)  (2500) (3000) (3500) (4000) (4350) (145) (725) (1500) (2000) (2500) (3000) (3500)

Power loss Ps (hp)

S B30 |

Pressure in bar (psi)

Do not operate pump more than 5 seconds at any speed or viscosity
if internal leakage is more than 50% of theoretical flow.
Total leakage is the sum of each section loss at its operating conditions.

HYDROMECHANICAL POWER LOSS (TYPICAL)
8

n = 2200 rpm |
7 | = — n=1800rpm (24 cSt)
6 n = 1200 rpm P1 I
5 - e Ple —— — (500) 2200
. —_—
L - (450) 1980
3
2 (400)
' 2
0 1 (350) 1540
=
[ 35 70 105 140 175 210 240 2
(500) (1000)  (1500)  (2000)  (2500)  (3000) (3500) £ (300) 1320
5 w
n = 2200 rpm k]
4 | — — n=1800rpm (24 cSt) g (250) 1100
n = 1200 rpm -l
3 (200) 880
2
P2 L - |[— T __ (150) 660
s — |- - - P2 _L — — — T
L — T — =
=== P2 (100) 440
o L= —_— = =
0 35 70 105 140 175 210 240 275 300
(500) (1000) (1500)  (2000) (2500)  (3000) (3500) (4000) (4350)

Pressure in bar (psi)
Total hydromechanical power loss is the sum of each section
at its operating conditions.

1760 [—

Pressure in bar (psi)

Double pump noise level is given with each section discharging
at the pressure noted on the curve.

PERMISSIBLE RADIAL LOAD

Fa

Shaft keyed N° 1

600 1000 1200 2500
Speed n (rpm)

Maximum permissible axial load Fa = 2000 N (449 Lbs)

1500 1800 2000




HIGH PERFORMANCE VANE PUMP VT67EB

1/2-13 UNCx0.92 DEEP-4 HOLES

(M12x23.4 DEEP)

¢¢ VELJA

3/8-16 UNCx0.75 DEEP 2.44 2.20 245
(M10x19.0 DEEP)4 HOLES 2.75 (61.9) (65.9) (62.2)
(69.8) 0.31 0.31 0.31
0.874 7.9 7.9) 7.9)
(22.2) | _ ] 1
i ul 1.50
1.50 1.24
| KEY 0.313/0.311
| @81 (7.95/7.89) (38.1) (31.5)
'O\ / i
N -
E)_ E 4+ |- — - —3f - - I
¢\¢ olg X
_{ ; g 2 0.09x45° 0.09x45°
< B/ B PN (2:3x45°) (2.3x45°)
T S % N
T 0.09x45° || QIR @9
7. (2.3x45°) 5 —I= L
20.75 Shaft code 3 Shaft code 4
(19.05) Shaft code 2 SAE C splined shaft SAE CC splined shaft
5/8-11 UNCx1.16 DEEP-4 HOLES (Keyed non SAE) Class 1-J498b Class 1-J498b
/ (M16))((29.5 DEEP) 12/24 dp. 14 teeth 12/24 dp. 17 teeth
30° pressure angle 30° pressure angle
Flat root side fit Flat root side fit
13.06 3.58
(331.6) (90.9) 8.386
213.0
5.38 4.665 2.06 0.50 (7 125)
(136.7) (118.5) (52.3) (12.7) . '
!— 0.31 (181.0)
| X | = 0.25 MAX KEY 0.375/0.373
‘ . (79 ©35) (9.52/9.47) (90.5)
1 ; 2.00 M10x0.79 DEEP
T "(50.8)" / (20.0)
<|< E ‘ / /
R —_
N | / |0
h |
Y g |8
t*’* - T ST T — - — m,‘g 3= |
85 g5
ol& 8| e
Sl6 — . Q= ©
S€  \g ge 2 - §=
\ =8 2|g 1
E A Sle g®
{ 05 ey
0.09x45° ale —'~
(2.3x45°)
MOUNTING TORQUE 50 ft.lbs 0.05x45° Shaft code 1 MOUNTING TORQUE 138 ft.Ibs
(68 Nm) “Aaxas (Keyed SAE CC) (187 Nm)
Shaft torque limits in3/rev x psi (ml/rev x bar)|
Shaft Vp x p max. (P1+P2)
1 64044 (72306)
2 30638 (34590)
3 54207 (61200)
4 67582 (76376)

OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)

Pressure Volumetric Flow q & n = 1800 rpm [ Input power p & n = 1800 rpm
Series|Displacement Vp|p = 0 bar (0 psi)[ p = 140 bar (2000 psi)p = 240 bar (3500 psi)| p = 7 bar (100 psi]p = 140 bar (2000 psi)[p = 240 bar (3500 psi
port in’frev | cm¥rev | 9pm | Ipm | gpm | ipm | gpm | Ipm [ hp [ kw hp kw hp_ | kw
042 8.07 | 1323 62.92 | 237.8| 60.37 | 228.2 58.52 | 221.2 8.09 | 6.03 78.44 | 58.49 | 133.80 | 99.78
045 8.69 | 142.4 67.72| 256.0| 65.17 | 246.3 63.32 | 239.4 8.37 | 6.24 84.04 | 62.67 | 143.60 |107.08
050 9.67 | 1585 75.38 | 285.0] 72.83 | 275.3 70.98 | 268.3 8.82 | 6.58 9297 | 69.30 | 159.24 | 118.7
052 10.06 | 164.8 78.37| 296.2| 75.82 | 286.3 73.97 | 279.6 8.99 | 6.70 96.47 | 71.94 | 165.36 | 121.31
P1 057 11.02 | 180.7 71.70| 325.3|  69.07 | 261.1 80.63 | 304.8 940 | 7.00 | 114.30 | 85.14 [172.10 |128.30
062 12.00 | 196.7 93.54 | 353.6| 90.99 | 344.0 89.14 | 337.0 9.88 | 7.36 | 114.17 | 84.00 | 196.34 | 146.41
066 13.02 | 213.3 101.44 | 383.4| 98.89 | 373.8 97.04 | 366.8 | 10.34 7.71 | 123.38 92.01 | 212.46 |158.43
072 13.86 227.1 108.00 | 408.2| 105.45 | 400.0 | 103.60 | 391.6 | 10.72 | 8.00 | 131.04 | 97.72 | 225.86 | 168.42
085"?| 16.40 | 268.7 |127.08| 483.0| 126.13 | 476.7 - - 11.66 | 8.70 | 87.56 | 65.30 - -
p = 0 bar (0 psi)| p = 140 bar (2000 psi)p = 300 bar (4350 psi) p = 7 bar (100 psi) p = 140 bar (2000 psi)|p = 300 bar (4350 psi
B02 0.35 5.7 2.76| 10.4 2.33 8.8 1.80 6.8 0.74 | 0.55 4,02 2.99 8.10 6.40
B03 0.60 9.8 4.66| 17.6 4.23 15.9 3.70 | 14.0 085 | 0.63 6.24 465 | 1293 | 10.25
B04 0.78 12.8 6.09| 23.0 5.66 21.4 513 | 19.4 0.94 | 0.70 7.90 589 | 16.55 | 13.13
BO5 0.97 15.9 7.56| 286 7.13 26.9 6.60 | 25.0 1.02 | 076 9.62 717 | 2029 | 16.12
B06 1.21 19.8 9.42| 356 8.99 33.9 8.46 | 32.0 113 | 0.84 11.79 8.79 | 25.00 | 19.88
B07 1.37 225 10.70| 40.4| 10.27 38.8 974 | 36.8 1.20 | 0.89 13.29 9.91 | 28.26 | 2247
P2 B08 1.52 24.9 11.84| 447 11.41 43.1 10.88 41.1 127 | 0.94 1462 | 1090 | 31.15 | 24.78
B09 1.71 28.0 13.31| 50.3| 12.87 48.6 12.35 | 47.0 1.36 1.01 16.35 | 1219 | 34.92 | 27.77
B10 1.94 31.8 15.12| 57.2| 14.69 55.5 1416 | 535 1.46 1.11 18.45 | 1375 | 39.48 | 31.42
B11¥| 213 34.9 16.64| 62.9| 16.19 61.2 1568 | 59.3 155 | 1.15 2017 | 15.04 | 43.22 | 32.22
B12? | 250 40.9 19.50| 73.7| 19.07 72.1 18.54 70.1 172 | 1.28 2355 | 17.56 | 50.58 37.71
B14® | 275 451 21.40| 80.8| 20.95 79.2 20.44 | 77.0 1.83 | 1.36 25.80 | 19.23 | 55.48 | 41.37
B15¥ | 3.05 50.0 23.78| 89.8] 23.35 88.3 2288 | 86.5 197 | 1.47 2855 | 21.28 | 57.35 | 4276

1) 085 = 2000 RPM max. 2) 085=75 bar (1087 psi)cont. 085=90 bar (1300 psi) max. int.
3) B11-B12-B14 = 300 bar (4350 psi) & B15 = 280 bar (4060 psi) max. int. And Max. Speed = 3000 rpm

[ BI-3-10 T




HIGH PERFORMANCE VANE PUMP VT67EC

VI67EC - 062-010 1 R 00 - A 1 00-*

Series-SAE C 2 bolts j m % L Modifications
Mounting flange J744c Mounting W/connection variables
Cam ring for "P1" 4 bolts SAE flange J518
Volumetric displacement cm® /rev (in® /rev)

= 10 = 1,0
042 = 132.2 (8.07) 057 = 183.2 (11.18) P‘_ 1%" & $=3%
045 = 142.5 (8.70) 062 = 196.6 (12.00) TYPE | Metric thread UNC thread
050 = 158.5 (9.67) 066 = 213.0 (13.00) CODE | Mo M1 00 Ul
052 = 163.8 (10.00) 072 = 227.1 (13.86) P2 1 3/4 1 3/
054 = 170.9 (10.43) 085 = 268.7 (16.40) Seal class
Cam ring for "P2" 1-S1 (for mineral oil)
Volumetric displacement cm® /rev (in® /rev) 4 - 84 (for fire resistant fluids)
003 = 10.8 (0.66) 015 = 50.5 (3.08) 5 - S5 (for mineral oil and fire
005 = 17.2 (1.05) 017 = 58.3 (3.56) resistant fluids)
006 = 21.3 (1.30) 020 = 63.8 (3.89) Desian lett
008 = 26.4 (1.61) 022 = 70.3 (4.29) esign letter
010 = 34.1(2.08) 025 =79.3 (4.84) Porting combination (see page BM-1-5)
012 = 37.1 (2.26) 028 = 88.8 (5.42) 00 - standard
014 = 46.0 (2.81) 031 = 100.0 (6.10)
Type of shaft
1- keyed (SAE CC) ?relctllt:q of rotation (view on shaft end)
2 - keyed (no SAE) - clockwise .
3 - splined (SAE C) L - counter-clockwise

4 - splined (SAE CC)

INTERNAL LEAKAGE ( TYPICAL) NOISE LEVEL (TYPICAL)

VT67EC- 050-022

(9.0) 36 80
"""" 10 cSt N Inlet pressure 0.9 bar abs
T —— 24cSt P1 b Viscosity 32 cSt
S (7.5) 30 . i n=120RPM | | | -
g g | [ n=1800RPM | | e
£ = 75 lw=Lp+8db(A)  — =
L2 (60 24 ! E ] T
£ d ; -------- /
» < et
[¢] “5) 18 -1 o) R /
o s | [
=] A L
g o~ ° /
S @0 12 - H /
3 o 2 65
€ 2
g (15 6 - /:/" V/ s
= e .
- Pl 5
0 60
0 35 70 105 140 175 210 240 275 0 35 70 100 140 170 210 240
(500) (1000) (1500)  (2000) (2500) (3000) (3500) (4000) (500) (1000)  (1500)  (2000) (2500)  (3000)  (3500)
Pressure in bar (psi) Pressure in bar (psi)
Do not operate pump more than 5 seconds at any speed or viscosity Double pump noise level is given with each section discharging
if internal leakage is more than 50 of theoretical flow. at the pressure noted on the curve.
Total leakage is the sum of each section loss at its operating
conditions.
HYDROMECHANICAL POWER LOSS (TYPICAL,]
) PERMISSIBLE RADIAL LOAD
L3N p— n = 2200 rpm
7 | mmm———- n = 1800 rpm (24 cSt)
n = 1200 rpm
6 = =
5 . (500) 2200 (— L
T e s B Pt F
R (450) 1980 —
3 Pi Fa
2 2 (400)1760 |~  Shaft keyed N° 1
= 2
£ 4 =
z
€ o Z (350 1540
@ 0 35 70 105 140 175 210 240 i
o (500)  (1000) (1500) (2000) (2500) (3000) (3500) <  (300) 1320
5 5 8
I e n = 2200 rpm —
L 4| n=1800rpm (24 cSt) (250) 1100
n = 1200 rpm
3 (200) 880
2 (150) 660
1
(100) 440
0
0 35 70 105 140 175 210 240 275 300 600 1000 1400 1800 2200
(500)  (1000) (1500) (2000) (2500) (3000) (3500) (4000) (4350)
Pressure in bar (psi) Speed n (rpm)
Total hydromechanical power loss is the sum of each section Maximum permissible axial load Fa = 2000 N (449 Lbs)

at its operating conditions.

B Bl-3-11 ]




HIGH PERFORMANCE VANE PUMP VT67EC

1/2-13 UNCx0.92 DEEP-4 HOLES

(M12x24 DEEP) 0.69 2.44
3/8-16 UNCx0.75 DEEP 075 17.5) ©.9) 2.20 2.45
(M10x19.0 DEEP) (6-9.8) 1.41 0.31 (55.9) 0.31 (62.2)
4HOLES 403 1.38 07 (35.8) 7.9) 79
(@6.1) (35.0) (17.8) | g
I
) H 1.50
[ I3 69 \ 38.1) KEY 0.313/0.311
. s )\ (7.95/7.89)
% ﬁﬂ / A ]é
88 @) g S glat N, e
G 0 O/ O Wl o 0.09x45° 0.09x45°
H ; IS (2.3x45°) (2.3x45°)
I @ 0.09 x 45° |z 2|3
{ L || ——f= F|5 B
- | (2.3x45°) 1 ]
21.0 @ M Qe ~ Shaft code 3 Shaft code 4
(25.4) (88.9) (38.1) SAE C splined shaft SAE CC splined shaft
Class 1-J498b Class 1-J498b
5/8-11 UNCx1.16 DEEP-4 HOLES Shaft code 2 12/24 dp. 14 teeth 16/32 dp. 17 teeth
(M16x30 DEEP) (Keyed non SAE) 30° pressure angle 30° pressure angle
Flat root side fit Flat root side fit
13.06 3.58
(331.6) (90.9)
5.38 4.67 2.06 0.50 8.39
(136.7) (118.5) (52.3) (12.7) 213.0)
0.31 712
7.9 (181.0)
9 0.25 MAX. KEY 0.375/0.373 3.56
(6.35) (9.52/9.47) (90.4)
| 2.00 M10x0.79 DEEP ] [
3— 508 20.0) @) /@)
e 93 sl — 7 Y
$[S = <[ Qg
3R = P I Z 38 |
sla |8 f% !
i 5 g€ &ls - >
N S FENANNYZZ R
ol|l& =~ 1 Qlc / o~
Sl \f 3@ Q|ia
s|€ 2ls | N 8lE
£ = j— 8lg . @ ffan
MER-{R 2 |\
0.09x45° L S|c =la
(2.3va5) Bl 8|8 MOUNTING TORQUE 138 ft.Ibs
MOUNTING TORQUE 59 ft.lbs 0.05x45° ’ gle = (187 Nm)
(80 Nm) (1.3x45%) — Shaft code 1 Shaft torque limits in’/rev x psi (ml/rev x bar)
(Keyed SAE CC) Shaft Vp x p max. (P1+P2)
1 64039 (72306)
2 30638 (34590)
3 54207 (61200)
4 67582 (76376)
OPERATING CHARACTERISTICS - TYPICAL (24 cST) (Input power p (KW) for one cartridge only)
P Volumetric Flow q & n = 1800 rpm Input power p & n = 1800 rpm
r‘:)isr‘t"e Series | DisplacementVp |p = 0 bar (0 psi) | p = 140 bar (2000 psi) | p = 240 bar (3500 psi) [p = 7 bar (100 psi)|p = 140 bar (2000 psi)| p = 240 bar (3500 psi)
in*/rev cm¥rev_ [ gpm | Ipm gpm Ipm gpm lpm hp kw hp kw hp kw
042 8.07 132.2 62.92 | 237.8 | 60.37 228.2 | 5852 | 221.2 8.09 6.03 78.44 58.49 | 133.80 | 99.77
045 8.70 142.5 67.72 | 255.9 | 65.17 246.3 | 63.32 | 239.3 8.37 6.24 84.04 62.66 | 143.60 |107.08
050 9.67 158.5 75.38 | 284.9 | 72.83 275.3 | 70.98 | 268.3 8.82 6.58 92.97 69.32 | 159.24 [118.75
052 10.00 163.8 78.37 | 296.2 | 75.82 286.6 | 73.97 | 279.6 8.99 6.70 96.47 71.94 | 165.36 |123.31
P1 054 10.43 170.9 81.27 | 307.2 78.72 297.6 | 76.87 | 290.6 9.17 6.84 99.75 74.38 | 177.46 |132.33
057 11.18 183.2 87.12 | 329.3 | 84.57 319.7 | 82.72 | 312.7 9.51 7.09 [106.57 | 79.47 | 189.84 |141.56
062 12.00 196.6 93.54 | 353.6 | 90.99 343.9 | 89.14 | 336.9 9.88 7.37 |114.17 | 85.13 | 196.34 |146.41
066 13.00 213.0 101.44 | 383.4 | 98.89 373.8 | 97.04 | 366.8 10.34 7.71 123.38 | 92.01 212.46 [158.43
072 13.86 2271 108.00 | 408.2 | 105.45 | 398.6 | 103.60 | 391.6 10.72 7.99 [131.04 | 97.71 225.86 [166.42
085"%| 16.40 268.7 |127.79| 483.0 | 12613 | 4767 | - - 11.88 | 885 [10166 | 7580 | -- -
p = 0 bar (0 psi) | p = 140 bar (2000 psi) | p = 275 bar (4000 psi) |p = 7 bar (100 psi)|p = 140 bar (2000 psi)|p = 275 bar (4000 psi)
003 0.66 10.8 5.14 19.6 3.85 14.6 - - 211 1.57 8.45 6.30 - -
005 1.05 17.2 8.18 30.9 6.89 26.0 5.68 21.5 2.29 1.70 12.00 8.94 19.81 14.77
006 1.30 21.3 10.13 | 38.3 8.84 33.4 7.63 28.8 2.40 1.78 14.28 10.64 23.79 [17.74
008 1.61 26.4 1255 | 474 11.26 42.6 10.05 379 2.54 1.89 1711 12.75 28.75 | 21.43
010 2.08 34.1 16.22 | 61.3 14.93 56.4 13.71 51.8 2.76 2.06 21.38 15.94 36.22 | 27.00
012 2.26 37.1 17.64 | 66.7 16.35 61.8 15.14 57.2 2.84 2.11 23.05 17.18 39.14 | 29.18
P2 014 2.81 46.0 21.88 | 82.7 20.59 77.8 19.37 73.2 3.09 2.30 27.99 20.87 47.78 | 35.62
015 3.08 50.5 23.99 | 90.7 22.83 86.3 21.56 81.5 3.21 2.40 30.30 22.60 51.36 | 38.30
017 3.56 58.3 27.73 | 104.8 26.44 99.9 25.22 95.3 3.43 2.55 34.81 25.95 59.73 | 44.54
020 3.89 63.8 30.34 | 114.7 | 29.05 109.8 | 27.84 105.2 3.58 2.66 37.86 28.23 65.07 | 48.52
0227 4.29 70.3 3343 | 126.4 | 3214 | 1215 | 3093 | 1169 | 3.76 2.80 | 41.47 [30.92 | 71.38 |53.22
025%%| 484 79.3 37.71 | 1425 | 3642 | 1376 | 3521 | 1331 | 4.01 299 |46.46 |34.64 | 80.12 |59.74
028%° 5.42 88.8 42.23 | 159.6 40.94 154.7 40.32 152.4 4.27 3.18 51.74 38.58 76.73 | 57.22
031*?| 6.10 100.0 | 47.56 | 179.7 | 46.27 | 174.9 | 4565 | 1725 | 458 | 341 |57.95 | 43.21 | 86.06 | 64.17

1) 085 = 90 bar (1300 psi) max . int

5) 025 = 240 bar max. int, 6) 028-031 = 210 bar max. int,

2) 085 = 2000 RPM max. 3) 025-028-031 = 2500 R.PM. max. 4) 022= 275 bar max. int,

-- Not recommended to use as the internal leakage is over 50 of theoretical flow.

[ Bl-3-12

DP



